
MATHS

BOOKS - KUMAR PRAKASHAN KENDRA MATHS (GUJRATI

ENGLISH)

INTEGRALS

Practice Work

1. Find the following integrals 

∫
2x6 - x5 + 4x3 - 5x2 + 6

x4
dx

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_2y8IARz6LfN5


2. Find the following integrals 

∫ (1 + x)(3 - 2x)(4 + 5x)dx

Watch Video Solution

3. Find the following integrals 

∫
x3 + 3
x + 1

dx

Watch Video Solution

4. Find the following integrals 

∫√x3dx

Watch Video Solution

https://dl.doubtnut.com/l/_hyJYRiPhWcL5
https://dl.doubtnut.com/l/_uzoGNX9bCTRs
https://dl.doubtnut.com/l/_Prz1gCT744xf


5. Find the following integrals 

∫e3logxdx

Watch Video Solution

6. Find the following integrals 

∫5xdx

Watch Video Solution

7. Find the following integrals 

∫ x3 + ax + exax + sin2 dx

Watch Video Solution

( )

https://dl.doubtnut.com/l/_xfWZhGAgmvyC
https://dl.doubtnut.com/l/_yvayHlBd304o
https://dl.doubtnut.com/l/_RgBvh3rQRuYD


8. Find the following integrals 

∫3cosec2x - 5x + sinxdx

Watch Video Solution

9. Find the following integrals 

∫ x2 +
1

x2
3
dx

Watch Video Solution

( )

10. Find the following integrals 

∫
x3 + 4x2 - 3x - 2

x + 2
dx

Watch Video Solution

https://dl.doubtnut.com/l/_U1NwTxHqZVyO
https://dl.doubtnut.com/l/_rxAdgqW70Wri
https://dl.doubtnut.com/l/_6PGC5bCujW1H


11. Find the following integrals 

∫
1 - sinx

cos2x
dx

Watch Video Solution

( )

12. Find the following integrals 

∫ exloga + ealogx + ealoga dx

Watch Video Solution

( )

13. Find the following integrals 

∫
(1 + x)2

√x
dx

Watch Video Solution

https://dl.doubtnut.com/l/_hshhrF7kWs7H
https://dl.doubtnut.com/l/_8Odcww20LGhv
https://dl.doubtnut.com/l/_Nk1BovwF3USF


14. Find the following integrals 

∫
x4

x2 + 1
dx

Watch Video Solution

15. Find the following integrals 

∫
1

sin2x. cos2x
dx

Watch Video Solution

16. Find the following integrals 

∫√1 + cos2x. dx

Watch Video Solution

https://dl.doubtnut.com/l/_eWDqvawUfb8q
https://dl.doubtnut.com/l/_8qNhD7I2IRBD
https://dl.doubtnut.com/l/_Ju2xsZvkWajn


17. Find the following integrals 

∫
2 + 3cosx

sin2x
dx

Watch Video Solution

( )

18. Find the following integrals 

∫
cosx - cos2x
1 - cosx

dx

Watch Video Solution

19. Find the following integrals 

∫ |x|dx

Watch Video Solution

https://dl.doubtnut.com/l/_ObmbE1wdFwAn
https://dl.doubtnut.com/l/_Xd5twbOFyZra
https://dl.doubtnut.com/l/_XYmRS09oadgz


20. Find the following integrals 

∫ √x -
cos2x
2

dx

Watch Video Solution

( )

21. If f′ (x) = 1 -
4

x2
 and f(1)=6 then find f(x) and f(2).

Watch Video Solution

22. If f′ (x) = sec2x + cosec2x - 1 and f
π
4 = 1

View Text Solution

( )

23. If f′ (x) = 3x2 -
2

x3
 and f(1)=0 then find f(x).

Watch Video Solution

https://dl.doubtnut.com/l/_5wVCyHjt7EEr
https://dl.doubtnut.com/l/_AXAGhOZsXLEr
https://dl.doubtnut.com/l/_T2F5Ht5spsfc
https://dl.doubtnut.com/l/_Un4BFIU271WN


24. If f′ (x) = √x and f(1)=2 then find f(x).

Watch Video Solution

25. If f′ (x) = x -
1

x2
 and f(1) =

1
2

 then find f(x).

Watch Video Solution

26. Integrate the following functions : 

∫
x3

1 + x8
dx

Watch Video Solution

27. Integrate the following functions : 

∫
2x

√1 - 4x
dx

https://dl.doubtnut.com/l/_Un4BFIU271WN
https://dl.doubtnut.com/l/_K24HdbXnNvN3
https://dl.doubtnut.com/l/_8vVKD4MjHpZP
https://dl.doubtnut.com/l/_M7SwzV9S1LcR
https://dl.doubtnut.com/l/_6rddGBY2gwqV


Watch Video Solution

28. Integrate the following functions : 

∫x(4 + x)
1
4dx

Watch Video Solution

29. Integrate the following functions : 

∫
2x + 5

x2 + 5x + 9
dx

View Text Solution

30. Integrate the following functions : 

∫ ax + a - x 3dx

Watch Video Solution

( )

https://dl.doubtnut.com/l/_6rddGBY2gwqV
https://dl.doubtnut.com/l/_hADip4bim5oD
https://dl.doubtnut.com/l/_BoNjnUnjpNNU
https://dl.doubtnut.com/l/_QKFoS0TsKRDb
https://dl.doubtnut.com/l/_8hlhmffRzuc8


31. Integrate the following functions : 

∫
dx

x x5 + 1

Watch Video Solution

( )

32. Integrate the following functions : 

∫ (x - 2)√x2 - 4x + 7dx

Watch Video Solution

33. Integrate the following functions : 

∫
dx

1 + √x

Watch Video Solution

https://dl.doubtnut.com/l/_8hlhmffRzuc8
https://dl.doubtnut.com/l/_Vcy5eQzi6KI0
https://dl.doubtnut.com/l/_pljbSfHkrfAa


34. Integrate the following functions : 

∫
x3

1 + x2 2
dx

Watch Video Solution

( )

35. Integrate the following functions : 

∫x3cosx4dx

Watch Video Solution

36. Integrate the following functions : 

∫sin2x. ecos
2xdx

Watch Video Solution

https://dl.doubtnut.com/l/_f2EZjMIzdpUI
https://dl.doubtnut.com/l/_Wh3RQdozkIjV
https://dl.doubtnut.com/l/_BmNhKwh1XZoq


37. Integrate the following functions : 

∫sin2xdx

Watch Video Solution

38. Integrate the following functions : 

∫
dx

1 + ex

Watch Video Solution

39. Integrate the following functions : 

∫
sec2(logx)

x
dx

Watch Video Solution

https://dl.doubtnut.com/l/_8eYENnoVsiYo
https://dl.doubtnut.com/l/_qoh8f9AM4k9G
https://dl.doubtnut.com/l/_XKbtkgEAdnaV


40. Integrate the following functions : 

∫
sin 2 + tan - 1x

1 + x2
dx

Watch Video Solution

( )

41. Integrate the following functions : 

∫
cos2x

(sinx + cosx)
dx

Watch Video Solution

42. Integrate the following functions : 

∫
sin √x

√x
dx

View Text Solution

( )

https://dl.doubtnut.com/l/_PLLGFhnrIggz
https://dl.doubtnut.com/l/_enMSU56bzXfL
https://dl.doubtnut.com/l/_uCCzIzGcxtLg


43. Integrate the following functions : 

∫
1 + tanx

x + logsecx
dx

Watch Video Solution

44. Integrate the following functions : 

∫√tanx 1 + tan2x dx

Watch Video Solution

( )

45. Integrate the following functions : 

∫
x - 1

√x + 4
dx

Watch Video Solution

https://dl.doubtnut.com/l/_Wa7kJoDL22IN
https://dl.doubtnut.com/l/_eSsrpqXEWd7X
https://dl.doubtnut.com/l/_4umwuyTzxgoY


46. Integrate the following functions : 

∫
3x2

1 + x6
dx

Watch Video Solution

47. Integrate the following functions : 

∫
4x + 3

√2x2 + 3x + 1
dx

Watch Video Solution

48. Integrate the following functions : 

∫cosecx. log(cossex - cotx)dx

Watch Video Solution

https://dl.doubtnut.com/l/_thfI5YVZCp39
https://dl.doubtnut.com/l/_ScLyPjwcScYp
https://dl.doubtnut.com/l/_leajTywTCauu


49. Integrate the following functions : 

∫
tanx

secx + cosx
dx

Watch Video Solution

50. Integrate the following functions : 

∫
xe - 1 + ex - 1

xe + ex
dx

Watch Video Solution

51. Integrate the following functions : 

∫
dx

xcos2(1 + logx)

Watch Video Solution

https://dl.doubtnut.com/l/_BFXIfYPgTWwC
https://dl.doubtnut.com/l/_HYDTJmwNFfA7
https://dl.doubtnut.com/l/_CbERATTZc8wb


52. Integrate the following functions : 

∫
secx. cosecx
log(cotx)

dx

Watch Video Solution

53. Integrate the following functions : 

∫
dx

√1 - (4x + 5)2

Watch Video Solution

54. Integrate the following functions : 

∫
sinx

√(3 + 4cosx)2
dx

Watch Video Solution

https://dl.doubtnut.com/l/_WMhGUhdmj7lc
https://dl.doubtnut.com/l/_BMFK0s925abA
https://dl.doubtnut.com/l/_pUFIspM6IYhZ


55. Integrate the following functions : 

∫sin3xcos2xdx

Watch Video Solution

56. Find the integrals of the following functions : 

∫
dx

1 - sinx

Watch Video Solution

57. Find the integrals of the following functions : 

∫
sinx

1 + sinx dx

Watch Video Solution

https://dl.doubtnut.com/l/_uHKlrXPTeI2t
https://dl.doubtnut.com/l/_V6iNfAbuhoYc
https://dl.doubtnut.com/l/_HJ5akU1I3isc


58. Find the integrals of the following functions : 

∫
x2

x2 + 1
dx

Watch Video Solution

59. Find the integrals of the following functions : 

∫ tan - 1(secx + tanx)dx

Watch Video Solution

60. Find the integrals of the following functions : 

∫
sin6x + cos6x

sin2xcos2x
dx

Watch Video Solution

https://dl.doubtnut.com/l/_DN6rr6byReqT
https://dl.doubtnut.com/l/_QOysOhVVlbpO
https://dl.doubtnut.com/l/_rnmYm45w72zF


61. Find the integrals of the following functions : 

∫cos3xsinxdx

Watch Video Solution

62. Find the integrals of the following functions : 

∫secxdx

Watch Video Solution

63. Find the integrals of the following functions : 

∫cotxdx

Watch Video Solution

https://dl.doubtnut.com/l/_7bxGF6CyKF7N
https://dl.doubtnut.com/l/_8PCfZqlGUxOA
https://dl.doubtnut.com/l/_QPjldDCcHoyM


64. Find the integrals of the following functions : 

∫
1 - sinx
1 - cosx

dx

Watch Video Solution

65. Find the integrals of the following functions : 

∫sin4θcos3θdθ

Watch Video Solution

66. Find the integrals of the following functions : 

∫cosxcos2x. cos3xdx

Watch Video Solution

https://dl.doubtnut.com/l/_Rp0GAQ3rcc2o
https://dl.doubtnut.com/l/_ASEIQFxLEUeC
https://dl.doubtnut.com/l/_BdFFqDgP5Tsq


67. Find the integrals of the following functions : 

∫
sin6x

sin10xsin4x
dx

Watch Video Solution

68. Find the integrals of the following functions : 

∫cos5xdx

Watch Video Solution

69. Find the integrals of the following functions : 

∫cos - 1(sinx)dx

Watch Video Solution

https://dl.doubtnut.com/l/_sw3i7NDWxz5N
https://dl.doubtnut.com/l/_5EusaGubML0t
https://dl.doubtnut.com/l/_8nsMt5d6CjFM


70. Find the integrals of the following functions : 

∫
cosx

cos(x - a)
dx

Watch Video Solution

71. Find the integrals of the following functions : 

∫ tan - 1
cosx - sinx
cosx + sinx

dx

Watch Video Solution

( )

72. Find the integrals of the following functions : 

∫ tan - 1
1 - cosx
sinx

dx

Watch Video Solution

( )

https://dl.doubtnut.com/l/_saJaRHIIcara
https://dl.doubtnut.com/l/_fbuyAZHvOLqa
https://dl.doubtnut.com/l/_9QySWlUE3CMZ


73. Find the integrals of the following functions : 

∫sin2x. cos3xdx

Watch Video Solution

74. Find the integrals of the following functions : 

∫ x
3

2 - sin
x
2
cos

x
2
+ 1 dx

Watch Video Solution

( )

75. Find the integrals of the following functions : 

∫
4 - 5cosx

sin2x

Watch Video Solution

https://dl.doubtnut.com/l/_SrZV2mft7Rdu
https://dl.doubtnut.com/l/_tToVOERG5zAl
https://dl.doubtnut.com/l/_bBdKTbbDNXUK


76. Integrate the following function : 

∫
dx

9x2 - 7

Watch Video Solution

77. Integrate the following function : 

∫
1

4x2 + 9
dx

Watch Video Solution

78. Integrate the following function : 

∫
3x2

√9 - x6
dx

Watch Video Solution

https://dl.doubtnut.com/l/_4gI2NxpxzarV
https://dl.doubtnut.com/l/_PLcH1PN5XCgd
https://dl.doubtnut.com/l/_dEez5vkJ76zf


79. Integrate the following function : 

∫
ex

√4 - e2x
dx

Watch Video Solution

80. Integrate the following function : 

∫
dx

√x2 + 16
dx

Watch Video Solution

81. Integrate the following function : 

∫
x2

√x6 - 1
dx

Watch Video Solution

https://dl.doubtnut.com/l/_pHiZbPGL3R4s
https://dl.doubtnut.com/l/_oPoipZ8jSLMk
https://dl.doubtnut.com/l/_fU0UHRyxrCsY


82. Integrate the following function : 

∫
cosec2x

1 - cot2x
dx

Watch Video Solution

83. Integrate the following function : 

∫
sinθ

1 - 4cos2θ
dθ

Watch Video Solution

84. Integrate the following function : 

∫
x

√16x4 + 9
dx

Watch Video Solution

https://dl.doubtnut.com/l/_X0xoooYVxDlY
https://dl.doubtnut.com/l/_zyPR9GZeS8XK
https://dl.doubtnut.com/l/_uKhPxDnLELZR


85. Integrate the following function : 

∫
xdx

x4 + x2 + 1

Watch Video Solution

86. Integrate the following function : 

∫
dx

1 - 6x - 9x2

Watch Video Solution

87. Integrate the following function : 

∫
dx

7x2 + 2x + 10

Watch Video Solution

https://dl.doubtnut.com/l/_HUnz8cGacXOY
https://dl.doubtnut.com/l/_GBRXLTS8EL4N
https://dl.doubtnut.com/l/_De351bWfA0gQ


88. Integrate the following function : 

∫
dx

√(x + 5)(x - 1)

Watch Video Solution

89. Integrate the following function : 

∫
dx

√7 - 3x - 2x2
dx

Watch Video Solution

90. Integrate the following function : 

∫
dx

√x2 - 6x + 10

Watch Video Solution

https://dl.doubtnut.com/l/_jxfpzPesAuGc
https://dl.doubtnut.com/l/_NvmOXJYAN9SL
https://dl.doubtnut.com/l/_KLBA8B926ids


91. Integrate the following function : 

∫
2x - 3

3x2 + 4x + 5
dx

Watch Video Solution

92. Integrate the following function : 

∫
x

x2 + 3x + 2
dx

Watch Video Solution

93. Integrate the following function : 

∫
2x

√1 - x2 - x4
dx

Watch Video Solution

https://dl.doubtnut.com/l/_HH3bvGJSkl4Q
https://dl.doubtnut.com/l/_9hVsBZlUZge5
https://dl.doubtnut.com/l/_V7y5tO4mhZTW


94. Integrate the following function : 

∫
4x + 5

√2x2 + x - 3
dx

Watch Video Solution

95. Integrate the following function : 

∫
1 - x
1 + xdx

Watch Video Solution

√

96. Integrate the following function : 

∫
x - 1

√(x + 1)(x - 2)
dx

Watch Video Solution

https://dl.doubtnut.com/l/_jXDJSVLp5TZv
https://dl.doubtnut.com/l/_4cbgNRcFcKc2
https://dl.doubtnut.com/l/_ViSiVe1ypbaH


97. Integrate the following function : 

∫
x + 3

√5 - 4x + x2

Watch Video Solution

98. Integrate the following rational functions : 

∫
2x + 3

x2 - 2x - 3
dx

Watch Video Solution

99. Integrate the following rational functions : 

∫
dx

x(x + 2)

Watch Video Solution

https://dl.doubtnut.com/l/_esJ5AzENelbc
https://dl.doubtnut.com/l/_OqJtZepUiBia
https://dl.doubtnut.com/l/_Fw6FeQSTccO9


100. Integrate the following rational functions : 

∫
3x + 4

x2 - 5x + 6
dx

Watch Video Solution

101. Integrate the following rational functions : 

∫
2x - 1

(x - 1)(x + 2)(x - 3)
dx

Watch Video Solution

102. Integrate the following rational functions : 

∫
x

1 + x + x2 + x3
dx

Watch Video Solution

https://dl.doubtnut.com/l/_QPMRVm8gIOkV
https://dl.doubtnut.com/l/_x05lFL0b6WVq
https://dl.doubtnut.com/l/_WGwQ7VQzYqLF


103. Integrate the following rational functions : 

∫
x

1 + x + x2 + x3
dx

Watch Video Solution

104. Integrate the following rational functions : 

∫
3x + 1

(x - 2)2(x + 2)
dx

Watch Video Solution

105. Integrate the following rational functions : 

∫
x3 - x - 2

1 - x2
dx

Watch Video Solution

https://dl.doubtnut.com/l/_yvDg4qbSwO2d
https://dl.doubtnut.com/l/_0ZwVnih7lKrq
https://dl.doubtnut.com/l/_DknTLCs1mFcb


106. Integrate the following rational functions : 

∫
x3 - 1

x3 + 1
dx

View Text Solution

( )

107. Integrate the following rational functions : 

∫
x2

x2 + 2 x2 + 3
dx

Watch Video Solution

( )( )

108. Integrate the following rational functions : 

∫
x2 + 1

x2 - 5x + 6
dx

Watch Video Solution

https://dl.doubtnut.com/l/_twIuzP0ybD5V
https://dl.doubtnut.com/l/_ECkdkZKYUwiJ
https://dl.doubtnut.com/l/_NIMuDyOA2sDk


109. Integrate the following rational functions : 

∫
tanθ + tan3θ

1 + tan3θ

Watch Video Solution

110. Integrate the following rational functions : 

∫
1

sinx(3 + 2cosx)
dx

Watch Video Solution

111. Integrate the following rational functions : 

∫
x3

x2 - 4
dx

Watch Video Solution

https://dl.doubtnut.com/l/_wihGM7PMHqIE
https://dl.doubtnut.com/l/_h8Cqzxwo6aiU
https://dl.doubtnut.com/l/_NAmIOLzXiImb


112. Integrate the following rational functions : 

∫
x2 + 5x + 3

x2 + 3x + 2
dx

Watch Video Solution

113. Integrate the following rational functions : 

∫
1

6e2x + 5ex + 1
dx

Watch Video Solution

114. Integrate the following rational functions : 

∫
1

sinx - sin2x
dx

Watch Video Solution

https://dl.doubtnut.com/l/_8NnIfSqN8APM
https://dl.doubtnut.com/l/_JV7PztneEVFh
https://dl.doubtnut.com/l/_Zjr9xw9mdGKR


115. Integrate the following rational functions : 

∫
5x

(x + 1) - x2 + 9
dx

Watch Video Solution

( )

116. Integrate the following functions : 

xsin2x

Watch Video Solution

117. Integrate the following functions : 

e√x

Watch Video Solution

https://dl.doubtnut.com/l/_vsDgcMV53eDb
https://dl.doubtnut.com/l/_Uil64N9jpfh7
https://dl.doubtnut.com/l/_reGbJnhyicbl


118. Integrate the following functions : 

(xcosx)2

Watch Video Solution

119. Integrate the following functions : 

sin2xlog(cosx)

Watch Video Solution

120. Integrate the following functions : 

x2tan - 1x

Watch Video Solution

https://dl.doubtnut.com/l/_zPLCYNAYRbzb
https://dl.doubtnut.com/l/_aAfNwK8zdIwU
https://dl.doubtnut.com/l/_RZNs2bjLfgkc


121. Integrate the following functions : 

x
1 - cosx

Watch Video Solution

122. Integrate the following functions : 

sec3x

Watch Video Solution

123. Integrate the following functions : 

xcotxcosec2x

Watch Video Solution

https://dl.doubtnut.com/l/_xvVsuJws3Kmh
https://dl.doubtnut.com/l/_d9UbBhazupYZ
https://dl.doubtnut.com/l/_X5rfSqd1ZCub


124. Integrate the following functions : 

logx - 1

(logx)2

Watch Video Solution

125. Integrate the following functions : 

ex
2 + sin2x
1 + cos2x

Watch Video Solution

( )

126. Integrate the following functions : 

ex
1 + xlogx

x

Watch Video Solution

( )

https://dl.doubtnut.com/l/_PDjvszq0l4Qr
https://dl.doubtnut.com/l/_X1wPBB7odLR1
https://dl.doubtnut.com/l/_dzRy8HZ2rhQ6


127. Integrate the following functions : 

xcos3x

Watch Video Solution

128. Integrate the following functions : 

x2n - 1. cosxn

Watch Video Solution

129. Integrate the following functions : 

tan - 1
2x

1 - x2

Watch Video Solution

( )

https://dl.doubtnut.com/l/_F2J8HIwYR0WX
https://dl.doubtnut.com/l/_BBLNfhBkHb27
https://dl.doubtnut.com/l/_YJp0fGu1AvQ4


130. Integrate the following functions : 

ex(1 + x)log xex

Watch Video Solution

( )

131. Integrate the following functions : 

sin - 1x
2

Watch Video Solution

( )

132. Integrate the following functions : 

x3sinx2

Watch Video Solution

https://dl.doubtnut.com/l/_agni67FkRZXg
https://dl.doubtnut.com/l/_8pIW35eTCnh4
https://dl.doubtnut.com/l/_8gN0XnR5vrix


133. Integrate the following functions : 

5 + logx

(6 + logx)2

Watch Video Solution

134. Integrate the following functions : 

cos(logx)

View Text Solution

135. Integrate the following functions : 

tan - 1 √x

View Text Solution

( )

https://dl.doubtnut.com/l/_n9LdEwbhssfV
https://dl.doubtnut.com/l/_IXecQfZGEcyt
https://dl.doubtnut.com/l/_r28jttD62g4U


136. Integrate the following functions : 

∫√4x2 - 5dx

Watch Video Solution

137. Integrate the following functions : 

∫√3 + 8x - 3x2dx

Watch Video Solution

138. Integrate the following functions : 

∫x2√8 - x6dx

View Text Solution

https://dl.doubtnut.com/l/_1fHCCuUFfYyN
https://dl.doubtnut.com/l/_T4U1LPj99P50
https://dl.doubtnut.com/l/_bNpCK9TNlaZm


139. Integrate the following functions : 

∫√2x2 + 3x + 4dx

Watch Video Solution

140. Integrate the following functions : 

∫√2ax - x2dx

View Text Solution

141. Integrate the following functions : 

∫√3 - 2x - x2dx

Watch Video Solution

https://dl.doubtnut.com/l/_VTnK66PrBMNq
https://dl.doubtnut.com/l/_VnVxlc779B5m
https://dl.doubtnut.com/l/_sZl5CJZBYmMZ


142. Integrate the following functions : 

∫ (2x - 5)√x2 - 4x + 3dx

Watch Video Solution

143. Integrate the following functions : 

∫√2x2 + 3x + 4dx

View Text Solution

144. Integrate the following functions : 

∫x√x4 + 1dx

View Text Solution

https://dl.doubtnut.com/l/_BLz54rkeUxyz
https://dl.doubtnut.com/l/_Qt6pcqCYwGjX
https://dl.doubtnut.com/l/_KyozatjsCreT


145. Integrate the following functions : 

∫cosx√9 - sin2xdx

View Text Solution

146. Evaluate the following definite integrals as limit of sums : 

∫
3
1 2x2 + 7 dx

View Text Solution

( )

147. Evaluate the following definite integrals as limit of sums : 

∫
2
13

xdx

View Text Solution

https://dl.doubtnut.com/l/_Mv3RSwhv2TDX
https://dl.doubtnut.com/l/_45mG7a8egG0h
https://dl.doubtnut.com/l/_UTGwnIAzixdC


148. Evaluate the following definite integrals as limit of sums : 

∫
2
0 ex - x dx

Watch Video Solution

( )

149. Evaluate the following definite integrals as limit of sums : 

∫
2
0(2x + 3)dx

Watch Video Solution

150. Evaluate the following definite integrals as limit of sums : 

∫
4
1 3x2 + 2x + 5 dx

Watch Video Solution

( )

https://dl.doubtnut.com/l/_1DPB1DgUDRvk
https://dl.doubtnut.com/l/_edeOFYT57tdP
https://dl.doubtnut.com/l/_U0U1Ir3arA2o


151. Evaluate the following definite integrals as limit of sums : 

∫
b
acosxdx

Watch Video Solution

152. Evaluate the following definite integrals : 

∫
1
0

dx
2x - 3

Watch Video Solution

153. Evaluate the following definite integrals : 

∫
π
40 √1 + sin2xdx

View Text Solution

https://dl.doubtnut.com/l/_L25tWH6J2DJp
https://dl.doubtnut.com/l/_MqnOdLuMMyOA
https://dl.doubtnut.com/l/_oPiwi8xov5oR


154. Evaluate the following definite integrals : 

∫
π
20 sin4xdx

View Text Solution

155. Evaluate the following definite integrals : 

∫
3
1

dx

x2(x + 1)

Watch Video Solution

156. Evaluate the following definite integrals : 

∫
2
1

xdx
(x + 1)(x + 2)

View Text Solution

https://dl.doubtnut.com/l/_KXeQCMwEFmlD
https://dl.doubtnut.com/l/_h48zvsQQEPlr
https://dl.doubtnut.com/l/_a7u2gdnnLk0c


157. Evaluate the following definite integrals : 

∫
π
40 sin32tcos2tdt

View Text Solution

158. Evaluate the following definite integrals : 

∫
9
0

dx

1 + √x

View Text Solution

159. Evaluate the following definite integrals : 

∫
1
0

dx

x2 + x + 1

View Text Solution

https://dl.doubtnut.com/l/_Gfdds8Qf0cJD
https://dl.doubtnut.com/l/_pFojZX5fV95H
https://dl.doubtnut.com/l/_QOKqh4JDraHm


160. Evaluate the following definite integrals : 

∫
π
20 √1 - cos2xdx

View Text Solution

161. Evaluate the definite integrals 

∫
1
0

dx

√1 + x - √x

Watch Video Solution

162. Evaluate ∫
1
0
tan - 1x

1 + x2
dx

Watch Video Solution

https://dl.doubtnut.com/l/_Kt6nMho0Y1c2
https://dl.doubtnut.com/l/_a0Y981oFzOKP
https://dl.doubtnut.com/l/_09IF4MHQXfVA


163. Evaluate the following integrals : 

∫
π
2
π

6

cosecx. cotx

1 + cosec2x
dx

Watch Video Solution

164. Evaluate the following integrals : 

∫
π
20

dx

4sin2x + 5cos2x

Watch Video Solution

165. Evaluate the following integrals : 

∫√
2

0 √2 - x2dx

Watch Video Solution

https://dl.doubtnut.com/l/_Ny0h9LAO5ywb
https://dl.doubtnut.com/l/_BrRGOlSDqN1p
https://dl.doubtnut.com/l/_GAUIKXB66WlJ


166. Evaluate the following integrals : 

∫
2
1

1

x 1 + x2
dx

Watch Video Solution

( )

167. Evaluate the following integrals : 

∫
1
2
1
4

dx

√x - x2

Watch Video Solution

168. Evaluate the following integrals : 

∫
π
40 cos4xdx

Watch Video Solution

https://dl.doubtnut.com/l/_ycm80Hb2lqqG
https://dl.doubtnut.com/l/_j2e7omXvyC4E
https://dl.doubtnut.com/l/_3YDlau53HC3y


169. Evaluate the following integrals : 

∫
3
1

logx

(x + 1)2
dx

Watch Video Solution

170. Evaluate the following integrals : 

∫
π
0

1
1 + sinx

dx

Watch Video Solution

171. Evaluate the following integrals : 

∫
1
0
1 - x
1 + x

dx

Watch Video Solution

https://dl.doubtnut.com/l/_LHJgddo1JIAK
https://dl.doubtnut.com/l/_qkjmx58D14PD
https://dl.doubtnut.com/l/_FUgT2LHPAFXb


172. Evaluate the following integrals. 

∫
π

2θ
√tanx

√tanx + √cotx
dx

Watch Video Solution

173. Evaluate the following integrals. 

∫
1
0x(1 - x)

3
2dx

Watch Video Solution

174. Evaluate ∫
π
0

xsinx

1 + cos2x
dx

Watch Video Solution

175. Evaluate the following integrals. 

∫
π
20 sin2xlog(tanx)dx

https://dl.doubtnut.com/l/_kFwrLogXuvMl
https://dl.doubtnut.com/l/_APPzyRRZKQSp
https://dl.doubtnut.com/l/_yJxfmd4ue23m
https://dl.doubtnut.com/l/_BlbwBllXKYJu


Watch Video Solution

176. Evaluate ∫
π
3
π

6

dx

1 + √tanx

Watch Video Solution

177. Evaluate the following integrals. 

∫
π

20
sin2x

1 + sinxcosxdx

Watch Video Solution

178. Evaluate the following integrals. 

∫
2
0 x2 + 2x - 3 dx

Watch Video Solution

| |

https://dl.doubtnut.com/l/_BlbwBllXKYJu
https://dl.doubtnut.com/l/_SHaB8lJu41ST
https://dl.doubtnut.com/l/_lRRds7cAXzPz
https://dl.doubtnut.com/l/_k0tfreDi5Ehb


179. Evaluate the following integrals. 

∫
π
-πx

10sin7xdx

Watch Video Solution

180. Evaluate the following integrals. 

∫
2
0|3x - 5|dx

Watch Video Solution

181. Evaluate the following integrals. 

∫
2
0|3x - 5|dx

Watch Video Solution

https://dl.doubtnut.com/l/_KcOrXe2kNonU
https://dl.doubtnut.com/l/_a3nG0aZ8W3qy
https://dl.doubtnut.com/l/_lGnbypvyeziH


182. Integrate the following functions. 

∫
x3

2x + 1
dx

Watch Video Solution

183. Integrate the following functions. 

∫
√x

√a3 - x3
dx

Watch Video Solution

184. Integrate the following functions. 

∫x
13
2 1 + x

5
2

1
2
dx

Watch Video Solution

( )

https://dl.doubtnut.com/l/_uFYXKAZOJ7Vu
https://dl.doubtnut.com/l/_93eVBKFJ0LoV
https://dl.doubtnut.com/l/_RqzC2DGLfvoK


185. Integrate the following functions. 

∫
x2 + a2

x4 + a4
dx

Watch Video Solution

186. Integrate the following functions. 

∫
1 + sin2x

x + sin2x
dx

Watch Video Solution

( )

187. Integrate the following functions. 

∫
cosx

cos(x - 2)
dx

Watch Video Solution

https://dl.doubtnut.com/l/_kNyFLZn8kLPw
https://dl.doubtnut.com/l/_sP4CAIk5jCZ1
https://dl.doubtnut.com/l/_WPm3O01JIWLg


188. Integrate the following functions : 

∫
x - 1

√x + 4
dx

Watch Video Solution

189. Find ∫
x4 - x

1
4

x5
dx

Watch Video Solution

( )

190. Find ∫
x4dx

(x - 1) x2 + 1

Watch Video Solution

( )

191. Integrate the following functions. 

∫
dx

sin3xcos5x

https://dl.doubtnut.com/l/_0hSkI9L4338S
https://dl.doubtnut.com/l/_frvHFYwsT8Ls
https://dl.doubtnut.com/l/_JYBGAfXw2TtK
https://dl.doubtnut.com/l/_RxmXj9eOnlKI


Watch Video Solution

192. Integrate the following functions. 

∫sin - 1
x

x + a
dx

Watch Video Solution

√

193. Integrate the following functions. 

∫
sinx
sin4x

dx

Watch Video Solution

194. Integrate the following functions. 

∫
x2 - 1

x4 + x2 + 1
dx

Watch Video Solution

https://dl.doubtnut.com/l/_RxmXj9eOnlKI
https://dl.doubtnut.com/l/_DxLfqNMJlcbS
https://dl.doubtnut.com/l/_IWyR8thnSTuU
https://dl.doubtnut.com/l/_UvamjY33lw26


195. Integrate the following functions. 

∫ log 2 + x2 dx

Watch Video Solution

( )

196. Integrate the following functions. 

∫
x2 + 1

x4 + 1
dx

Watch Video Solution

197. Integrate the following functions. 

∫√tanxdx

Watch Video Solution

https://dl.doubtnut.com/l/_y8xTTdL0V2vf
https://dl.doubtnut.com/l/_wpKPk6qPi2uU
https://dl.doubtnut.com/l/_XC0gl9nbACaq


198. Integrate the following functions. 

∫
dx

2 + 3cosx

Watch Video Solution

199. Integrate the following functions. 

∫
dx

cosx + √3sinx

Watch Video Solution

200. Integrate the following functions. 

∫
1

x3 + 1
dx

View Text Solution

https://dl.doubtnut.com/l/_YZ9pI6VE4R8S
https://dl.doubtnut.com/l/_OB4BpbsLSuQb
https://dl.doubtnut.com/l/_6MrWkfDq84Mf


201. Integrate the following functions. 

∫
x + 2

x2 + 3x + 2 √x + 1
dx

Watch Video Solution

( )

202. Prove that ∫
π
20 sin2xlogtanxdx = 0.

Watch Video Solution

203. Prove that ∫
1
0log

1
x
- 1 dx = 0.

Watch Video Solution

( )

204. Find the value of ∫
1
0cot

- 1 1 - x + x2 dx

Watch Video Solution

( )

https://dl.doubtnut.com/l/_HECLnPcGQdrM
https://dl.doubtnut.com/l/_fT70WAPBKuhu
https://dl.doubtnut.com/l/_5IvrTIzRnBHv
https://dl.doubtnut.com/l/_zBLQnIJDllbC


205. Evaluate ∫
π
0

xsinx

1 + cos2x
dx

Watch Video Solution

206. Prove that ∫
π
0

x
1 - cosαsinx

dx =
π(π - α)
sinα

Watch Video Solution

207. Find the value of ∫
π
4

-
π
4

x +
π
4

2 - cos2x
dx.

Watch Video Solution

208. Find the value of ∫
π
2

-
π
2

|sinx|dx.

Watch Video Solution

https://dl.doubtnut.com/l/_zBLQnIJDllbC
https://dl.doubtnut.com/l/_NidDeICbn5gK
https://dl.doubtnut.com/l/_SSwX3y7RtCxw
https://dl.doubtnut.com/l/_Lw9R1wOlUIp8
https://dl.doubtnut.com/l/_gBBWtTjdsFZi


EXERCISE 7.1

209. Evaluate ∫
3

2- 1|xsinπx|dx

Watch Video Solution

210. Find the value of ∫
1
0

e - x

1 + ex
dx.

Watch Video Solution

211. Evaluate ∫
3
1 x2 + x dx as the limite of a sum.

Watch Video Solution

( )

https://dl.doubtnut.com/l/_gBBWtTjdsFZi
https://dl.doubtnut.com/l/_5YCD9B1KGVFX
https://dl.doubtnut.com/l/_q2njNrT8s4Mk
https://dl.doubtnut.com/l/_vDRrxTU59i6o


1. Find an anti derivative (or integral) of the following functions by the

method of inspection. 

sin 2x

Watch Video Solution

2. Find an anti derivative (or integral) of the following functions by the

method of inspection. 

cos 3x

Watch Video Solution

3. Find an anti derivative (or integral) of the following functions by the

method of inspection. 

e2x

Watch Video Solution

https://dl.doubtnut.com/l/_GPcF14ravXny
https://dl.doubtnut.com/l/_SjW9unPP3cID
https://dl.doubtnut.com/l/_aMPLt3sw40Vh


4. Find an anti derivative (or integral) of the following functions by the

method of inspection. 

(ax + b)2

Watch Video Solution

5. Find an anti derivative (or integral) of the following functions by the

method of inspection. 

sin2x– 4e3x

Watch Video Solution

6. Find the following integrals 

∫ 4e3x + 1 dx

Watch Video Solution

( )

https://dl.doubtnut.com/l/_c1h6bpCKhaAR
https://dl.doubtnut.com/l/_YICVQUwRjcGm
https://dl.doubtnut.com/l/_KVduxuxmBWuv
https://dl.doubtnut.com/l/_Mmi1VHwjQGUV


7. Find the following integrals 

∫x2 1 -
1

x2
dx

Watch Video Solution

( )

8. Find the following integrals 

∫ ax2 + bx + c dx

Watch Video Solution

( )

9. Find the following intergrals in Eercise. 

∫ 2x2 + ex dx

Watch Video Solution

( )

https://dl.doubtnut.com/l/_Mmi1VHwjQGUV
https://dl.doubtnut.com/l/_mvj8v44ypxM6
https://dl.doubtnut.com/l/_Gct6Wdl9kCzP


10. Find the following integrals 

∫ √ -
1

√x
2
dx

Watch Video Solution

( )

11. Find the following intergrals in Eercise. 

∫
x3 - 5x2 - 4

x2
dx

Watch Video Solution

12. Find the following integrals 

∫
x3 + 3x + 4

√x
dx

Watch Video Solution

https://dl.doubtnut.com/l/_ITTggDBuqf2R
https://dl.doubtnut.com/l/_rfPAXelBcH9a
https://dl.doubtnut.com/l/_XOi6DykILvsc


13. Find the following intergrals in Eercise. 

2x
7
2

7
+ 2x

3
2 +8x

1
2 + c

View Text Solution

14. Find the following integrals 

∫ (1 - x)√xdx

Watch Video Solution

15. Find the following integrals 

∫√x 3x2 + 2x + 3 dx

Watch Video Solution

( )

https://dl.doubtnut.com/l/_v24QwrETGHuL
https://dl.doubtnut.com/l/_ElIfSZj0pCGu
https://dl.doubtnut.com/l/_BaKNGHLyvuyX


16. Find the following integrals 

∫ 2x - 3cosx + ex dx

Watch Video Solution

( )

17. Find the following integrals 

∫ 2x2 - 3sinx + 5√x dx

Watch Video Solution

( )

18. Find the following intergrals in Eercise. 

∫secx(secx + tanx)dx

Watch Video Solution

https://dl.doubtnut.com/l/_E3zZ6ZXCC4qE
https://dl.doubtnut.com/l/_JnevrjcwwHK9
https://dl.doubtnut.com/l/_DmBIm3zPggMq


19. Find the following integrals 

∫
sec2x

cosec2x
dx

Watch Video Solution

20. Find the following integrals 

∫
2 - 3sinx

cos2x
dx

Watch Video Solution

21. Choose the correct answer 

The anti derivative of √x +
1

√x
 equals

A. 
1
3x

1

3 + 2x
1

2 + c

B. 
2
3x

2

3 +
1
2x

2 + c

C. 
2
3x

3

2 + 2x
1

2 + c

( )

https://dl.doubtnut.com/l/_rb23HhLnWXBz
https://dl.doubtnut.com/l/_dLutOk22OVd9
https://dl.doubtnut.com/l/_stQtGfOwS7QA


D. 
2
3
x
3
2 +

1
2
x
1
2 + c

Answer: C

Watch Video Solution

22. Choose the correct answer 

If 
d
dx

f(x) = 4x3 -
3

x4
 such that f (2) = 0. Then f (x) is

A. x4 +
1

x3
-
129
8

B. x3 +
1

x4
+
129
8

C. x4 +
1

x3
+
129
8

D. x3 +
1

x4
-
129
8

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_stQtGfOwS7QA
https://dl.doubtnut.com/l/_CeSqm9izicOC


EXERCISE 7.2

1. Integrate the functions 

2x

1 + x2

Watch Video Solution

2. Integrate the functions 

(logx)2

x

Watch Video Solution

3. Integrate the function in Exercise. 

1
x + xlogx

Watch Video Solution

https://dl.doubtnut.com/l/_usq7MbkC4hnk
https://dl.doubtnut.com/l/_7SW6ACOKDjPa
https://dl.doubtnut.com/l/_hEoSDjaPN94U
https://dl.doubtnut.com/l/_GYHmN9uKokt2


4. Integrate the functions 

sinxsin(cosx)

Watch Video Solution

5. Integrate the functions 

sin(ax + b)cos(ax + b)

Watch Video Solution

6. Integrate the functions 

√ax + b

Watch Video Solution

7. Integrate the function in Exercise. 

x√x + 2

https://dl.doubtnut.com/l/_GYHmN9uKokt2
https://dl.doubtnut.com/l/_WKnoRZCRXZJI
https://dl.doubtnut.com/l/_RjIYXZQ4Ldfa
https://dl.doubtnut.com/l/_kFAHT3qHGDjF


Watch Video Solution

8. Integrate the functions 

x√1 + 2x2

Watch Video Solution

9. Integrate the functions 

(4x + 2)√x2 + x + 1

Watch Video Solution

10. Integrate the function in Exercise. 

1

x - √x

Watch Video Solution

https://dl.doubtnut.com/l/_kFAHT3qHGDjF
https://dl.doubtnut.com/l/_uUqsLT1AYJks
https://dl.doubtnut.com/l/_nyxc8I7qy3zJ
https://dl.doubtnut.com/l/_b32q4KJ6ED6p
https://dl.doubtnut.com/l/_FYddX9XK4ueI


11. Integrate the function in Exercise. 

x

√x + 4
, x > - 4

Watch Video Solution

12. Integrate the function in Exercise. 

x3 - 1
1
3x5

Watch Video Solution

( )

13. Integrate the functions 

x2

2 + 3x3
3

Watch Video Solution

( )

https://dl.doubtnut.com/l/_FYddX9XK4ueI
https://dl.doubtnut.com/l/_ODkZPIJcnY0e
https://dl.doubtnut.com/l/_R4a3TOGAlDzo


14. Integrate the functions 

1

x(logx)m
, x > 0, m ≠ 1

Watch Video Solution

15. Integrate the functions 

x

9 - 4x2

Watch Video Solution

16. Integrate the function in Exercise. 

e2x + 3

Watch Video Solution

https://dl.doubtnut.com/l/_o14JaINDRBFR
https://dl.doubtnut.com/l/_EbH7uPQP3EAL
https://dl.doubtnut.com/l/_qwfghsoHLMrk


17. Integrate the functions 

x

ex
2

Watch Video Solution

18. Integrate the functions 

etan
- 1x

1 + x2

Watch Video Solution

19. Integrate the functions 

e2x - 1

e2x + 1

Watch Video Solution

https://dl.doubtnut.com/l/_5jdqZv9LgaPe
https://dl.doubtnut.com/l/_gfDLrfnhXgR4
https://dl.doubtnut.com/l/_Wnn1zMRHNTWw


20. Integrate the functions 

e2x - e - 2x

e2x + e - 2x

Watch Video Solution

21. Integrate the functions 

tan2(2x - 3)

Watch Video Solution

22. Integrate the functions 

sec2(7 - 4x)

Watch Video Solution

https://dl.doubtnut.com/l/_UffTJsdmu7rS
https://dl.doubtnut.com/l/_bwCNPFSXSe6J
https://dl.doubtnut.com/l/_DqjEcIi4NITu


23. Integrate the functions 

sin - 1x

√1 - x2

Watch Video Solution

24. Integrate the function in Exercise. 

2cosx - 3sinx
6cosx + 4sinx

Watch Video Solution

25. Integrate the functions 

1

cos2x(1 - tanx)2

Watch Video Solution

https://dl.doubtnut.com/l/_8mryFWMdYrLS
https://dl.doubtnut.com/l/_0UwfqutHcJNS
https://dl.doubtnut.com/l/_ZkOmDQwwUw4v


26. Integrate the function in Exercise. 

cos√x

√x

Watch Video Solution

27. Integrate the function in Exercise. 

√sin2xcos2x

Watch Video Solution

28. Integrate the functions 

cosx

√1 + sinx

Watch Video Solution

https://dl.doubtnut.com/l/_rwODYX0dbius
https://dl.doubtnut.com/l/_3SmzDDGMYI8N
https://dl.doubtnut.com/l/_zjowrST2D9Fu


29. Integrate the functions 

cot x log sin x

Watch Video Solution

30. Integrate the functions 

sinx
1 + cosx

Watch Video Solution

31. Integrate the functions 

sinx

(1 + cosx)2

Watch Video Solution

https://dl.doubtnut.com/l/_gYjMTrG1Dnpg
https://dl.doubtnut.com/l/_7QRzCAHsV7aq
https://dl.doubtnut.com/l/_roIgby0LtP6s


32. Integrate the functions 

1
1 + cotx

Watch Video Solution

33. Integrate the functions 

1
1 - tanx

Watch Video Solution

34. Integrate the functions 

√tanx
sinxcosx

Watch Video Solution

https://dl.doubtnut.com/l/_PfEsxaG6H2tc
https://dl.doubtnut.com/l/_nkowgkcwJepp
https://dl.doubtnut.com/l/_oFVQZb0d4C28


35. Integrate the function in Exercise. 

(logx)2

x

Watch Video Solution

36. Integrate the functions 

(x + 1)(x + logx)2

x

Watch Video Solution

37. Integrate the function in Exercise. 

x3sin tan - 1x4

1 + x8

Watch Video Solution

( )

https://dl.doubtnut.com/l/_v6LgGMUoUguP
https://dl.doubtnut.com/l/_X9IYvgBwC1VJ
https://dl.doubtnut.com/l/_N5NUDdxTlqoG


38. Choose the correct answer 

∫
10x9 + 10xloge10dx

x10 + 10x
 equals

A. 10x - x10 + c

B. 10x + x10 + c

C. 10x - x10 - 1 + c

D. log 10x + x10 + c

Answer: D

Watch Video Solution

( )
( )

39. ∫
dx

sin2xcos2

A. tanx + cotx + c

B. tanx - cotx + c

https://dl.doubtnut.com/l/_nbvuO8WbpcUW
https://dl.doubtnut.com/l/_nOaIxY1WiUiZ


EXERCISE 7.3

C. tanxcotx + c

D. tanx - cot2x + c

Answer: B

Watch Video Solution

1. Find the integrals of the functions in Exercise. 

sin2(2x + 5)

Watch Video Solution

2. Find the integrals of the functions in Exercise. 

sin3xcos4x

Watch Video Solution

https://dl.doubtnut.com/l/_nOaIxY1WiUiZ
https://dl.doubtnut.com/l/_At6H0BHi4dEP
https://dl.doubtnut.com/l/_3TSacnjHo3zU


3. Find the integrals of the functions in Exercise. 

cos2xcos4xcos6x

Watch Video Solution

4. Find the integrals of the functions in Exercise. 

sin(2x + 1)

Watch Video Solution

5. Find the integrals of the functions in Exercise. 

sin3xcos3x

Watch Video Solution

https://dl.doubtnut.com/l/_3TSacnjHo3zU
https://dl.doubtnut.com/l/_AhdPCXYMZGl8
https://dl.doubtnut.com/l/_fSLbTDcNDqXO
https://dl.doubtnut.com/l/_wicc8i8xx1mC


6. Find the integrals of the functions 

sin x sin 2x sin 3x

Watch Video Solution

7. Find the integrals of the functions 

sin 4x sin 8x

Watch Video Solution

8. Find the integrals of the functions 

1 - cosx
1 + cosx

Watch Video Solution

https://dl.doubtnut.com/l/_sDbV5emLYFc2
https://dl.doubtnut.com/l/_BD4jGot08HaG
https://dl.doubtnut.com/l/_w28hLghgaO8i


9. Find the integrals of the functions in Exercise. 

cosx
1 + cosx

Watch Video Solution

10. Find the integrals of the functions 

sin4x

Watch Video Solution

11. Find the integrals of the functions in Exercise. 

cos42x

View Text Solution

https://dl.doubtnut.com/l/_NeQPJ8AWkwtZ
https://dl.doubtnut.com/l/_of8gXbtMfHv4
https://dl.doubtnut.com/l/_oKaUKmyCXyOL


12. Find the integrals of the functions 

sin2x
1 + cosx

Watch Video Solution

13. Find the integrals of the functions 

cos2x - cos2α
cosx - cosα

Watch Video Solution

14. Find the integrals of the functions 

cosx - sinx
1 + sin2x

Watch Video Solution

https://dl.doubtnut.com/l/_6CcF9gvTKbn5
https://dl.doubtnut.com/l/_I4cKFQ4xQpK0
https://dl.doubtnut.com/l/_NIwoqTazXWG2


15. Find the integrals of the functions 

tan32xsec2x

Watch Video Solution

16. Find the integrals of the functions 

tan4x

Watch Video Solution

17. Find the integrals of the functions 

sin3x + cos3x

sin2xcos2x

Watch Video Solution

https://dl.doubtnut.com/l/_ThefmPdrkf57
https://dl.doubtnut.com/l/_9t56tejStJax
https://dl.doubtnut.com/l/_aqrCCegCJUTL


18. Find the integrals of the functions 

cos2x + 2sin2x

cos2x

Watch Video Solution

19. Find the integrals of the functions in Exercise. 

1

sinxcos2x

Watch Video Solution

20. Find the integrals of the functions 

cos2x

(cosx + sinx)2

Watch Video Solution

https://dl.doubtnut.com/l/_pWV9yWrPAL8p
https://dl.doubtnut.com/l/_tcK5GB5nrT4B
https://dl.doubtnut.com/l/_s6Udwpf8Y0Ea


21. Find the integrals of the functions 

sin - 1(cosx)

Watch Video Solution

22. Find the integrals of the functions 

1
cos(x– a)cos(x– b)

Watch Video Solution

23. Choose the correct answer 

∫
sin2x - cos2x

sin2xcos2x
dx is equal to

A. tanx + cotx + c

B. tanx + cosecx + c

C. - tanx + cotx + c

https://dl.doubtnut.com/l/_kWPdKUyxBgSA
https://dl.doubtnut.com/l/_oL25d6argAur
https://dl.doubtnut.com/l/_ONCaJ33Lo8qL


EXERCISE 7.4

D. - tanx + cotx + c

Answer: A

Watch Video Solution

24. Choose the correct answer 

∫
ex(1 + x)

cos2 exx
dx equals

Watch Video Solution

( )

1. Integrate the functions in exercise. 

3x2

x6 + 1

Watch Video Solution

https://dl.doubtnut.com/l/_ONCaJ33Lo8qL
https://dl.doubtnut.com/l/_fWcC9sS4Ahz2
https://dl.doubtnut.com/l/_uIVCeHrfx03q


2. Integrate the functions in exercise. 

1

√1 + 4x2

Watch Video Solution

3. Integrate the function 

1

√(2 - x)2 + 1

Watch Video Solution

4. Integrate the functions in exercise. 

1

√9 - 25x2

Watch Video Solution

https://dl.doubtnut.com/l/_2UOVgwjFsiPj
https://dl.doubtnut.com/l/_jZDUvP3zjxyi
https://dl.doubtnut.com/l/_fQpSr7OFHXjg


5. Integrate the function 

3x

1 + 2x4

Watch Video Solution

6. Integrate the functions in exercise. 

x2

1 - x6

Watch Video Solution

7. Integrate the functions in exercise. 

x - 1

√x2 - 1
dx

Watch Video Solution

https://dl.doubtnut.com/l/_GUxs1hQ9FbSx
https://dl.doubtnut.com/l/_TfXE7lURvE1m
https://dl.doubtnut.com/l/_sp0YlHuablJQ


8. Integrate the function 

x2

√x6 + a6

Watch Video Solution

9. Integrate the function 

sec2x

√tan2x + 4

Watch Video Solution

10. Integrate the functions in exercise. 

1

√x2 - 2x + 2

Watch Video Solution

https://dl.doubtnut.com/l/_JjxANMohdWpM
https://dl.doubtnut.com/l/_3fleMB4zMM4v
https://dl.doubtnut.com/l/_WftnPCAYiqLy


11. Integrate the function 

1

9x2 + 6x + 5

Watch Video Solution

12. Integrate the functions in exercise. 

1

√7 - 6x - x2

Watch Video Solution

13. Integrate the function 

1

√(x - 1)(x - 2)

Watch Video Solution

https://dl.doubtnut.com/l/_bpEW1JdIFWiv
https://dl.doubtnut.com/l/_LKktpr1UGZaG
https://dl.doubtnut.com/l/_Vdnij79u9Z65


14. Integrate the function 

1

√8 + 3x - x2

Watch Video Solution

15. Integrate the functions in exercise. 

1

√(x - a)(x - b)

View Text Solution

16. Integrate the function 

4x + 1

√2x2 + x - 3

Watch Video Solution

https://dl.doubtnut.com/l/_c7LYBZtHkJ1F
https://dl.doubtnut.com/l/_mhUDMARBf7Kp
https://dl.doubtnut.com/l/_GEpp3h1MX4Bc


17. Integrate the function 

x + 2

√x2 - 1

Watch Video Solution

18. Integrate the function 

5x - 2

1 + 2x + 3x2

Watch Video Solution

19. Integrate the function 

6x + 7

√(x - 5)(x - 4)

Watch Video Solution

https://dl.doubtnut.com/l/_jNXaij46W3h5
https://dl.doubtnut.com/l/_uAK7YyTdRHaT
https://dl.doubtnut.com/l/_eff4IxwTScQh


20. Integrate the function 

x + 2

√4x - x2

Watch Video Solution

21. Integrate the function 

x + 2

√x2 + 2x + 3

Watch Video Solution

22. Integrate the functions in exercise. 

x + 3

x2 - 2x - 5

Watch Video Solution

https://dl.doubtnut.com/l/_N5UWA6227oTp
https://dl.doubtnut.com/l/_fi5lA2v22wnC
https://dl.doubtnut.com/l/_uVjslJfldgaq


23. Integrate the functions in exercise. 

5x + 3

√x2 + 4x + 10

Watch Video Solution

24. Choose the correct answer 

∫
dx

x2 + 2x + 2
 equals

A. xtan - 1(x + 1) + c

B. tan - 1(x + 1) + c

C. (x + 1)tan - 1x + c

D. tan - 1x + c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_hO2KjG6ABp8i
https://dl.doubtnut.com/l/_G1r1T7Z3tg5D
https://dl.doubtnut.com/l/_Iyx0xIfno6FV


EXERCISE 7.5

25. Choose the correct answer 

∫
dx

√9x - 4x2
 equals

A. 
1
9
sin - 1

9x - 8
8

+ c

B. 
1
2
sin - 1

8x - 9
9

+ c

C. 
1
3
sin - 1

8x - 8
8

+ c

D. 
1
2
sin - 1

9x - 8
9

+ c

Answer: B

Watch Video Solution

( )
( )
( )
( )

1. Integrate the rational functions 

x
(x + 1)(x + 2)

https://dl.doubtnut.com/l/_Iyx0xIfno6FV
https://dl.doubtnut.com/l/_n0BR0oo6AWq7


Watch Video Solution

2. Integrate the rational functions 

1

x2 - 9

Watch Video Solution

3. Integrate the rational functions 

3x - 1
(x - 1)(x - 2)(x - 3)

Watch Video Solution

4. Integrate the rational functions 

x
(x - 1)(x - 2)(x - 3)

Watch Video Solution

https://dl.doubtnut.com/l/_n0BR0oo6AWq7
https://dl.doubtnut.com/l/_TsihXqrqB1wV
https://dl.doubtnut.com/l/_n4srWVrmxtcS
https://dl.doubtnut.com/l/_Ve0ANJbbrJUO
https://dl.doubtnut.com/l/_ngI93MvLQEKj


5. Integrate the rational functions 

2x

x2 + 3x + 2

Watch Video Solution

6. Integrate the rational functions 

1 - x2

x(1 - 2x)

Watch Video Solution

7. Integrate the rational functions 

2x

x2 + 1 x2 + 3

Watch Video Solution

( )( )

https://dl.doubtnut.com/l/_ngI93MvLQEKj
https://dl.doubtnut.com/l/_DnHV4zdaCcf8
https://dl.doubtnut.com/l/_3YVWXjgFEpnE


8. Integrate the rational functions 

x

(x - 1)2(x + 2)

Watch Video Solution

9. Integrate the rational functions 

3x + 5

x3 - x2 - x + 1

Watch Video Solution

10. Integrate the rational functions 

2x - 3

x2 - 1 (2x + 3)

Watch Video Solution

( )

https://dl.doubtnut.com/l/_yUAkxfBBoiAa
https://dl.doubtnut.com/l/_dXAr9dUBtKZY
https://dl.doubtnut.com/l/_C2k9Ebmknh0Y


11. Integrate the rational functions 

5x

(x + 1) x2 - 4

Watch Video Solution

( )

12. Integrate the rational functions 

x3 + x + 1

x2 - 1

Watch Video Solution

13. Integrate the rational functions 

2

(1 - x) 1 + x2

Watch Video Solution

( )

https://dl.doubtnut.com/l/_i4lZi130inKg
https://dl.doubtnut.com/l/_5W1VY4VmYQ7L
https://dl.doubtnut.com/l/_cfA3ty7MySki


14. Integrate the rational functions 

3x - 1

(x + 2)2

Watch Video Solution

15. Integrate the rational functions in exercise. 

1

x4 - 1

View Text Solution

16. Integrate the rational functions in exercise. 

1

x xn - 1

Watch Video Solution

( )

https://dl.doubtnut.com/l/_uX36v7xdN56M
https://dl.doubtnut.com/l/_wr26XeJSLAVu
https://dl.doubtnut.com/l/_voEwets7GiFU


17. Integrate the rational functions in exercise. 

cosx
(1 - sinx)(2sinx)

Watch Video Solution

18. Integrate the rational functions 

x2 + 1 x2 + 2

x2 + 3 x2 + 4

Watch Video Solution

( )( )
( )( )

19. Integrate the rational functions 

2x

x2 + 1 x2 + 3

Watch Video Solution

( )( )

https://dl.doubtnut.com/l/_WuIWlvheIIK6
https://dl.doubtnut.com/l/_2zwvzmtNeusm
https://dl.doubtnut.com/l/_qGoHHNB9tHFO
https://dl.doubtnut.com/l/_KEfnaDckpu2H


20. Integrate the rational functions 

1

x x4 - 1

Watch Video Solution

( )

21. Integrate the rational functions 

1

ex - 1
 [Hint : Put ex = t]

Watch Video Solution

( )

22. Choose the correct answer 

∫
xdx

(x - 1)(x - 2)
 equals

A. log
(x - 1)2

x - 2
+ c

B. log
(x - 2)2

x - 1
+ c

| |
| |

https://dl.doubtnut.com/l/_KEfnaDckpu2H
https://dl.doubtnut.com/l/_5JzHq8w3EOnf
https://dl.doubtnut.com/l/_AENUazP25BJd


C. log
(x - 1)2

x - 2
+ c

D. log|(x - 1)(x - 2)| + c

Answer: B

Watch Video Solution

| ( )|

23. Choose the correct answer 

∫
dx

x x2 + 1
 equals

A. log|x| -
1
2 log x2 + 1 + c

B. log|x| +
1
2 log x2 + 1 + c

C. - log|x| +
1
2 log x2 + 1 + c

D. 
1
2 log|x| + loglog x2 + 1 + c

Answer: A

W t h Vid S l ti

( )

( )
( )
( )
( )

https://dl.doubtnut.com/l/_AENUazP25BJd
https://dl.doubtnut.com/l/_Bv1vmvuxwsA4


EXERCISE 7.6

Watch Video Solution

1. Integrate the function in Exercise. 

xsin

Watch Video Solution

2. Integrate the function in Exercise. 

xsin3x

Watch Video Solution

3. Integrate the function in Exercise. 

x2ex

Watch Video Solution

https://dl.doubtnut.com/l/_Bv1vmvuxwsA4
https://dl.doubtnut.com/l/_t7rUzT2H3C92
https://dl.doubtnut.com/l/_qoh9P9wV4LRw
https://dl.doubtnut.com/l/_LlGOAlbCyNXy


4. Integrate the function in Exercise. 

xlogx

Watch Video Solution

5. Integrate the function in Exercise. 

xlog2x

Watch Video Solution

6. Integrate the function in Exercise. 

x2logx

Watch Video Solution

https://dl.doubtnut.com/l/_LlGOAlbCyNXy
https://dl.doubtnut.com/l/_bZ8xQIUGAG0x
https://dl.doubtnut.com/l/_sfDmTg3KhMpp
https://dl.doubtnut.com/l/_WzPEjDcFjFGs


7. Integrate the function in Exercise. 

xsin - 1x

Watch Video Solution

8. Integrate the function in Exercise. 

xtan - 1x

Watch Video Solution

9. Integrate the function in Exercise. 

xcos - 1x

Watch Video Solution

https://dl.doubtnut.com/l/_NirnhlnqTjHC
https://dl.doubtnut.com/l/_cdCDaN4YJPcr
https://dl.doubtnut.com/l/_G1CiwfT5CSK0


10. Integrate the function in Exercise. 

sin - 1x 2

Watch Video Solution

( )

11. Integrate the functions 

xcos - 1x

√1 - x2

Watch Video Solution

12. Integrate the function in Exercise. 

xsec2x

Watch Video Solution

https://dl.doubtnut.com/l/_MhgwEihVgTZk
https://dl.doubtnut.com/l/_jIn0eTASita7
https://dl.doubtnut.com/l/_MQJcB0bi7oaY


13. Integrate the functions 

tan - 1x

Watch Video Solution

14. Integrate the functions 

x(logx)2

Watch Video Solution

15. Integrate the function in Exercise. 

x2 + 1 logx

Watch Video Solution

( )

https://dl.doubtnut.com/l/_z1hEWYYumTIs
https://dl.doubtnut.com/l/_TbRBr5tzf6Im
https://dl.doubtnut.com/l/_U0GuTP9U9mDJ


16. Integrate the function in Exercise. 

ex(sinx + cosx)

Watch Video Solution

17. Integrate the function in Exercise. 

xe4

(1 + x)2

Watch Video Solution

18. Integrate the function in Exercise. 

ex
1 + sinx
(1 + cosx)

View Text Solution

( )

https://dl.doubtnut.com/l/_41aGYV2IqA0b
https://dl.doubtnut.com/l/_JWvnecAgAyDr
https://dl.doubtnut.com/l/_BdhrXktnWiwX


19. Integrate the function in Exercise. 

ex
1
x
-
1

x2

Watch Video Solution

( )

20. Integrate the function in Exercise. 

(x - 3)ex

(x - 1)3

View Text Solution

21. Integrate the function in Exercise. 

e2xsinx

View Text Solution

https://dl.doubtnut.com/l/_UlheBUkC7uiJ
https://dl.doubtnut.com/l/_4NlaYhj21wAs
https://dl.doubtnut.com/l/_Bhs1OleCVGz8


22. Integrate the function in Exercise. 

sin - 1
2x

1 + x2

Watch Video Solution

( )

23. Choose the correct answer 

∫x2ex
3
dx equals

A. 
1
3
ex

3
+ c

B. 
1
3
ex

2
+ c

C. 
1
2
ex

3
+ c

D. 
1
2
ex

2
+ c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_SDGK7El9oRyT
https://dl.doubtnut.com/l/_o7g1AuY6GCAc
https://dl.doubtnut.com/l/_u1z8DqxCv9qV


EXERCISE 7.7

24. Choose the correct answer 

∫exsecx(1 + tanx)dx equals

A. excosx + c

B. exsecx + c

C. exsinx + c

D. extanx + c

Answer: B

Watch Video Solution

1. Integrate the function is exercise. 

√4 - x2

Watch Video Solution

https://dl.doubtnut.com/l/_u1z8DqxCv9qV
https://dl.doubtnut.com/l/_I2QOKlFqXUGw


2. Integrate the function is exercise. 

√1 - 4x2

Watch Video Solution

3. Integrate the function is exercise. 

√x2 + 4x + 6

Watch Video Solution

4. Integrate the function is exercise. 

√x2 + 4x + 1

Watch Video Solution

https://dl.doubtnut.com/l/_I2QOKlFqXUGw
https://dl.doubtnut.com/l/_dQv55gYeI3TZ
https://dl.doubtnut.com/l/_CJVqSMDUdc6f
https://dl.doubtnut.com/l/_2aCzCkFFcQW1


5. Integrate the function is exercise. 

√1 - 4x - x2

Watch Video Solution

6. Integrate the function is exercise. 

√x2 + 4x - 5

Watch Video Solution

7. Integrate the function is exercise. 

√1 + 3x - x2

Watch Video Solution

https://dl.doubtnut.com/l/_wtKZNGSEztGw
https://dl.doubtnut.com/l/_9TPsjDceB7oa
https://dl.doubtnut.com/l/_ZPCGah51Xui0


8. Integrate the function is exercise. 

√x2 + 3x

Watch Video Solution

9. Integrate the function is exercise. 

1 +
x2

9

Watch Video Solution

√

10. ∫√1 + x2dx = ....

A. 
x
2√1 + x2 +

1
2
log x +√1 + x2 + c

B. 
2
3

1 + x2
3
2 + c

C. 
2
3
x 1 + x2

3

2 + c

D. 
x2

2 √1 + x2 +
1
2x

2log x +√1 + x2 + c

|( )|
( )
( )

| |

https://dl.doubtnut.com/l/_4QQKjHB1jF1o
https://dl.doubtnut.com/l/_hfj3RzHgSMjH
https://dl.doubtnut.com/l/_b4EGolDc1tzc


Answer: A

Watch Video Solution

11. ∫√x2 - 8x + 7dx = ....

A. 
1
2
(x - 4)√x2 - 8x + 7 + 9log x - 4 +√x2 - 8x + 7 + c

B. 
1
2 (x + 4)√x2 - 8x + 7 + 9log x + 4 +√x2 - 8x + 7 + c

C. 
1
2 (x - 4)√x2 - 8x + 7 - 3√2logx + 4 +√x2 - 8x + 7 ∣ + c

D. 
1
2
(x + 4)√x2 - 8x + 7 +

9
2
log x - 4 +√x2 - 8x + 7 + c

Answer: D

Watch Video Solution

| |
| |

| |

12. x√x + x2

View Text Solution

https://dl.doubtnut.com/l/_b4EGolDc1tzc
https://dl.doubtnut.com/l/_iFGAaJ5YeT9R
https://dl.doubtnut.com/l/_uc2yPqBIMzzk


EXERCISE 7.8

13. (x + 1)√2x2 + 3

Watch Video Solution

14. (x + 3)√3 - 4x - x2

Watch Video Solution

1. Evaluate the following definite intergrals as limit of sums. 

b
xadx

Watch Video Solution

https://dl.doubtnut.com/l/_uc2yPqBIMzzk
https://dl.doubtnut.com/l/_SW8PEZNyg7b6
https://dl.doubtnut.com/l/_QZ2UWXMYxJlW
https://dl.doubtnut.com/l/_W7RtjLOzGHrd


2. Evaluate the following definite intergrals as limit of sums. 

b
x + 1adx

View Text Solution

3. Evaluate the following definite intergrals . 

3

∫2x2dx

Watch Video Solution

4. Evaluate the following definite integrals as limit of sums. 

∫
4
1 x2 - x dx

Watch Video Solution

( )

https://dl.doubtnut.com/l/_k5RIHDqevbHx
https://dl.doubtnut.com/l/_FiP7sQbMAX3Y
https://dl.doubtnut.com/l/_5uCP5IQUdtV4


EXERCISE 7.9

5. Evaluate the following definite integrals as limit of sums. 

∫
1
- 1e

xdx

Watch Video Solution

6. Evaluate the following definite intergrals as limit of sums. 

4

∫0 x + e2x dx

View Text Solution

( )

7. find the following definite trigonometric integral as limit of sums. 

π

∫0sinxdx

Watch Video Solution

https://dl.doubtnut.com/l/_zyvV8X2higu5
https://dl.doubtnut.com/l/_clboWPsJzn8S
https://dl.doubtnut.com/l/_C6JqZ685ePEW
https://dl.doubtnut.com/l/_8jaYIJBnhZSe


1. Evaluate the definite integrals 

∫
1
- 1(x + 1)dx

Watch Video Solution

2. Evaluate the definite integrals 

∫
3
2
1
x
dx

Watch Video Solution

3. Evaluate the definite integral in exercise 

3
12
2
dx

View Text Solution

https://dl.doubtnut.com/l/_8jaYIJBnhZSe
https://dl.doubtnut.com/l/_D057HXQyK72n
https://dl.doubtnut.com/l/_JDLCrPATTUvL


4. Evaluate the definite integrals 

∫
π
40 sin2xdx

Watch Video Solution

5. Evaluate the definite integrals 

∫
π

20 cos2xdx

Watch Video Solution

6. Evaluate the definite integral in exercise 

5

∫4exdx

Watch Video Solution

https://dl.doubtnut.com/l/_0ZQvEH2WbpLi
https://dl.doubtnut.com/l/_Ol3YEgOrXNkb
https://dl.doubtnut.com/l/_hqmPXcP6hCXg


7. Evaluate the definite integral in exercise 
π
4

tanx0dx

Watch Video Solution

8. Evaluate the definite integral in exercise 
π

4

∫
π
0cosecxdx

Watch Video Solution

9. Evaluate the definite integral in exercise 

1

∫0
dx

√1 - x2

Watch Video Solution

https://dl.doubtnut.com/l/_hvQEU2ulXso3
https://dl.doubtnut.com/l/_yqwv9h70O43R
https://dl.doubtnut.com/l/_FrCB1WJRJ1G3


10. Evaluate the definite integral in exercise 

1
underst(0)∫

dx

1 + x2

View Text Solution

11. Evaluate the definite integrals 

∫
3
2

dx

x2 - 1

Watch Video Solution

12. Evaluate the definite integrals 

∫
π

20 cos2xdx

Watch Video Solution

https://dl.doubtnut.com/l/_bcVynNc03enb
https://dl.doubtnut.com/l/_gYXgUZ0oJfJv
https://dl.doubtnut.com/l/_8KjqkcgeXwld


13. Evaluate the definite integral in exercise 

3

∫2
xdx

x2 + 1

Watch Video Solution

14. Evaluate the definite integral in exercise 

1

∫0
2x + 3

5x2 + 1

Watch Video Solution

15. Evaluate the definite integral in exercise 

1

∫0xex
2
dx

Watch Video Solution

https://dl.doubtnut.com/l/_EPEXWaEVBAmf
https://dl.doubtnut.com/l/_Z2kXdTvvhwHO
https://dl.doubtnut.com/l/_wf95xxHQOWw0


16. Evaluate the definite integrals 

∫
2
1

5x2

x2 + 4x + 3

Watch Video Solution

17. Evaluate the definite integral in exercise 
π
4

∫0 2sec2x + x3 + 2 dx

Watch Video Solution

( )

18. Evaluate the definite integral in exercise 

π

∫0 sin2
x
2
- cos2

x
2

dx

Watch Video Solution

( )

https://dl.doubtnut.com/l/_b4aUo5k9GNDp
https://dl.doubtnut.com/l/_4xQvFYhBNRqL
https://dl.doubtnut.com/l/_c2AkKI8PUaRm


19. Evaluate the definite integral in exercise 

2

∫0
6x + 3

x2 + 4
dx

Watch Video Solution

20. Evaluate the definite integral in exercise 

1

∫0 xex + sin
πx
4

dx

Watch Video Solution

( )

21. 
√3

∫1
dx

1 + x2
= .... .

A. 
π
3

B. 
2π
3

C. 
π
6

https://dl.doubtnut.com/l/_evvteXYA96JS
https://dl.doubtnut.com/l/_UdSGpgOcsWde
https://dl.doubtnut.com/l/_iFJICnpLTlMf


D. 
π
12

Answer: D

Watch Video Solution

22. 

2
3

∫0
dx

4 + 9x2
= ....

A. 
π
6

B. 
π
12

C. 
π
24

D. 
π
4

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_iFJICnpLTlMf
https://dl.doubtnut.com/l/_YmPjgMF7UwKV


EXERCISE 7.10

1. Evaluate the integrals in exercise. 

1

∫0
x

x2 + 1
dx

Watch Video Solution

2. Evaluate the integrals by using substitution 

∫
π

20 √sinϕcos5ϕdϕ

Watch Video Solution

3. Evaluate the integrals by using substitution 

∫
1
0sin

- 1 2x

1 + x2
dx

Watch Video Solution

( )

https://dl.doubtnut.com/l/_h2yfu2HNfCsM
https://dl.doubtnut.com/l/_CnAl3xXLxskh
https://dl.doubtnut.com/l/_Hp8a0fgZrgcK


4. Evaluate the integrals in exercise. 

2

∫0√x + 2dx

Watch Video Solution

5. Evaluate the integrals in exercise. 
π

2

∫0
sinx

1 + cos2x
dx

Watch Video Solution

6. Evaluate the integrals by using substitution 

∫
2
0

dx

x + 4 - x2

Watch Video Solution

https://dl.doubtnut.com/l/_vrz0cQls9ANA
https://dl.doubtnut.com/l/_maoIR9F4EclT
https://dl.doubtnut.com/l/_QScf5x6zz2Pl


7. Evaluate the integrals in exercise. 

1

∫ - x
dx

x2 + 2x + 5

Watch Video Solution

8. Evaluate the integrals in exercise. 

2
1
x
-

1

2x2
1e2x + dx

Watch Video Solution

9. Choose the correct answer 

The value of the integral ∫
1
1

3

x - x3
1
3

x4
dx is

A. 6

B. 0

( )

https://dl.doubtnut.com/l/_91pYvD6MIZlb
https://dl.doubtnut.com/l/_hdsRQpbFipK8
https://dl.doubtnut.com/l/_dwhNhHMdq2xN


C. 3

D. 4

Answer: A

Watch Video Solution

10. If f(x) =
x
t0sintdt,  then f(x)=.....

A. cosx + xsinx

B. xsinx

C. xcosx

D. sinxx + xcosx

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_dwhNhHMdq2xN
https://dl.doubtnut.com/l/_YIyTMBnqzFmZ


EXERCISE 7.11

1. By using the properties of definite integrals evaluate the integrals in

exercise. 
π
2

∫0cos2xdx

Watch Video Solution

2. By using the properties of definite integrals evaluate the integrals

in exercise. 
π
2

∫0
√sinx

√sinx + √cosx
dx

Watch Video Solution

( )

3. By using the properties of definite integrals evaluate the integrals

in exercise. 

https://dl.doubtnut.com/l/_0PtnMAE7SX1O
https://dl.doubtnut.com/l/_WhpYl4CzoEFY
https://dl.doubtnut.com/l/_TeaaLMKBgAxN


π
2

∫o
sin

3
2xdx

sin
3
2x + cos

3
2x

Watch Video Solution

4. By using the properties of definite integrals evaluate the integrals

in exercise. 
π
2

∫0
cos5x

sin5x + cos5x
dx

Watch Video Solution

5. By using the properties of definite integrals evaluate the integrals

in exercise. 

5

∫ - 5|x + 2|dx

Watch Video Solution

https://dl.doubtnut.com/l/_TeaaLMKBgAxN
https://dl.doubtnut.com/l/_g2dGy1M8Axxs
https://dl.doubtnut.com/l/_iE3tT8ttG6sm


6. By using the properties of definite integrals evaluate the integrals

in exercise. 

8

∫2|x - 5|dx

Watch Video Solution

7. By using the properties of definite integrals evaluate the integrals in

exercise. 

1

∫0x(1 - x)ndx

Watch Video Solution

8. By using the properties of definite integrals evaluate the integrals

in exercise. 
π

4

∫0log(1 + tanx)dx

Watch Video Solution

https://dl.doubtnut.com/l/_uqCqiLZMCJy3
https://dl.doubtnut.com/l/_OWovqOPs0LVs
https://dl.doubtnut.com/l/_EsVCZfYyMmiD


9. By using the properties of definite integrals, evaluate the integrals 

∫
2
0x√2 - xdx

Watch Video Solution

10. By using the properties of definite integrals evaluate the integrals

in exercise. 
π

2

∫0(2logsinx - logsin2x)dx

Watch Video Solution

11. By using the properties of definite integrals, evaluate the integrals 

∫
π
2
- π
2

sin2xdx

Watch Video Solution

https://dl.doubtnut.com/l/_EsVCZfYyMmiD
https://dl.doubtnut.com/l/_CSCVFlq1mlye
https://dl.doubtnut.com/l/_tl5iQhzxACsW
https://dl.doubtnut.com/l/_CC4QHSaTjtsU


12. By using the properties of definite integrals, evaluate the integrals 

∫
π
0

xdx
1 + sinx

Watch Video Solution

13. By using the properties of definite integrals, evaluate the integrals 

∫
π
2
- π
2

sin7xdx

Watch Video Solution

14. By using the properties of definite integrals, evaluate the integrals 

∫
2π
0 cos

5xdx

Watch Video Solution

https://dl.doubtnut.com/l/_nuA9NkuUfbpn
https://dl.doubtnut.com/l/_6ZzpmfGVidAq
https://dl.doubtnut.com/l/_1XsPDf1HqG6O


15. By using the properties of definite integrals, evaluate the integrals 

∫
π
20
sinx - cosx
1 + sinxcosx

dx

Watch Video Solution

16. By using the properties of definite integrals, evaluate the integrals 

∫
π
0log(1 + cosx)dx

Watch Video Solution

17. By using the properties of definite integrals evaluate the integrals

in exercise. 

a

∫0
√x

√x + √a - x
dx

Watch Video Solution

https://dl.doubtnut.com/l/_cZUQDppVaLw8
https://dl.doubtnut.com/l/_RfnhS60tmSFW
https://dl.doubtnut.com/l/_Ixg2uKNXAV7s


18. By using the properties of definite integrals, evaluate the integrals 

∫
4
0|x - 1|dx

Watch Video Solution

19. Show that ∫
a
0f(x)g(x)dx = 2∫

a
0f(x)dx, if f and g are defined as f (x) = f

(a - x) and g(x) + g(a - x) = 4

Watch Video Solution

20. Choose the correct answer 

The value of ∫
π
2
- π

2

x3 + xcosx + tan5x + 1 dx is

A. 0

B. 2

C. π

( )

https://dl.doubtnut.com/l/_YkKzVtOUa2a2
https://dl.doubtnut.com/l/_S4RhyFcCwOUa
https://dl.doubtnut.com/l/_RdycFPkK5smt


D. 1

Answer: C

Watch Video Solution

21. Choose the correct answer 

The value of ∫
π
20 log

4 + 3sinx
4 + 3cosx

dx is

A. 2

B. 
3
4

C. 0

D. -2

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_RdycFPkK5smt
https://dl.doubtnut.com/l/_cDC8lKTcY8CS


MISCELLANEOUS EXERCISE-7

1. Integrate the function is Exercise. 

1

x - x3

Watch Video Solution

2. Integrate the function is Exercise. 

1

√x + a + √x + b

View Text Solution

3. Integrate the functions 

1

x√ax - x2
 [Hint: Put x =

a
t

]

Watch Video Solution

https://dl.doubtnut.com/l/_3XXJ8juWR28b
https://dl.doubtnut.com/l/_r1pVqEbAxnRI
https://dl.doubtnut.com/l/_k5adoUILtD79
https://dl.doubtnut.com/l/_n40JV2MVZU6U


4. Integrate the function is Exercise. 

I

x2 x4 + 1
3

4

Watch Video Solution

( )

5. Integrate the functions 

1

x
1

2 + x
1

3

 [Hint: 
1

x
1

2 + x
1

3

=
1

x
1

3 1 + x
1

6

, put x = t6]

Watch Video Solution

( )

6. Integrate the functions 

5x

(x + 1) x2 + 9

Watch Video Solution

( )

https://dl.doubtnut.com/l/_n40JV2MVZU6U
https://dl.doubtnut.com/l/_Nh0TC2nVkXPF
https://dl.doubtnut.com/l/_ZIzfCDdZlE3i
https://dl.doubtnut.com/l/_y4BNh31Dp9k9


7. Integrate the functions 

sinx
sin(x - a)

Watch Video Solution

8. Integrate the function is Exercise. 

e5log - e4logx

e3logx - e2logx

Watch Video Solution

9. Integrate the function 

x + 2

√4x - x2

Watch Video Solution

https://dl.doubtnut.com/l/_y4BNh31Dp9k9
https://dl.doubtnut.com/l/_GfYUsuOjFF9T
https://dl.doubtnut.com/l/_ux1YqaTmwikc


10. Integrate the functions 

sin8 - cos8x

1 - 2sin2xcos2x

Watch Video Solution

11. Find the integrals of the functions 

1
cos(x– a)cos(x– b)

Watch Video Solution

12. Integrate the functions 

x3

√1 - x8

Watch Video Solution

https://dl.doubtnut.com/l/_sl39zX6rQGU0
https://dl.doubtnut.com/l/_xrxM25RsljpP
https://dl.doubtnut.com/l/_BFl4iFouSvXx


13. Integrate the functions 

ex

1 + ex 2 + ex

Watch Video Solution

( )( )

14. Integrate the function is Exercise. 

1

x2 + 1 x2 + 4

Watch Video Solution

( )( )

15. Integrate the function is Exercise. 

cos3xelogsinx

Watch Video Solution

https://dl.doubtnut.com/l/_EUtgisG7XbEh
https://dl.doubtnut.com/l/_rZIlZwIVSQSq
https://dl.doubtnut.com/l/_fJKbPrItCUJo


16. Integrate the functions 

e3logx x4 + 1 - 1

Watch Video Solution

( )

17. Integrate the functions 

f′ (ax + b)[f(ax + b)]n

Watch Video Solution

18. Integrate the function is. 

1

√sin3xsin(x + α)

Watch Video Solution

https://dl.doubtnut.com/l/_L9mLH4Oc5Qby
https://dl.doubtnut.com/l/_ej3qG3NBtPZX
https://dl.doubtnut.com/l/_m32RUTnOL4ci


19. Integrate the function is Exercise. 

sin - 1√x - cos - 1√x
sin - 1√x + cos - 1√x

, x ∈ [0, 1]

View Text Solution

20. Integrate the function is Exercise. 

1 - √x
1 + √x

Watch Video Solution

√

21. Integrate the functions 

2 + sin2x
1 + cos2x

ex

Watch Video Solution

https://dl.doubtnut.com/l/_QUsmqMruiIgT
https://dl.doubtnut.com/l/_73LjHE4Frt3V
https://dl.doubtnut.com/l/_ae4xygxdViOK


22. Integrate the function is Exercise. 

x2 + x + 1

(x + 1)2 + (x + 2)

Watch Video Solution

23. Integrate the functions 

tan - 1
1 - x
1 + x

Watch Video Solution

√

24. Integrate the function is 
xcos - 1x

√1 - x2

Watch Video Solution

https://dl.doubtnut.com/l/_2NcRjG9WBQN4
https://dl.doubtnut.com/l/_KrWIFad5PQaH
https://dl.doubtnut.com/l/_TCrczlapCulG


25. Evaluate the definite integrals 

∫
π
π
2
ex

1 - sinx
1 - cosx

dx

Watch Video Solution

( )

26. Evaluate the definite integrals 

∫
π

40
sinxcosx

cos4x + sin4x
dx

Watch Video Solution

27. Evaluate the definite integrals in exercise. 
π
2

∫0
cos2xdx

cos2x + 4sin2x

Watch Video Solution

https://dl.doubtnut.com/l/_2jLs1M2dYisW
https://dl.doubtnut.com/l/_HCXK4D353bQt
https://dl.doubtnut.com/l/_gCmXFbMfgmi7


28. Evaluate the definite integrals in exercise. 
π
3

∫
π

6

sinx + cosx

√sin2x
dx

Watch Video Solution

29. Evaluate the definite integrals 

∫
1
0

dx

√1 + x - √x

Watch Video Solution

30. Evaluate the definite integrals 

∫
π
40
sinx + cosx
9 + 16sin2x

dx

Watch Video Solution

https://dl.doubtnut.com/l/_kKgaYsfaltfC
https://dl.doubtnut.com/l/_LsLbI91QAzuE
https://dl.doubtnut.com/l/_TxvgOKmn3Zbx


31. Evaluate the definite integrals 

∫
π
20 sin2xtan - 1(sinx)dx

Watch Video Solution

32. Evaluate the definite integrals 

∫
π
0

xtanx
secx + tanx

dx

Watch Video Solution

33. Evaluate the definite integrals 

∫
4
1[|x - 1| + |x - 2| + |x - 3|]dx

Watch Video Solution

https://dl.doubtnut.com/l/_rMvydSWG85RR
https://dl.doubtnut.com/l/_xP3kyCLQpmT9
https://dl.doubtnut.com/l/_ZFT5N63ZBuRx


34. Evaluate the following definite integrals : 

∫
3
1

dx

x2(x + 1)

Watch Video Solution

35. Prove the following 

∫
1
0xe

xdx = 1

Watch Video Solution

36. Prove the following 

∫
1
- 1x

17cos4xdx = 0

Watch Video Solution

https://dl.doubtnut.com/l/_j4o4Wse1anmV
https://dl.doubtnut.com/l/_eTXiU1ACebEU
https://dl.doubtnut.com/l/_hmScrUE80iT6


37. Prove the following 
π
2

∫0sin3xdx =
2
3

Watch Video Solution

38. Prove the following 
π
4

∫02tan3xdx = 1 - log2

Watch Video Solution

39. Prove the following 

1

∫0sin - 1xdx =
π
2 - 1

Watch Video Solution

https://dl.doubtnut.com/l/_rGPOVAPzmQz2
https://dl.doubtnut.com/l/_G4VvXKjwxTEY
https://dl.doubtnut.com/l/_q4C2ahgfiXsk


40. Evaluate ∫
1
0e

2 - 3xdx as a limit of a sum.

Watch Video Solution

41. Choose the correct answers 

∫
dx

ex + e - x
 is equal to

A. tan1 - ex + c

B. tan - 1 e - x + c

C. log ex - e - x + c

D. log ex + e - x + c

Answer: A

Watch Video Solution

( )
( )

( )
( )

https://dl.doubtnut.com/l/_2tAXhYcS1gV4
https://dl.doubtnut.com/l/_AeTJrniFmcR2


42. Choose the correct answers 

∫
cos2x

(sinx + cosx)2
dx is equal to

Watch Video Solution

43. Choose the correct answers 

If f (a + b - x) = f (x), then ∫
b
axf(x) dx is equal to

A. 
a + b
2

b

∫af(b - x)dx

B. 
a + b
2

b

∫af(b + x)dx

C. 
a - b
2

b

∫af(x)dx

D. 
a + b
2

b

∫af(x)dx

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_XfZ4CqmgjxxK
https://dl.doubtnut.com/l/_wZDVCTDywnNt
https://dl.doubtnut.com/l/_mk5CYjYbyhP1


TEXTBOOK ILLUSTRATIONS FOR PRACTICE WORK

44. Choose the correct answers 

The value of ∫
1
0tan

- 1 2x - 1

1 + x - x2
dx is

A. 1

B. 0

C. -1

D. 
π
4

Answer: B

Watch Video Solution

( )

1. Write an anti derivative for each of the following functions using the

method of inspection: 

(i) cos2x (ii) 3x2 + 4x3 (iii) 
1
x
, x ≠ 0

https://dl.doubtnut.com/l/_mk5CYjYbyhP1
https://dl.doubtnut.com/l/_L8njXSwTmzZf


Watch Video Solution

2. Find the following integrals: 

(i) ∫
x3 - 1

x2
dx (ii) ∫ x

2

3 + 1 dx (iii) ∫ x
3

2 + 2ex -
1
x

dx

Watch Video Solution

( ) ( )

3. Find the following integrals : 

(i) ∫ (sinx + cosx)dx 


(ii) ∫cosecx(cosecx + cotx)dx 


(iii) ∫
1 - sinx

cos2x
dx

Watch Video Solution

4. Find the anti derivative F of f defined by f (x) = 4x3 - 6, where F (0) =

3

https://dl.doubtnut.com/l/_L8njXSwTmzZf
https://dl.doubtnut.com/l/_gcVhxhsML1qB
https://dl.doubtnut.com/l/_CIpsVaOPli18
https://dl.doubtnut.com/l/_ezfsURqQe2ep


Watch Video Solution

5. Integrate the following functions w.r.t. x: 

(i) sinmx (ii) 2xsin x2 + 1  (iii) 
tan4√xsec2√x

√x
 (iv) 

sin tan - 1x

1 + x2

Watch Video Solution

( )
( )

6. Find the following integrals: 

(i) ∫sin3xcos2xdx (ii) ∫
sinx

sin(x + a)
dx (iii) ∫

1
1 + tanx

dx

Watch Video Solution

7. Find (i) ∫cos2x, dx(ii)∫sin(2x)cos(3x)dx, 


(iii) ∫sin3xdx.

Watch Video Solution

https://dl.doubtnut.com/l/_ezfsURqQe2ep
https://dl.doubtnut.com/l/_84SLSQaX90pI
https://dl.doubtnut.com/l/_coH4Hf3bRp7K
https://dl.doubtnut.com/l/_ui5T3ahShyig


8. Find the following integrals: 

∫
dx

x2 - 16
 (ii) ∫

dx

√2x - x2

Watch Video Solution

9. Find the following integral : 

∫
dx

x2 - 6x + 13

Watch Video Solution

10. Find the following integral : 

∫
x + 2

2x2 + 6x + 5
dx

Watch Video Solution

11. Find ∫
dx

(x + 1)(x + 2)

https://dl.doubtnut.com/l/_lcUX4wgzo6Ra
https://dl.doubtnut.com/l/_mEb58m8UKirp
https://dl.doubtnut.com/l/_NokpfPtFRNo8
https://dl.doubtnut.com/l/_bY68XL1gYcMG


Watch Video Solution

12. Find ∫
x2 + 1

x2 - 5x + 6
dx

Watch Video Solution

13. Find ∫
3x - 2

(x + 1)2(x + 3)
dx

Watch Video Solution

14. Find ∫
x2

x2 + 1 x2 + 4
dx

Watch Video Solution

( )( )

15. Find ∫
(3sinϕ - 2)cosϕ

5 - cos2ϕ - 4sinϕ
dϕ

https://dl.doubtnut.com/l/_bY68XL1gYcMG
https://dl.doubtnut.com/l/_nwcI5FyaPef2
https://dl.doubtnut.com/l/_vuK7i6FK5K6i
https://dl.doubtnut.com/l/_YepUyuFDx1Kc
https://dl.doubtnut.com/l/_OjXlCuICdxq0


Watch Video Solution

16. Find ∫
x2 + x + 1dx

(x + 2) x2 + 1

Watch Video Solution

( )

17. Find ∫xcosxdx.

Watch Video Solution

18. Find ∫ logxdx

Watch Video Solution

19. Find ∫xexdx

Watch Video Solution

https://dl.doubtnut.com/l/_OjXlCuICdxq0
https://dl.doubtnut.com/l/_Jz3utE6tyCe9
https://dl.doubtnut.com/l/_fqCgHsrjHCcg
https://dl.doubtnut.com/l/_6hCncv32LtKW
https://dl.doubtnut.com/l/_OaUYMwRUn6Va


20. Find ∫
xsin - 1x

√1 - x2
dx

Watch Video Solution

21. Find ∫exsinx.

Watch Video Solution

22. Find (i) ∫ex tan - 1x +
1

1 + x2
dx (ii) ∫

x2 + 1 ex

(x + 1)2
dx

Watch Video Solution

( ) ( )

23. Find ∫√x2 + 2x + 5dx

Watch Video Solution

https://dl.doubtnut.com/l/_OaUYMwRUn6Va
https://dl.doubtnut.com/l/_PysfRAM5ULBm
https://dl.doubtnut.com/l/_8mhkpPdwmPCV
https://dl.doubtnut.com/l/_R12ajxrQ3vVf
https://dl.doubtnut.com/l/_jPLauV4m8QL4


Watch Video Solution

24. Find ∫√3 - 2x - x2dx

Watch Video Solution

25. Find ∫x√1 + x - x2dx as the limit of sum.

Watch Video Solution

26. Find ∫
2
0 x2 + 1 dx as the limit of a sum.

Watch Video Solution

( )

27. Evaluate ∫
2
0e

xdx as the limit of a sum.

Watch Video Solution

https://dl.doubtnut.com/l/_jPLauV4m8QL4
https://dl.doubtnut.com/l/_nTgcfaMg4Ku0
https://dl.doubtnut.com/l/_Wjg90J3jBlyo
https://dl.doubtnut.com/l/_bhfv4GWWCOUl
https://dl.doubtnut.com/l/_xUQhblniQxlE


28. Evaluate the following integrals: 

(i) ∫
3
2x

2dx (ii) ∫
9
4

√x

30 - x
3
2

2
dx 


(iii) ∫
2
1

xdx
(x + 1)(x + 2)

 (iv) ∫
π
40 sin32tcos2tdt

Watch Video Solution

( )

29. Evaluate 
1

∫ - 15x4√x5 + 1dx

Watch Video Solution

30. Evaluate ∫
1
0
tan - 1x

1 + x2
dx

Watch Video Solution

https://dl.doubtnut.com/l/_grHDIOipyjlT
https://dl.doubtnut.com/l/_iZgbb5nRRkv1
https://dl.doubtnut.com/l/_AwcBlu4Zz5ZL


31. Evaluate ∫
2
- 1 x3 - x dx

Watch Video Solution

| |

32. Evaluate ∫
π

4
- π
4

sin2xdx

Watch Video Solution

33. Evaluate ∫
π
0

xsinx

1 + cos2x
dx

Watch Video Solution

34. Evaluate ∫
1
- 1sin

5xcos4xdx

Watch Video Solution

https://dl.doubtnut.com/l/_7FWea0td93Hi
https://dl.doubtnut.com/l/_OOa1SFhA35W2
https://dl.doubtnut.com/l/_L9FyeXLdYYTE
https://dl.doubtnut.com/l/_qCnBOZE0G0gy


35. Evaluate ∫
π
20

sin4x

sin4x + cos4x
dx

Watch Video Solution

36. Evaluate ∫
π

3π

6

dx

1 + √tanx

Watch Video Solution

37. Evaluate ∫
π

20 logsinxdx

Watch Video Solution

38. Evaluate ∫cos(6x)√1 + sin(6x)dx.

Watch Video Solution

https://dl.doubtnut.com/l/_eXeWgI68ABXz
https://dl.doubtnut.com/l/_hR8GrFoclXtA
https://dl.doubtnut.com/l/_I5t69Z77ahbd
https://dl.doubtnut.com/l/_ryZUSrCZT7Gu
https://dl.doubtnut.com/l/_q6F02MmkPglK


39. Find ∫
x4 - x

1
4

x5
dx

Watch Video Solution

( )

40. Find ∫
x4dx

(x - 1) x2 + 1

Watch Video Solution

( )

41. Find ∫ log(logx) +
1

(logx)2
dx

Watch Video Solution

[ ]

42. Find ∫ √cotx + √tanx dx

Watch Video Solution

[ ]

https://dl.doubtnut.com/l/_q6F02MmkPglK
https://dl.doubtnut.com/l/_vrPwrGu4Nhrb
https://dl.doubtnut.com/l/_m1hJ2lmXuiPD
https://dl.doubtnut.com/l/_aw6CCVIRWjKY


SOLUTIONS OF NCERT EXEMLAR PROBLEMS (Short Answer Type

Questions)

43. Find ∫
sin2xcos2xdx

√9 - cos4(2x)

Watch Video Solution

44. Evaluate ∫
3
2- 1|xsinπx|dx

Watch Video Solution

45. Evaluate ∫
π
0

xdx

a2cos2x + b2sin2x

Watch Video Solution

https://dl.doubtnut.com/l/_LmWCHXOqqaqn
https://dl.doubtnut.com/l/_SkFaDYiM1Kfj
https://dl.doubtnut.com/l/_VihwN6QZGWDC


1. Obtain the following integrals : 

∫
2x - 1
2x + 3

dx

Watch Video Solution

2. Obtain the following integrals : 

∫
2x + 3

x2 + 3x
dx

Watch Video Solution

3. Obtain the following integrals : 

∫
x2 + 2

x + 1
dx

View Text Solution

( )

https://dl.doubtnut.com/l/_dsfImQ5LG0uH
https://dl.doubtnut.com/l/_YGVloXhV9je8
https://dl.doubtnut.com/l/_2RuFZXo9pdsB


4. Obtain the following integrals : 

∫
e6logx - e5logx

e4logx - e3logx
dx

Watch Video Solution

5. Obtain the following integrals : 

∫
1 + cosx
x + sinx

dx

Watch Video Solution

6. Obtain the following integrals : 

∫
1

1 + cosx dx

Watch Video Solution

https://dl.doubtnut.com/l/_84lEN7HLDZWi
https://dl.doubtnut.com/l/_hXEoZIBSykm6
https://dl.doubtnut.com/l/_0sNJFZc6alM3


7. Obtain the following integrals : 

∫ tan2xsec4xdx

Watch Video Solution

8. Obtain the following integrals : 

∫
sinx + cosx

√1 + sin(2x)
dx

Watch Video Solution

9. Obtain the following integrals : 

∫√1 + sinxdx

Watch Video Solution

https://dl.doubtnut.com/l/_TcVZJoZ4WMXy
https://dl.doubtnut.com/l/_OZ1D4YeyS92F
https://dl.doubtnut.com/l/_uURTA2297k7K


10. Obtain the following integrals : 

∫
x

√x + 1
dx

View Text Solution

11. Obtain the following integrals : 

∫
a + x
a - x dx

Watch Video Solution

√

12. Obtain the following integrals : 

∫
x
1
2

1 + x
3
4

dx

View Text Solution

https://dl.doubtnut.com/l/_RDUMceL8vlZW
https://dl.doubtnut.com/l/_aXf2HuRWKbNe
https://dl.doubtnut.com/l/_7ntCNbbWlgrt


13. Obtain the following integrals : 

∫
√1 + x2

x4
dx

Watch Video Solution

14. Obtain the following integrals : 

∫
1

√16 - 9x2
dx

Watch Video Solution

15. Obtain the following integrals : 

∫
1

√3t - 2t2
dt

Watch Video Solution

https://dl.doubtnut.com/l/_TWFs5q7ZwJ2G
https://dl.doubtnut.com/l/_vCxZgKfmZUqp
https://dl.doubtnut.com/l/_GVUm2yW2Dmxg


16. Obtain the following integrals : 

∫
3x - 1

√x2 + 9
dx

Watch Video Solution

17. Obtain the following integrals : 

∫√5 - 2x + x2dx

Watch Video Solution

18. Obtain the following integrals : 

∫
x

x4 - 1
dx

Watch Video Solution

https://dl.doubtnut.com/l/_752y7XXmArwL
https://dl.doubtnut.com/l/_nqdnrGeIfT08
https://dl.doubtnut.com/l/_UpuUuZuUGvaC


19. Obtain the following integrals : 

∫
x2

1 - x4
dx

Watch Video Solution

20. Obtain the following integrals : 

∫√ax - x2dx

Watch Video Solution

21. Obtain the following integrals : 

∫
sin - 1x

1 - x2
3
2

dx

Watch Video Solution

( )

https://dl.doubtnut.com/l/_bqxjsE268iTb
https://dl.doubtnut.com/l/_okzMvpXgIb18
https://dl.doubtnut.com/l/_afUCGvYp10gK


22. Obtain the following integrals : 

∫
cos(5x) + cos(4x)
1 - 2cos(3x)

dx

Watch Video Solution

23. Find the integrals of the following functions : 

∫
sin6x + cos6x

sin2xcos2x
dx

Watch Video Solution

24. Integrate the following functions. 

∫
√x

√a3 - x3
dx

Watch Video Solution

https://dl.doubtnut.com/l/_aabgFv5DJeTE
https://dl.doubtnut.com/l/_OJc5hYM3pCjg
https://dl.doubtnut.com/l/_ZYyp7pkkvFDg


25. Find the following integrals 

∫
cosx - cos2x
1 - cosx

dx

Watch Video Solution

26. Obtain the following integrals : 

∫
1

x√x4 - 1
dx

Watch Video Solution

27. Represent as limit of sum :
2

∫0 x2 + 3 dx

Watch Video Solution

( )

28. Represent as limit of sum :
2

∫0exdx

https://dl.doubtnut.com/l/_DtAuc8JSqCNZ
https://dl.doubtnut.com/l/_NJp2JlqZ2UMX
https://dl.doubtnut.com/l/_iqDNC4eGw1GL
https://dl.doubtnut.com/l/_bcqWbQjZJsln


Watch Video Solution

29. Obtain following definite integrals : 

1

∫0
dx

ex + e - x

View Text Solution

30. Obtain following definite integrals : 
π
2

∫0
tanx

1 + m2tan2x
dx

Watch Video Solution

31. Obtain following definite integrals : 

2

∫1
1

√(x - 1)(2 - x)
dx

Watch Video Solution

https://dl.doubtnut.com/l/_bcqWbQjZJsln
https://dl.doubtnut.com/l/_P6x9q1BlWheb
https://dl.doubtnut.com/l/_csBVtk8ltVjO
https://dl.doubtnut.com/l/_qPhPoVEU13dZ
https://dl.doubtnut.com/l/_5cRsqtgFOWsC


SOLUTIONS OF NCERT EXEMLAR PROBLEMS (Long Answer Type

Questions)

32. Obtain following definite integrals : 

1

∫0
x

√1 + x2
dx

Watch Video Solution

33. Obtain following definite integrals : 

π

∫0xsinxcos2xdx

Watch Video Solution

1. ∫
x2

x4 - x2 - 12
dx

Watch Video Solution

https://dl.doubtnut.com/l/_5cRsqtgFOWsC
https://dl.doubtnut.com/l/_O8qmpPKzhjPQ
https://dl.doubtnut.com/l/_Gn2U2W1dPGah


2. ∫
x2

x2 + a2 x2 + b2
dx

Watch Video Solution

( )( )

3. 
π

∫0
x

1 + sinx
dx

Watch Video Solution

4. Integrate the following rational functions : 

∫
2x - 1

(x - 1)(x + 2)(x - 3)dx

Watch Video Solution

5. ∫
etan

- 1 ( x )

1 + x2
1 + x + x2 dx = ... + c

Watch Video Solution

( )

https://dl.doubtnut.com/l/_0ThQzlZk7yZf
https://dl.doubtnut.com/l/_imQMuaYuQYpg
https://dl.doubtnut.com/l/_NWJ6Kwtfeifh
https://dl.doubtnut.com/l/_8lcwDtyihNvD


6. ∫sin
x

x + a
dx

Watch Video Solution

(√ )

7. 

π
2

∫
π

3

√1 + cosx

(1 - cosx)
5
2

dx

Watch Video Solution

8. ∫e - 3xcos3xdx

Watch Video Solution

9. ∫√tanxdx

Watch Video Solution

https://dl.doubtnut.com/l/_8lcwDtyihNvD
https://dl.doubtnut.com/l/_lSNF2ogZzAQ6
https://dl.doubtnut.com/l/_tkBSeRsmke2F
https://dl.doubtnut.com/l/_cCuCnmo3LUGc
https://dl.doubtnut.com/l/_nLUMRmF7sHXn


10. 

π
2

∫0
1

a2cos2x + b2sin2x
2
dx

View Text Solution

( )

11. 
1

∫0xlog(1 + 2x)dx

Watch Video Solution

12. 
π

∫0xlog(sinx)dx

Watch Video Solution

13. 

π
4

∫ -
π

4 log(sinx + cosx)dx

https://dl.doubtnut.com/l/_nLUMRmF7sHXn
https://dl.doubtnut.com/l/_GONimnvr5Wzr
https://dl.doubtnut.com/l/_xeulI9vB2fhH
https://dl.doubtnut.com/l/_l92zj3l2edEs
https://dl.doubtnut.com/l/_n9savJWm5sF5


SOLUTIONS OF NCERT EXEMLAR PROBLEMS (Objective Type Questions)

Watch Video Solution

1. ∫
cos2x - cos2θ
cosx - cosθ

dx = .... + C

A. 2(sinx + xcosθ)

B. 2(sinx - xcosθ)

C. 2(sinx + 2xcosθ)

D. 2(sinx - 2xcosθ)

Answer: A

Watch Video Solution

2. ∫
dx

sin(x - a)sin(x - b)
=...... + C

https://dl.doubtnut.com/l/_n9savJWm5sF5
https://dl.doubtnut.com/l/_iDT02esBfcOW
https://dl.doubtnut.com/l/_noEe5But1YbZ


A. sin(b - a)log
sin(x - b)
sin(x - b)

B. cosec(b - a)log
sin(x - b)
sin(x - b)

C. cosec(b - a)log
sin(x - b)
sin(x - a)

D. sin(b - a)log
sin(x - a)
sin(x - b)

Answer: C

Watch Video Solution

| |
| |
| |

| |

3. ∫ tan - 1 √x dx = ....

A. (x + 1)tan - 1√x - √x + C

B. xtan - 1√x - √x + C

C. √x - xtan - 1√x + C

D. √x - (x + 1)tan - 1√x + C

( )

https://dl.doubtnut.com/l/_noEe5But1YbZ
https://dl.doubtnut.com/l/_cUTa6WB2kr7H


Answer: A

Watch Video Solution

4. ∫
x9

4x2 + 1 6
dx

A. 
1
5x

4 +
1

x2
5

B. 
1
5

4 +
1

x2
- 5

C. 
1
10x

1 + 4x2 - 5

D. 
1
10

4 +
1

x2
- 5

Answer: D

Watch Video Solution

( )

( )
( )
( )

( )

https://dl.doubtnut.com/l/_cUTa6WB2kr7H
https://dl.doubtnut.com/l/_63atznozxgST


5. ∫
dx

(x + 2) x2 + 1
= alog 1 + x2 + btan - 1x +

1
5
log|x + 2| + C then ... Of

the following is true. 

a) a = -
1
10
, b = -

2
5




b) a =
1
10
, b = -

2
5




c) a = -
1
10
, b =

2
5




d) a =
1
10
, b =

2
5

A. a = -
1
10
, b = -

2
5

B. a =
1
10
, b = -

2
5

C. a = -
1
10
, b =

2
5

D. a =
1
10
, b =

2
5

Answer: C

Watch Video Solution

( )
| |

https://dl.doubtnut.com/l/_aWt5KYTYAhqJ


6. ∫
x3

x + 1
dx = .... . + C

A. x +
x2

2
+
x3

3
- log|1 - x|

B. x +
x2

2 -
x3

3 - log|1 - x|

C. x -
x2

2
-
x3

3
- log|1 + x|

D. x -
x2

2
+
x3

3
- log|1 + x|

Answer: D

Watch Video Solution

7. ∫
1 + cosx
x + sinx

dx = .... + C

A. log|1 + cosx|

B. log|x + sinx|

C. x - tan
x
2( )

https://dl.doubtnut.com/l/_7I43hFCRktgc
https://dl.doubtnut.com/l/_aTMD6LewX3Lb


D. x - tan
x
2

Answer: D

Watch Video Solution

( )

8. ∫
x3

√1 + x2
dx = a 1 + x2

3
2 + b ⋅√1 + x2 + C

A. a =
1
3
and b = 1

B. a = -
1
3
and b = 1

C. a = -
1
3
and b = - 1

D. a =
1
3
and b = - 1

Answer: D

Watch Video Solution

( )

https://dl.doubtnut.com/l/_aTMD6LewX3Lb
https://dl.doubtnut.com/l/_b5lFCyj7yMUw


9. 

π
4

∫ -
π

4

1
1 + cos(2x)

dx = .... .

A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

10. 

π

2

∫0√1 - sin(2x)dx = .... .

A. 2√2

B. 2 √2 + 1

C. 2

( )

https://dl.doubtnut.com/l/_QP34sov83YAt
https://dl.doubtnut.com/l/_72o02fTtQgSf


D. 2 √2 - 1

Answer: D

Watch Video Solution

( )

11. 

π
2

∫0cosx ⋅ esinxdx = ....

A. e + 1

B. e - 1

C. e

D. -e

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_72o02fTtQgSf
https://dl.doubtnut.com/l/_olA7KtmRYlTF


12. ∫
x + 3

(x + 4)2
exdx = .... . + C

A. ex
1

x + 4

B. e - x
1

x + 4

C. e - x
1

x - 4

D. e2x
1

x - 4

Answer: A

Watch Video Solution

( )
( )
( )
( )
( )

13. If 
a

∫0
1

1 + 4x2
dx =

π
8

 then a=.....

Watch Video Solution

https://dl.doubtnut.com/l/_tqtIIDl71y9M
https://dl.doubtnut.com/l/_5L1DAcNnBD2l


MULTIPLE CHOICE QUESTIONS(MCQS)

14. ∫
sinx

3 + 4cos2x
dx

Watch Video Solution

15. 
π

∫ -πsin3xcos2xdx = ...

Watch Video Solution

1. ∫ 1 + 2x + 3x2 + 4x3.... . dx = .... + c(|x| < 1)

A. (1 - x) - 1

B. (1 - x) - 1

C. (1 - x) - 2

D. None of these

( )

https://dl.doubtnut.com/l/_JzQYZBHE8h4W
https://dl.doubtnut.com/l/_aO72TCBVOrJr
https://dl.doubtnut.com/l/_hZLcUFWo99p4


Answer: B

Watch Video Solution

2. ∫
x6 - 1

x2 + 1
dx = .... + c

A. 
x5

5
-
x3

3
+ x - 2tan - 1x

B. 
x5

5
+
x3

3
+ x - 2tan - 1x

C. -
x5

5 +
x3

3 - x - 2tan - 1x

D. 
x7

7
+
x5

3
- x - 2tan - 1x

Answer: A

Watch Video Solution

3. ∫
sec2x - 1
sec2x + 1 dx = .... + c

https://dl.doubtnut.com/l/_hZLcUFWo99p4
https://dl.doubtnut.com/l/_xbqtoZaQ6ii0
https://dl.doubtnut.com/l/_1wzZrcTGBCWO


A. sec2 - c

B. tanx - x

C. sec2x + x

D. tanx + x

Answer: B

Watch Video Solution

4. 

∫sinx ⋅ cosx ⋅ cosx2x ⋅ cos4x ⋅ cos8x ⋅ cos16xdx = .... + c

A. 
sin16x
1024

B. 
-cos32x
1024

C. 
cos32x
1096

D. 
-cos32x
1096

https://dl.doubtnut.com/l/_1wzZrcTGBCWO
https://dl.doubtnut.com/l/_ht2PK5kaAHEV


Answer: B

Watch Video Solution

5. ∫ f(x)dx =
(logx)5

5
+ c then f(x) = ...

A. 
logx
4

B. 
(logx)4

x

C. 
(logx)3

5

D. 
(logx)6

6

Answer: B

Watch Video Solution

6. ∫exloga ⋅ exdx = .... + c

https://dl.doubtnut.com/l/_ht2PK5kaAHEV
https://dl.doubtnut.com/l/_N5wB9lsDfr7Y
https://dl.doubtnut.com/l/_iOqLaQNP1k9S


A. ax ⋅ ex

B. 
(ae)x

1 + loga

C. 
ex

log(ae)

D. 
ax

1 + logea

Answer: B

Watch Video Solution

7. ∫
dx

cosx - sinx
= ... + c

A. 
1

√2
log tan

x
2
+
π
8

B. 
1

√2
log tan

x
8
+

x
2

C. 
1

√2
log tan

x
2
-
3π
8

D. log cos
x
2

| ( ) |
| ( )|
| ( )|

| |

https://dl.doubtnut.com/l/_iOqLaQNP1k9S
https://dl.doubtnut.com/l/_a0AQ1O5PWGGI


Answer: A

Watch Video Solution

8. 

∫
dx

(1 + sinx)
1
2

= ... + c

A. √2log tan
3π
8 -

x
4

B. √2log cosec
π
8 +

x
2 - cot

π
8 +

x
2

C. √2log tan
π
8 +

x
4

D. √2log sec
π
2 +

x
4 - tan

π
2 +

x
4

Answer: C

Watch Video Solution

| ( )|
| ( ) ( )|
| ( )|
| ( ) ( )|

https://dl.doubtnut.com/l/_a0AQ1O5PWGGI
https://dl.doubtnut.com/l/_ryecFtHf480R


9. ∫√1 - sin2xdx = ......x ∈ 0,
π
4

A. - sinx + cosx + c

B. sinx - cosx + c

C. tanx + secx + c

D. sinx + cosx + c

Answer: D

Watch Video Solution

( )

10. If ∫
7
1
x

x2
dx = m ⋅ 7

1
x  then m....

A. 
-1
log7

B. - log7

C. -1

https://dl.doubtnut.com/l/_3J2b18eoNI6w
https://dl.doubtnut.com/l/_MlMzwBbuIRhp


D. 
1
7

Answer: A

Watch Video Solution

11. If ∫
10x9 + a10x - 1

x10 + 10x
dx = log x10 + 10x + c then a=......

A. log 10

B. kog102

C. log103

D. log1010

Answer: D

Watch Video Solution

( )

https://dl.doubtnut.com/l/_MlMzwBbuIRhp
https://dl.doubtnut.com/l/_7FWghouVWuZp


12. If 
1
f(x)

 is a anti-derivative of log[f(x)]2 + c then f(x)=...

A. x+k

B. 
x2

2
+ k

C. 
x
2
+ k

D. x2 + c

Answer: C

Watch Video Solution

13. ∫
x4 + x2 + 1

x2 + 1
dx = ...... + c

A. tan - 1x +
x4

4

B. 
x3

3
+ tan - 1x

C. log x2 + 1( )

https://dl.doubtnut.com/l/_6cuDFQK6kROQ
https://dl.doubtnut.com/l/_z2KJfxUs8RJC


D. 
x3

3
+
1
2
log

x + 1
x - 1

Answer: B

Watch Video Solution

| |

14. ∫√1 - cosxdx = ...... + c where 0 < x < π

A. -2√2cos
x
2

B. -√2cos
x
2

C. -
1
2
cos

x
2

D. 2cos
√2x
2

Answer: A

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_z2KJfxUs8RJC
https://dl.doubtnut.com/l/_doBCoL3Ax8Li
https://dl.doubtnut.com/l/_W0UrcS4Yti20


15. ∫
dx

sinx + √3 + cosx
= ....

A. log tan
x
2 +

π
2

B. 
1
2 log tan

x
2 +

π
6

C. log cot
x
2 +

π
6

D. 
1
2 log cot

x
2 +

π
6

Answer: B

Watch Video Solution

| ( ) |
| ( )|
| ( )|
| ( )|

16. ∫
sin2x

sin5x ⋅ sin3x
dx = .... . + c

A. log|sin3x| - log|sin5x|

B. 
1
3
log|sinx3x| +

1
5
|sin5x|

C. 
1
3
log|sinx3x| -

1
5
|sin5x|

https://dl.doubtnut.com/l/_W0UrcS4Yti20
https://dl.doubtnut.com/l/_ygtToZuRaaPK


D. 3log|sin3x| - 5
1
5
log|sin5x|

Answer: C

Watch Video Solution

17. ∫5x+1 ⋅ e2x - 1dx = .... + c

A. 
5x+1 ⋅ e2x - 1

log5

B. 
5x+1 ⋅ e2x - 1

log5e

C. 
5x+1 ⋅ e2x - 1

log5 + 2

D. 
5x+1 ⋅ e2x

5e

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ygtToZuRaaPK
https://dl.doubtnut.com/l/_6fA2CzTNlzYZ


18. ∫sin - 1(cosx)dx = ....

A. 
πx
2

B. 
π
12

C. 
πx - x2

2

D. 
πx + x2

2

Answer: C

Watch Video Solution

19. ∫
dx

tanx + cotx
= ....

A. 
cos2x
4

+ c

B. 
sin2x
4

+ c

C. -
sin2x
4

+ c

https://dl.doubtnut.com/l/_BVrtiZwcY494
https://dl.doubtnut.com/l/_D4X1Z30fT9x1


D. -
cos2x
4

+ c

Answer: D

Watch Video Solution

20. If f′ (x) = x2 + 5 and f(0) = - 1 then f(x)=...

A. x3 + 5x - 1

B. x3 + 5x + 1

C. 
1
3
x3 + 5x - 1

D. 
1
3
x3 + 5x + 1

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_D4X1Z30fT9x1
https://dl.doubtnut.com/l/_sbZLjdJ8375p


21. If ∫ (sin2x - cos2x)dx =
1

√2
sin(2x - a) + b then .....

A. a =
π
4 , b = 0

B. a = -
π
4 , b = 0

C. a =
5π
4 , b =  Any constant

D. a = -
5π
4 , b =  Any constant

Answer: D

Watch Video Solution

22. ∫ (secx + tanx)2dx = ...

A. 2(secx + tanx) - x + c

B. 
1
3 (secx + tanx)

3 + c

C. secx(secx + tanx) + c

https://dl.doubtnut.com/l/_M8yCZyAW5aLl
https://dl.doubtnut.com/l/_rE34OFY5Gze6


D. 2(secx + tanx) + c

Answer: A

Watch Video Solution

23. ∫x51 tan - 1x + cot - 1x dx = ...

A. 
x52

52 tan - 1x + cot - 1x + c

B. 
x52

52
tan - 1x - cot - 1x + c

C. 
πx52

104
+
π
2
+ c

D. 
x52

52
+
π
2
+ c

Answer: A

Watch Video Solution

( )

( )
( )

https://dl.doubtnut.com/l/_rE34OFY5Gze6
https://dl.doubtnut.com/l/_EYiqkW9s78hm


24. ∫
x - 1

(x + 1)2
dx = ....

A. log(x + 1) +
2

x + 1 + c

B. log(x + 1) -
2

x + 1 + c

C. 
2

x + 1 - log(x + 1) + c

D. None of these

Answer: A

Watch Video Solution

25. If ∫
dx

1 + sinx = tan
x
2 + a + b, then..

A. a =
π
4 , b = 3

B. a = -
π
4 , b = 3

C. a =
π
4 , b =  Arbitary constant

( )

https://dl.doubtnut.com/l/_A1FJy1CaVm9s
https://dl.doubtnut.com/l/_A8iq6KHGSQVz


D. a = -
π
4
, b =  Arbitary constant

Answer: D

Watch Video Solution

26. Find the integrals of the functions 

cos2x + 2sin2x

cos2x

A. 2secx + c

B. 2tanx + c

C. tanx + c

D. None of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_A8iq6KHGSQVz
https://dl.doubtnut.com/l/_NzdJPZxdZ1f5
https://dl.doubtnut.com/l/_dolpim6eI843


27. ∫
5 x6 + 1

x2 + 1
dx = ....

A. 5 x7 + x tan - 1x + c

B. x5 -
5
3x

3 + 5x + C

C. 3x4 - 5x2 + 15x + c

D. 5tan - 1 x2 + 1 dx = .... .

Answer: B

Watch Video Solution

( )

( )

( )

28. ∫
dx

sinx + √3 + cosx
= ....

A. logtan
x
2
+
π
2

+ c

B. 
1
2
logtan

x
2
+
π
6

+ c

C. logcot
x
2
+
π
6

+ c

( )
( )
( )

https://dl.doubtnut.com/l/_dolpim6eI843
https://dl.doubtnut.com/l/_ZV2j12PFjdp1


D. 
1
2
logcot

x
2
+
π
6

+ c

Answer: B

Watch Video Solution

( )

29. ∫
dx

4cos32x - 3cos2x
= ....

A. 
1
3 log[sec6x + tan6x] + c

B. 
1
6 log[sec6x + tan6x] + c

C. log[sec6x + tan6x] + c

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ZV2j12PFjdp1
https://dl.doubtnut.com/l/_sYKjbgc9oCqR


30. If ∫
f(x)dx
logsinx

= logsinx,  then f(x) = ....

A. sinx

B. cosx

C. logsinx

D. cotx

Answer: D

Watch Video Solution

31. ∫{1 + 2tanx(tanx + secx)}
1
2dx = ....

A. log(secx + tanx) + c

B. log(secx + tanx)
1
2 + c

C. logsecx(secx + tanx) + c

D. None of these

https://dl.doubtnut.com/l/_jtRQrOMesmlw
https://dl.doubtnut.com/l/_CQzdkkmkKTsP


Answer: C

Watch Video Solution

32. ∫
1 - tanx
1 + tanx

dx = .... .

A. logsec
π
4
- x + c

B. logsec
π
4
+ x + c

C. logsin
π
4
+ x + c

D. None of these

Answer: C

Watch Video Solution

( )
( )
( )

33. If ∫ f(x)dx = f(x), then ∫ [f(x)]2dx = ...

https://dl.doubtnut.com/l/_CQzdkkmkKTsP
https://dl.doubtnut.com/l/_7MrBcdGQeoya
https://dl.doubtnut.com/l/_kKD2bIe9xQrf


A. 
1
2
[f(x)]2

B. [f(x)]3

C. 
[f(x)]3

3

D. [f(x)]2

Answer: A

Watch Video Solution

34. If ∫√2√1 + sinxdx = - 4cos(ax + b) + c then the value of (a,b) is....

A. 
1
2
,
π
4

B. 1,
π
2

C. 1, 1

D. None of these

Answer: A

https://dl.doubtnut.com/l/_kKD2bIe9xQrf
https://dl.doubtnut.com/l/_LnP2v7bjCeYb


Watch Video Solution

35. ∫
dx

√1 - x
= . .

A. 2√1 - x + c

B. -2√1 - x + c

C. - sin - 1√x + c

D. sin - 1√x + c

Answer: B

Watch Video Solution

36. ∫
x4 + x2 + 1

x2 + 1
dx = ...... + c

A. 
1
3
x3 +

1
2
+ x2 + x + c

B. 
1
3
x3 -

1
2
+ x2 + x + c

https://dl.doubtnut.com/l/_LnP2v7bjCeYb
https://dl.doubtnut.com/l/_fgx1bQH309BL
https://dl.doubtnut.com/l/_lHehEp1AtWdy


C. 
1
3
x3 +

1
2
- x2 + x + c

D. None of these

Answer: A

Watch Video Solution

37. ∫ x - 11C1x
2 + 11C2x

3 - 11C3x
4 + .... - 11C11x

12 dx = ....

A. 
(1 - x)12

12 -
(1 - x)11

11 + c

B. 
(1 - x)13

12
-
(1 - x)12

12
+ c

C. 
(1 - x)11

11
-
(1 - x)12

12
+ c

D. 
(1 - x)12

12
-
(1 - x)13

12
+ c

Answer: B

Watch Video Solution

( )

https://dl.doubtnut.com/l/_lHehEp1AtWdy
https://dl.doubtnut.com/l/_P0TTLt9eV3qv
https://dl.doubtnut.com/l/_ODW3yUyvKbXU


38. ∫
x

1 + x2 + 1 + x2 3
dx = .... + c

A. 
1
2 log +√1 + x2

B. 2 1 +√1 + x2

C. 2 1 +√1 + x2

D. None of these

Answer: B

Watch Video Solution

√ √( )

| |
√

( )

39. ∫
log|x|

x√1 + log|x|
dx = ... + c.

A. 
2
3√1 + log|x|(log|x| - 5)

B. 
2
3√1 + log|x|(log|x| - 2)

C. 
1
3√1 + log|x|(log|x| - 2)

https://dl.doubtnut.com/l/_ODW3yUyvKbXU
https://dl.doubtnut.com/l/_BsriXsRceBIO


D. 2√1 + log|x|(log|x| - 2)

Answer: B

Watch Video Solution

40. ∫
ex 1 - nxn - 1 - x2n

1 - xn √1 - x2n
d = .... + c

A. ex
1 - xn

1 + xn

B. ex
1 + xn

1 - xn

C. e - x
1 - xn

1 + xn

D. None of these

Answer: B

Watch Video Solution

( )
( )

√
√
√

https://dl.doubtnut.com/l/_BsriXsRceBIO
https://dl.doubtnut.com/l/_JSQQCDzY7N9F


41. ∫xx(1 + logx)dx = .... + c

A. xxlogx

B. ex
x

C. xx

D. None of these

Answer: C

Watch Video Solution

42. f(x) is a continuous and differentiable function. 

f′ (x) ≠ 0 and
f′ (x) f(x)
f′ ′ (x) f′ (x) = 0. If f(0)=1 and f'(0)=2 then f(x)=....

A. x2 + x + 1

B. 2ex - 1

| |

https://dl.doubtnut.com/l/_JSQQCDzY7N9F
https://dl.doubtnut.com/l/_6mHibv4E9jwm
https://dl.doubtnut.com/l/_ZxXFqrjMQmqk


C. e2x

D. 4e
x
2 - 3

Answer: C

Watch Video Solution

43. For continuous function f, f′ loge(x) =
1 0 < x ≤ 1
x, x > 1

. then

f(x)=.....

A. f′ (x) =
1, x ≤ 0

e1 - 1, x > 1

B. f(x) =
1, x ≤ 0

e1 - 1, x > 1

C. f(x) =
x, x < 0

ex, x > 1

D. f(x) =
x, x < 0

ex - 1, x > 1

( ) {

{
{
{
{

https://dl.doubtnut.com/l/_ZxXFqrjMQmqk
https://dl.doubtnut.com/l/_lnPpE18lIxES


Answer: D

Watch Video Solution

44. ∫
n

πr= i(x + r)

n

∑ k=1
1

x + k
dx = ....

A. 

n

∑ r= i(x + r)

B. 

n

∑ r= i
1

x + k

C. 

n

∑ r= ilog(x + r)

D. None of these

Answer: A

Watch Video Solution

( )( )

https://dl.doubtnut.com/l/_lnPpE18lIxES
https://dl.doubtnut.com/l/_cCqHQh8GbGjR


45. ∫
dx

xr 1 + xr
1
r

= I, r ∈ N and I = α 1 + x3
β
 then the euation

whose does are α and β is ....

A. 6x2 - x - 2 = 0

B. 6x2 - x + 2 = 0

C. 6x2 + x - 2 = 0

D. 6x2 + x + 2 = 0

Answer: A

View Text Solution

( )
( )

46. If ∫
√x 5

√x 7 + x6
dx = alog

xk

xk + 1
+ c

A. =
2
5
,
5
2

B. '=1/5 , 2/5`

( )
( ) ( )

https://dl.doubtnut.com/l/_p6nVwN05T9XY
https://dl.doubtnut.com/l/_A6HsMMy3PiPj


C. < 2

D. = 1

Answer: B

Watch Video Solution

47. ∫
x
1
2

√1 - x3
dx =

2
3
gof(x) + c then....

A. f(x) = √xg(x) = sin - 1x

B. f(x) = x
3
2 ,

g
x
= sinx

C. f(x) = x
3
2 ,

g
x
= sin - 1sx

D. f(x) = x
3
2g(x) = sin - 1x

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_A6HsMMy3PiPj
https://dl.doubtnut.com/l/_y2bbhh2Fa9dm


48. ∫
secxdx

√cos2x
= ...

A. sin - 1(tanx)

B. tanx

C. cos - 1(tanx)

D. 
sinx

√cosx

Answer: A

Watch Video Solution

49. ∫
xdx

1 - xcotx
= .... .

A. log(cosx - xsinx) + c

B. log(xsinx - cosx) + c

C. log(sinx - xcosx) + c

https://dl.doubtnut.com/l/_0SkkmlPqGAWo
https://dl.doubtnut.com/l/_F4y4saAUcTGD


D. None of these

Answer: C

Watch Video Solution

50. Integrate the following functions : 

∫
xe - 1 + ex - 1

xe + ex
dx

A. log xe + ex + c

B. elog xe + ex + c

C. 
1
e
log xe + ex + c

D. None of these

Answer: C

Watch Video Solution

( )
( )
( )

https://dl.doubtnut.com/l/_F4y4saAUcTGD
https://dl.doubtnut.com/l/_BVtOKIwCECna
https://dl.doubtnut.com/l/_xh0GCa5ur5G6


51. Integrate the following functions : 

∫
3x2

1 + x6
dx

A. log x6 + 1 + c

B. tan - 1 x3 + c

C. 3tan - 1 x3 + c

D. 3tan - 1
x3

3
+ c

Answer: B

Watch Video Solution

( )
( )
( )

( )

52. ∫
x - 2

x(2logx - x)
dx = ....

A. log(2logx - x) + c

B. log
1

2logx - x
+ c

C. log(x - 2logx) + c

( )

https://dl.doubtnut.com/l/_xh0GCa5ur5G6
https://dl.doubtnut.com/l/_i9aNsn5UVHIv


D. log
1

x - 2logx
+ c

Answer: B

Watch Video Solution

( )

53. ∫√1 + x2dx = ...

A. 
1 + 2x2

√1 + x2
+ c

B. √1 + x2 + c

C. 3 1 + x2
3
2 + c

D. 
1
3

1 + x2
3

2 + c

Answer: D

Watch Video Solution

( )
( )

https://dl.doubtnut.com/l/_i9aNsn5UVHIv
https://dl.doubtnut.com/l/_ByuXmYBaMm5E


54. ∫
x + 1

√1 + x2
dx = ...

A. √1 + x2 + tan - 1x + c

B. √1 + x2 - log x +√1 + x2 + c

C. √1 + x2 + log x +√1 + x2 + c

D. √1 + x2 + log(secx + tanx) + c

Answer: C

Watch Video Solution

[ ]
[ ]

55. ∫
e2x - 1

e2x + 1
dx = ...

A. 
e2x - 1

e2x + 1
+ c

B. log e2x + 1 - x + c

C. log e2x + 1 + c

( )
( )

https://dl.doubtnut.com/l/_xj3JzulGN6Rd
https://dl.doubtnut.com/l/_pP9AvWYXE4ew


D. None of these

Answer: B

Watch Video Solution

56. ∫
1

ex + e - x 2
dx = .... .

A. -
1

2 e2x + 1
+ c

B. 
1

2 e2x + 1
+ c

C. -
1

e2x + 1
+ c

D. None of these

Answer: A

Watch Video Solution

( )

( )

( )

https://dl.doubtnut.com/l/_pP9AvWYXE4ew
https://dl.doubtnut.com/l/_SIlq7CvLf8Iw
https://dl.doubtnut.com/l/_OjTmyW7KO3w7


57. ∫
e - x

1 + ex
dx = ....

A. log 1 + ex - x - e - x + c

B. log 1 + ex + x - e - x + c

C. log 1 + ex - x + e - x + c

D. log 1 + ex + x + e - x + c

Answer: A

Watch Video Solution

( )
( )
( )
( )

58. ∫
1

√1 - e2x
dx = ...

A. x - log 1 +√1 - e2x + c

B. x + log 1 +√1 - e2x + c

C. log 1 +√1 - e2x + c

[ ]
[ ]

[ ]

https://dl.doubtnut.com/l/_OjTmyW7KO3w7
https://dl.doubtnut.com/l/_1RE0yj6WSluN


D. None of these

Answer: A

Watch Video Solution

59. ∫
1

x3
logxx

2
dx = ...

A. 
x3

3
(logx) + x + c

B. 
1
3
(logx)3 + c

C. 3log(logx) + c

D. None of these

Answer: B

Watch Video Solution

[ ]

https://dl.doubtnut.com/l/_1RE0yj6WSluN
https://dl.doubtnut.com/l/_ZuAcxjbS7BZe


60. ∫
dx

xlogxlog(logx)
= ...

A. 2log(logx) + c

B. log[log(logx)] + c

C. log(xlogx) + c

D. None of these

Answer: B

Watch Video Solution

61. ∫
2xtan - 1x2

1 + x4
dx = ...

A. tan - 1x2
2
+ c

B. 
1
2

tan - 1x2
2
+ c

C. 2 tan - 1x2 + c

[ ]
[ ]
[ ]

https://dl.doubtnut.com/l/_EYui0qZL2IJf
https://dl.doubtnut.com/l/_b2NhL2lwcI2b


D. None of these

Answer: B

Watch Video Solution

62. ∫
x5dx

√ 1 + x3
= ...

A. 
2
3
√ 1 + x3 x3 + 2

B. 
2
9
√ 1 + x3 x3 - 4

C. 
2
9
√ 1 + x3 x3 + 4

D. 
2
9
√ 1 + x3 x3 - 2

Answer: D

Watch Video Solution

( )

( )( )
( )( )
( )( )
( )( )

https://dl.doubtnut.com/l/_b2NhL2lwcI2b
https://dl.doubtnut.com/l/_lSRyiqd8YtjP


63. ∫
x2 + 1

x x2 - 1
dx = ....

A. log
x2 - 1
x

+ c

B. - log
x2 - 1
x

+ c

C. log
x

x2 + 1
+ c

D. - log
x

x2 + 1
+ c

Answer: A

Watch Video Solution

( )

64. I = ∫
dx

1 + ex 1 + e - x
= ...

A. 
-1

1 + ex

B. 
ex

1 + ex

( ) ( )

https://dl.doubtnut.com/l/_ZJVJf3cfhwGH
https://dl.doubtnut.com/l/_kHA73Z18vDnx


C. 
1

1 + ex

D. None of these

Answer: A

Watch Video Solution

65. ∫
dx

2√x(1 + x)
= ...

A. 
1
2 tan

- 1 √x + c

B. tan - 1 √x + c

C. 2tan - 1 √x + c

D. None of these

Answer: B

Watch Video Solution

( )

( )

( )

https://dl.doubtnut.com/l/_kHA73Z18vDnx
https://dl.doubtnut.com/l/_9H6BrC24wAwV
https://dl.doubtnut.com/l/_GwGa4jIBXoLC


66. If ∫
1

x + x5
dx = f(x) + c, then the value of ∫

x4

x + x5
dx = .... .

A. logx - f(x) + c

B. f(x)logx + c

C. f(x) - logx + c

D. None of these

Answer: A

Watch Video Solution

67. ∫
1 + x2

√1 - x2
dx = ...

A. 
3
2sin

- 1x -
1
2x√1 - x2 + c

B. 
3
2sin

- 1x +
1
2x√1 - x2 + c

C. 
3
2cos

- 1e -
1
2x√1 - x2 + c

https://dl.doubtnut.com/l/_GwGa4jIBXoLC
https://dl.doubtnut.com/l/_LEj3A5vNNQwK


D. 
3
2
cos - 1x +

1
2
x√1 - x2 + c

Answer: A

Watch Video Solution

68. ∫
1

(x - 1)3(x + 2)5
1
4

dx = ...

A. 
4
3

x - 1
x + 2

1

2 + c

B. 
4
3

x + 2
x - 1

1

4 + c

C. 
1
3

x - 1
x + 2

1

4 + c

D. 
1
3

x + 2
x - 1

1

4 + c

Answer: A

Watch Video Solution

[ ]

( )
( )
( )
( )

https://dl.doubtnut.com/l/_LEj3A5vNNQwK
https://dl.doubtnut.com/l/_KZ7I8QjuEeYE
https://dl.doubtnut.com/l/_RnKnd1vtxvOO


69. ∫
1

(1 + x)√x
dx = f(x) + c then f(x)=.....

A. 2tan - 1x

B. 2tan - 1√x

C. 2cot - 1√x

D. log ( 1 + x )e

Answer: A

Watch Video Solution

70. ∫
log x +√1 + x2

√1 + x2
dx = .... + c

A. 
1
2 log x +√1 + x2

2

B. log x +√1 + x2
2

C. log x +√1 + x2

( )

[ ( )]
[ ]
( )

https://dl.doubtnut.com/l/_RnKnd1vtxvOO
https://dl.doubtnut.com/l/_fuu5FH2cALhc


D. None of these

Answer: A

Watch Video Solution

71. ∫
1

x2 x4 + 1
3
4

dx = . . + c

A. 1 +
1

x4

1

4

B. x4 + 1
1
4

C. 1 -
1

x4

1
4

D. - 1 +
1

x4

1
4

Answer: D

Watch Video Solution

( )

( )
( )

( )
( )

https://dl.doubtnut.com/l/_fuu5FH2cALhc
https://dl.doubtnut.com/l/_m7sKRZsSOu2R


72. ∫
x
1
2

√1 - x3
dx =

2
3
gof(x) + c then....

A. f(x) = √xg(x) = sin - 1x

B. f(x) = x
3
2 , g(x) = sinx

C. f(x) = x
2
3 , g(x) = sin - 1x

D. f(x) = x
3
2 , g(x) = sin - 1x

Answer: D

Watch Video Solution

73. ∫
dx

√1 - x
= . .

A. sin - 1√x + c

B. -2√1 - x + c

C. - sin - 1√x + c

https://dl.doubtnut.com/l/_GHNpCWC23ajN
https://dl.doubtnut.com/l/_QZkm7rNMwjc3


D. 2√1 - x + c

Answer: B

Watch Video Solution

74. ∫
1

√x + 2 - √x
dx = .... + c

A. 
3
2
(x + 2)

3
2 +

2
3
x
3
2

B. 
3
2
(x + 2)

1
2 +

2
9
x
1
2

C. 
3
2
(x + 2)

3
2 +

2
9
x
3
2

D. 
2
9
(x + 2)

3
2 +

2
9x

Answer: D

Watch Video Solution

( )

https://dl.doubtnut.com/l/_QZkm7rNMwjc3
https://dl.doubtnut.com/l/_IV36RJ8WCbU3


75. ∫
a - x
a + x

dx = .... + c

A. 
a
2
sin - 1

x
a

-√a2 - x2

B. 
1
a
sin - 1

x
a

-√a2 - x2

C. sin - 1
x
a

-√a2 - x2

D. asin - 1
x
a

-√a2 - x2

Answer: D

Watch Video Solution

√
( )
( )
( )
( )

76. ∫
x2 + 1

x4 - x2 + 1
dx = ... + c

A. xtan - 1
x2 + 1

x

B. tan - 1
x2 - 1
x

( )
( )

https://dl.doubtnut.com/l/_gfGbDoQeugMO
https://dl.doubtnut.com/l/_xUIO59ubzgJW


C. 
1

√2
tan - 1

x2 + 1

√2x

D. 
1

√2
tan - 1

x2 - 1

√2x

Answer: B

Watch Video Solution

( )
( )

77. Find ∫ √cotx + √tanx dx

A. 
tanx

√2
tan - 1

cotx + 1

√2tanx

B. √2tan - 1
cotx - 1

√2tanx

C. √2tan - 1
tanx - 1

√2tanx

D. 
tanx

√2
tan - 1

cotx - 1

√2tanx

Answer: B

[ ]

( )
( )
( )
( )

https://dl.doubtnut.com/l/_xUIO59ubzgJW
https://dl.doubtnut.com/l/_ibWl0wzJue8i


Watch Video Solution

78. ∫ eexlogex + logex eexlogex dx = ... + c

A. 
x - ex

e

B. 
xex

e

C. -
xex

e

D. log(x ⋅ e)

Answer: B

Watch Video Solution

( ( )( ))

79. ∫
(x - 1)2

x2 + 1 2
dx = tan - 1x + f(x) + c then f(x)=....

A. tan - 1x +
1

x2 + 1

( )

https://dl.doubtnut.com/l/_ibWl0wzJue8i
https://dl.doubtnut.com/l/_OwQwLLTSdO11
https://dl.doubtnut.com/l/_gMl8v90B1mCu


B. 
1

x2 + 1 2

C. 
1

x2 + 1

D. None of these

Answer: C

Watch Video Solution

( )

80. ∫
1

ex + 1
dx = ....

A. log
ex

ex + 1
+ c

B. log
ex + 1

ex
+ c

C. log 1 + ex + c

D. log 1 - ex + c

Answer: A

( )
(
( )
( )

https://dl.doubtnut.com/l/_gMl8v90B1mCu
https://dl.doubtnut.com/l/_JPSJnlCNNDb3


Watch Video Solution

81. ∫
x3 + 4x - 3

x2 + 4
dx = Ax2 + Btan - 1

x
2
+ c then A + B = ... where A, B ∈ R

A. -
1
2

B. -1

C. 2

D. 
1
2

Answer: B

Watch Video Solution

82. Integration using trigonometric identities : 

∫
cos8x - sin8x

1 - 2sin2xcos2x
dx = ... + c

A. -
sin2x
2

https://dl.doubtnut.com/l/_JPSJnlCNNDb3
https://dl.doubtnut.com/l/_4H1oUQLzoO6u
https://dl.doubtnut.com/l/_ou0RBUFf7AnE


B. 
sin2x
2

C. 
sin2x
5

D. 
cos2x
2

Answer: B

Watch Video Solution

83. If Integration using rigonometric identities : 

∫
dx

√sin3x(sinx + 2cosx)
= f(x) + c then f

π
4

= ....

A. -1

B. -√2

C. -√3

D. -2

Answer: C

( )

https://dl.doubtnut.com/l/_ou0RBUFf7AnE
https://dl.doubtnut.com/l/_WnEUxDIlQ7np


Watch Video Solution

84. Integration using rigonometric identities : 

d
dx

g(x) = g(x) and g(0) = 1 then ∫g(x)
2 - sin2x
1 - cos2x

dx.... + c

A. g(x)cotx

B. -g(x)cotx

C. 
g(x)

1 - cos2x

D. None of these

Answer: B

Watch Video Solution

( )

85. Integration using rigonometric identities : 

∫
sinθ
cos3θ

+
sin3θ
cos9θ

+
sin9θ
cos27θ

dθ = ... + c

https://dl.doubtnut.com/l/_WnEUxDIlQ7np
https://dl.doubtnut.com/l/_H6rpLTIvcanl
https://dl.doubtnut.com/l/_HUXX5QqLouJ7


A. 
1
2
log

sec27θ
secθ

B. 
1
2
log

secθ
sec27θ

C. 
1
2
log

secθ
sec27θ

D. None of these

Answer: C

Watch Video Solution

| |
| |
|√ |

86. Integration using rigonometric identities : 

∫sin(101x) ⋅ sin99xdx = ... + c

A. 
sin(100x) ⋅ (sinx)100

100

B. 
cos(100x) ⋅ (cosx)100

100

C. 
cos(100x) ⋅ (cosx)100

100

D. 
sin(100x) ⋅ (sinx)100

101

https://dl.doubtnut.com/l/_HUXX5QqLouJ7
https://dl.doubtnut.com/l/_m8WEaKcsyBEp


Answer: A

Watch Video Solution

87. Integration using rigonometric identities : 

∫sin4x ⋅ etan
2xdx = acosbx ⋅ etan

2x + c then the value of a2a is ....

A. 256

B. 265

C. 285

D. 156

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_m8WEaKcsyBEp
https://dl.doubtnut.com/l/_i9wpBlw5NXgU


88. Integration using trigonometric identities : 

∫
dθ

sinθ ⋅ cos3θ
= .... + c

A. logtanθ + tan2θ

B. logtanθ -
1
2 + tan2θ

C. logtanθ +
1
2 tan

2θ

D. None of these

Answer: C

Watch Video Solution

89. Integration using rigonometric identities : 

∫
sin2x

sin4x + cos4x
dx = ...

A. cot - 1 tan2x + c

B. tan - 1 tan2x + c

( )
( )

https://dl.doubtnut.com/l/_vIPnlytHnq20
https://dl.doubtnut.com/l/_bys066iCbteL


C. cot - 1 cot2x + c

D. tan - 1 cot2x + c

Answer: B

Watch Video Solution

( )
( )

90. Integration using rigonometric identities : 

∫cos5xdx = ....

A. sinx -
2
3
sin3x +

1
5
sin5x + c

B. sinx +
2
3
sin3 +

1
5
sin5x + c

C. sinx -
2
3
sin3x -

1
5
sin5 + c

D. None of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_bys066iCbteL
https://dl.doubtnut.com/l/_Em7Kb7guZM14


91. Integration using rigonometric identities : 

∫secxtan3xdx = ....

A. 
1
3
sec3x - secx + c

B. sec3x - secx + c

C. 
1
3
sec3x + secx + c

D. None of these

Answer: A

View Text Solution

92. Integration using trigonometric identities : 

∫ tan4xdx = ....

A. tan3x - tanx + x + c

B. 
1
3
tan3x - tanx + x + c

https://dl.doubtnut.com/l/_eV5Wb4rcp2AT
https://dl.doubtnut.com/l/_H6o8EHsWShT9


C. 
1
3
tan3x + tanx + x + c

D. 
1
3
tan3x + tanx + x + c

Answer: B

Watch Video Solution

93. ∫
sin2x

sin5x ⋅ sin3x
dx = .... . + c

A. logsin3x - logsin5x + c

B. 
1
3
logsin3x +

1
5
logsin5x + c

C. 
1
3
logsin3x -

1
5
logsin5x + c

D. 3logsin4x - 5logsin5x + c

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_H6o8EHsWShT9
https://dl.doubtnut.com/l/_Qb5plYY6xyml
https://dl.doubtnut.com/l/_5nStNBfH61il


94. Integration using trigonometric identities : 

∫sec4xtanxdx = ....

A. 
1
4
sec4x + c

B. 4sec4x + c

C. 
sec3x
3

+ c

D. 3sec3x + c

Answer: A

Watch Video Solution

95. Integrate the following functions : 

∫
1 + tanx

x + logsecx
dx

A. log(x + logsecx) + c

B. - log(x + logsecx) + c

https://dl.doubtnut.com/l/_5nStNBfH61il
https://dl.doubtnut.com/l/_oJakuNfNMd2g


C. log(x - logsecx) + c

D. None of these

Answer: A

Watch Video Solution

96. Integration using trigonometric identities : 

∫
1

1 + sin2x
dx = ....

A. 
1

√2
tan - 1 √2tanx + k

B. √2tan - 1 √2tanx + k

C. -
1

√2
tan - 1 √2tanx + k

D. -√2tan - 1 √2tanx + k

Answer: A

Watch Video Solution

( )

( )

( )

( )

https://dl.doubtnut.com/l/_oJakuNfNMd2g
https://dl.doubtnut.com/l/_wrmgPi0Ogv7g


97. ∫
sin32x

cos52x
dx = ...

A. tan4x + c

B. tan4x + c

C. tan42x + x + c

D. 
1
8
tan42x + c

Answer: D

Watch Video Solution

98. ∫
1 + tan2x

1 - tan2x
dx = ....

A. log
1 - tanx
1 + tanx

+ c

B. log
1 + tanx
1 - tanx

+ c

( )
( )

https://dl.doubtnut.com/l/_wrmgPi0Ogv7g
https://dl.doubtnut.com/l/_YmEJYQWjOoSA
https://dl.doubtnut.com/l/_f6tEwFACzdU3


C. 
1
2
log

1 - tanx
1 + tanx

+ c

D. 
1
2
log

1 + tanx
1 - tanx

+ c

Answer: D

Watch Video Solution

( )
( )

99. ∫
cos4x + 1
cosx - tanx

dx = kcos4x + c then.....

A. k = -
1
2

B. k = -
1
8

C. k = -
1
4

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_f6tEwFACzdU3
https://dl.doubtnut.com/l/_H3Tt0OjrijNI
https://dl.doubtnut.com/l/_shuuj6TcDNSt


100. Integration using rigonometric identities : 

∫
(sinθ + cosθ)

√sin2θ
dθ = .... .

A. log cosθ - sinθ + √sin2θ

B. log sinθ - cosθ + √sinθ

C. sin - 1(sinθ - cosθ) + c

D. sin - 1(sinθ + cosθ) + c

Answer: C

Watch Video Solution

| |

| |

101. ∫sec
2

3x ⋅ cosec
4

3xdx = ....

A. -3(tanx)
1

3 + c

B. -3(tanx) -
1

3 + c

C. 3(tanx) -
1

3 + c

https://dl.doubtnut.com/l/_shuuj6TcDNSt
https://dl.doubtnut.com/l/_ALqGKcE9A5mo


D. (tanx) -
1
3 + c

Answer: B

Watch Video Solution

102. If Integration using rigonometric identities : 

∫
sec2x

(1 + tanx)(2 + tanx)
dx we can take .... As substitution.

A. 1 + tanx = t

B. 2 + tanx = t

C. tanx = t

D. None of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ALqGKcE9A5mo
https://dl.doubtnut.com/l/_M1J9uaCSHiKU
https://dl.doubtnut.com/l/_7eS9XDc2NblE


103. Integration using rigonometric identities : 

∫ tanx ⋅ sec2x√1 - tan2xdx = ....

A. -
1
3 1 - tan2x

3

2 + c

B. 
1
3

1 - tan2x
3
2 + c

C. -
2
3 1 - tan2x

3

2 + c

D. None of these

Answer: A

Watch Video Solution

( )
( )
( )

104. Integration using rigonometric identities : 

∫cos -
3
7xsin -

11
7 xdx = ....

A. log sin
4

7x + c

B. 
4
7
tan

4
7x + c

| |

https://dl.doubtnut.com/l/_7eS9XDc2NblE
https://dl.doubtnut.com/l/_bAhSVs2scbuD


C. -
7
4
tan

4
7x + c

D. log cos
3

7x + c

Answer: C

Watch Video Solution

| |

105. ∫sec2x ⋅ cosec2(x)dx = .... . + c

A. tanx + cotx

B. tanx - cotx

C. sec2x + cosec2x

D. cotx - tanx

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_bAhSVs2scbuD
https://dl.doubtnut.com/l/_YH8v0LJ2SwBy
https://dl.doubtnut.com/l/_ZqasNdTysOhF


106. ∫
(sinx)99

(cosx)101
dx = .... + c

A. 
(tanx)100

100

B. 
(tanx)2

100

C. 
(tanx)98

98

D. 
(tanx)97

97

Answer: A

Watch Video Solution

107. Integration using rigonometric identities : 

∫
xsinx

(xcosx - sinx + 5)dx = ... + c

A. log|xcosx - sinx + 5|

B. - log|xcosx - sinx + 5|

C. log|xsinx - sinx + 5|

https://dl.doubtnut.com/l/_ZqasNdTysOhF
https://dl.doubtnut.com/l/_qIIEJbvKTvsg


D. - log|xsinx - sinx + 5|

Answer: B

Watch Video Solution

108. ∫ (1 - cosx)cosec2xdx = .... . + c

A. tan
x
2

B. cot
x
2

C. 
1
2
tan

x
2

D. 2tan
x
2

Answer: A

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_qIIEJbvKTvsg
https://dl.doubtnut.com/l/_cm6flRpGeUob


109. If Integration using trigonometric identities : 

∫sin2x ⋅ cos3xdx = Acosx + Bcos5x + c then A + B = ...

A. 
1
5

B. 
3
10

C. 
3
5

D. 
2
5

Answer: D

Watch Video Solution

110. If Integration using rigonometric identities : 

∫
cos4x + 1
cotx - tanx

dx = Acos4x + c then A=....

A. -
1
2

B. -
1
4

https://dl.doubtnut.com/l/_JDa79QIrTMLf
https://dl.doubtnut.com/l/_XFikTpCLVMaM


C. -
1
8

D. 
1
8

Answer: C

Watch Video Solution

111. Integration using rigonometric identities : 

∫
1 + cosx
sinxcosx

dx = .... + c

A. log|sinx| + log|cosx|

B. log tanx ⋅ tan
x
2

C. log 1 + tan
x
2

D. log sec
x
2

+ tan
x
2

Answer: B

Watch Video Solution

| ( ) |
| ( )|
| ( ) ( )|

https://dl.doubtnut.com/l/_XFikTpCLVMaM
https://dl.doubtnut.com/l/_2JjrwkoK3BYL


112. Integration using rigonometric identities : 

∫
sinxcosx

√3 + 5sin2x
dx = ... + c

A. 
1
5√3 + 5sin2x

B. 
1
10√3 + 5sin2x

C. 
1
20√3 + 5sin2x

D. 
1

2√3√3 + 5sin
2x

Answer: A

Watch Video Solution

113. If Integration using rigonometric identities : 

∫
1

1 + cotx
dx = px + q

A. p =
1
2
, q =

1
2

https://dl.doubtnut.com/l/_2JjrwkoK3BYL
https://dl.doubtnut.com/l/_mPXSKF0Vbpwx
https://dl.doubtnut.com/l/_WhRSqKLMN1DH


B. p = -
1
2
, q =

1
2

C. p = -
1
2
, q = -

1
2

D. p =
1
2
, q = -

1
2

Answer: D

Watch Video Solution

114. If Integration using trigonometric identities : 

∫
cos8x + 1

tan2x - cot2x
dx = acos8x + c then a = ..........

A. -
1
16

B. 
1
8

C. 
1
16

D. -
1
8

Answer: C

https://dl.doubtnut.com/l/_WhRSqKLMN1DH
https://dl.doubtnut.com/l/_AK6AzpesBAS7


Watch Video Solution

115. Integration using rigonometric identities : 

∫
sinx - cosx

x2 + xsinx
dx = .... + c

A. log|x + sinx|

B. log
x

x + sinx

C. log x2 + xsinx

D. log
x + sinx

x

Answer: B

Watch Video Solution

| |
| |

| |

116. Integration of some particular functions : 

∫x
1 - x2

1 + x2
dx = ... + c√

https://dl.doubtnut.com/l/_AK6AzpesBAS7
https://dl.doubtnut.com/l/_NIf7we7i0aI6
https://dl.doubtnut.com/l/_RHx21ZtwWnH0


A. 
1
2

sin - 1x +√1 - x4

B. 
1
2 sin - 1x +√1 - x4

C. sin - 1x2 +√1 - x4

D. sin - 1x2 +√1 - x4

Answer: B

Watch Video Solution

[
[

117. Integration of some particular functions : 

∫
x - 2

x2 - 4x + 5
dx = ...... + c

A. log x2 - 4x + 5

B. log√x2 - 4x + 5

C. 
1
2

x2 - 4x + 5 2

D. log
x - 3
x - 1

| |

( )

( )

https://dl.doubtnut.com/l/_RHx21ZtwWnH0
https://dl.doubtnut.com/l/_LUDfmZun7VTh


Answer: B

Watch Video Solution

118. Integration of some particular functions : 

∫
dx

5 - 4cosx
= .... + c

A. 
1
3
tan - 1 3tan

x
2

B. 
1
3
tan - 1

2
3
tan

x
2

C. 
2
3
tan - 1

1
3
tan

x
2

D. 
2
3
tan - 1 tan

x
2

Answer: D

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_LUDfmZun7VTh
https://dl.doubtnut.com/l/_NHdqMG273JQJ


119. Integration of some particular functions : 

∫
sin2x

pcos2x + qsin2x
dx = .... . + c

A. 
q
p log|psin2x + qcos2x|

B. (q - p)log pcos2x + qsin2x

C. 
1

q - p log pcos2x + qsin2x

D. 
1

p2 + q
log pcos2x + qsin2x

Answer: C

Watch Video Solution

| |
| |
| |

120. Integration of some particular functions : 

∫
tanx

4 + 9tan2x
dx = .... x + c

A. 
2
3
tan - 1

2
3
tanx

B. 
1
10
log 4 + 9tan2x

( )
| |

https://dl.doubtnut.com/l/_NfcVeDsZKGDS
https://dl.doubtnut.com/l/_lEzULNeB2Hu3


C. 
3
2
tan - 1

1
3
tanx

D. 
1
10
log 4cos2 + 9sin2x

Answer: D

Watch Video Solution

( )
| |

121. Integration of some particular functions : 

∫
ex

e2x + ex + 1
dx = .... . + c

A. 
1

√3
sec - 1

2ex + 1

√3

B. tan - 1 1 + ex

C. 
2

√3
tan - 2

2ex + 1

√3

D. 
1

√3
tan - 2

ex + 1

√3

Answer: C

( )
( )

( )
( )

https://dl.doubtnut.com/l/_lEzULNeB2Hu3
https://dl.doubtnut.com/l/_cYOar4w3k1eH


Watch Video Solution

122. Integration of some particular functions : 

∫
1

√2 - 3x - x2
dx = .... + c

A. sin - 1
2 - 3x

√3

B. sin - 1
2x - 1

√15

C. sin - 1
2x + 3

√17

D. sin - 1
3 + 2x

3√2

Answer: C

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_cYOar4w3k1eH
https://dl.doubtnut.com/l/_xUilgWK0SH5w


123. Integration of some particular functions : 

∫
dx

log
1

2

2
- x2

dx = .... + c

A. sin - 1
x

log2

B. sin - 1
x

log ( 1 )

2

C. cos - 1
x

log2

D. cos - 1
log2
x

Answer: A

Watch Video Solution

√( )
( )

( )
( )
( )

https://dl.doubtnut.com/l/_ZvLma7l64PJk


124. Integration of some particular functions : 

∫
x - 2

x2 - 4x + 3
dx = .... + c

A. log√x2 - 4x + 3

B. xlog(x - 3)log(x - 2)

C. log(x - 3)(x - 1)

D. log x2 + 4x + 3

Answer: A

Watch Video Solution

( )

125. Integration of some particular functions : 

∫
dx

√25 - 9x2
= .... + c

A. sin - 1
3x
5( )

https://dl.doubtnut.com/l/_oOpu1NqEeROo
https://dl.doubtnut.com/l/_FKC7vJ9a5Tz7


B. 
1
5
sin - 1

3x
5

C. 
1
3
sin - 1

3x
5

D. log 25 - 9x2

Answer: C

Watch Video Solution

( )
( )

| |

126. Integration of some particular functions : 

∫
dx

√25 + 9x2
= ...... + c

A. sin - 1
3x
5

B. 
1
3sin

- 1 3x
5

C. 
1
3
log 3x -√25 + 9x2 + c

D. 
1
3
log 3x -√25 + 9x2 + 25 + c

( )
( )

| |
| |

https://dl.doubtnut.com/l/_FKC7vJ9a5Tz7
https://dl.doubtnut.com/l/_Mi3QElf9QdFL


Answer: D

Watch Video Solution

127. Integration of some particular functions : 

∫
dx

√x2 - 6x + 9
= ...... + c where x ∈ ( - ∞, 3)

A. - log|x - 3|

B. log|x - 3|

C. log(x - 3)

D. log(3 - x)

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Mi3QElf9QdFL
https://dl.doubtnut.com/l/_ru6grMsGmMth


128. Integration of some particular functions : 

∫
dx

√x2 - 2x + 3
= ... + c

A. 
1
2 tan

- 1 x - 1
2

B. tan - 1
x - 1
2

C. log x - 1 +√x2 - 2x + 3 + c

D. log x - 1 -√x2 - 2x + 3 + c

Answer: C

Watch Video Solution

( )
( )

| |
| |

129. Integration of some particular functions : 

∫
x4 + 3x2 + 1

x2 + 3
dx = .... + c

A. 
x3

3 + tan - 1
x

√3( )

https://dl.doubtnut.com/l/_IoFfCfxIyYAV
https://dl.doubtnut.com/l/_7jKjlfnYBZEM


B. x2 +
1

√3
tan - 1

x

√3

C. 
x3

3
+

1

√3
tan - 1

x

√3

D. 
x3

3
+ tan - 1

x

√3

Answer: C

Watch Video Solution

( )
( )

( )

130. Integration of some particular functions : 

∫
dx

√21 + 12x - 9x2
= ... + c

A. sin - 1
3x - 2
5

B. 3sin - 1
3x - 2
5

C. 
1
3sin

- 1 3x - 2
5

D. 
1
15sin

- 1 3x - 2
5

( )
( )
( )
( )

https://dl.doubtnut.com/l/_7jKjlfnYBZEM
https://dl.doubtnut.com/l/_6nnLKTx4gzU7


Answer: C

Watch Video Solution

131. Integration of some particular functions : 

∫
2x

√x2 - 2x + 7
dx = .... + c

A. 2√x2 - 2x + 7 + 2log x - 1 +√x2 - 2x + 7

B. 2log x2 - 2x + 7 + 2log x - 1 +√x2 - 2x + 7

C. 2√x2 - 2x + 7 + 9log x - 1 +√x2 - 2x + 7

D. log x - 1 +√x2 - 2x + 6

Answer: A

Watch Video Solution

| |
| | | |

| |
| |

https://dl.doubtnut.com/l/_6nnLKTx4gzU7
https://dl.doubtnut.com/l/_QSUvXFTSIAk6


132. Integration of some particular functions : 

∫
1

3t2 + 4
dt = Atan - 1(Bt) + c then AB=....

A. 
1
2

B. 
1
4

C. 1

D. 
1
3

Answer: B

Watch Video Solution

133. Integration of some particular functions : 

∫
x + 2

x2 + 4x - 7
dx = .... + c

A. 
1
2

x2 + 4x - 7 2

B. 
1
2
log√∣x2 + 4x - 7∣

( )

https://dl.doubtnut.com/l/_ENt2PYQ5ncZY
https://dl.doubtnut.com/l/_gDq4ScKBhSLp


C. log√ x2 + 4x - 7

D. log x2 + 4x - 7

Answer: C

Watch Video Solution

| |
| |

134. Integration of some particular functions : 

∫
2x + 3

3x2 + 4x + 5
dx = plog 3x2 + 4x + 5 + qtan - 1

3x + 2

√11
+ c then 

p2 + q2 = ....

A. 
4
11

B. 
3
11

C. 
2
11

D. 
1
11

Answer: A

| | ( )

https://dl.doubtnut.com/l/_gDq4ScKBhSLp
https://dl.doubtnut.com/l/_A7JYUoZOeFrk


Watch Video Solution

135. Integration by partial fraction : 

∫
x - 1

(x - 3)(x - 2)
dx = ....

A. log(x - 3) - log(x - 2) + c

B. log(x - 3)2 - log(x - 2) + c

C. log(x - 3) + log(x - 2) + c

D. log(x - 3)2 + log(x - 2) + c

Answer: B

Watch Video Solution

136. Integration by partial fraction : 

The value of ∫
x

(x - 2)(x - 1)
dx = ....

https://dl.doubtnut.com/l/_A7JYUoZOeFrk
https://dl.doubtnut.com/l/_raxsbc405e32
https://dl.doubtnut.com/l/_kZQPFS5bMBs2


A. loge
(x - 2)2

(x - 1)
+ p

B. loge
(x - 1)2

(x - 2)
+ p

C. 
x - 1
x - 2

+ p

D. 2loge
x - 2
x - 1

+ p

Answer: A

Watch Video Solution

( )

137. Integration by partial fraction : 

∫
x2 + x - 1

x2 + x - 6
dx = ....

A. x + log(x + 3) + log(x - 2) + c

B. x - log(x + 3) + log(x - 2) + c

C. x - log(x + 3) - log(x - 2) + c

D. None of these

https://dl.doubtnut.com/l/_kZQPFS5bMBs2
https://dl.doubtnut.com/l/_OpPMiM3b9d0a


Answer: B

Watch Video Solution

138. Integration by partial fraction : 

∫
x2

x2 + 2 x2 + 3
dx = ....

A. -√2tan - 1x + √3tan - 1x + c

B. -√2
tan - 1(x)

√2
+ √3tan - 1x + c

C. √2
tan - 1(x)

√2
+ √3tan - 1x + c

D. None of these

Answer: B

Watch Video Solution

( )( )

https://dl.doubtnut.com/l/_OpPMiM3b9d0a
https://dl.doubtnut.com/l/_Q1lIhl8uL7GA


139. Integration by partial fraction : 

If ∫sin5xcos3xdx = -
cos8x
16

+ A then A=...

A. 
sin2x
16

+ C

B. -
cos2x
4

+ C

C. C

D. None of these

Answer: B

Watch Video Solution

140. Integration by partial fraction : 

∫
dx

ex + 1 - 2e - x
= ....

A. log ex - 1 - log ex + 2 + c

B. 
1
2
log ex - 1 -

1
3
log ex + 2 + c

( ) ( )
( ) ( )

https://dl.doubtnut.com/l/_BEeyGJSj9eSU
https://dl.doubtnut.com/l/_t9V6X8S7f6F1


C. 
1
3
log ex - 1 -

1
3
log ex + 2 + c

D. 
1
3
log ex - 1 +

1
3
log ex + 2 + c

Answer: C

Watch Video Solution

( ) ( )
( ) ( )

141. Integration by partial fraction : 

∫
x

x4 - 1
dx = ...

A. 
1
4
log

x2 - 1

x2 + 1
+ c

B. 
1
4
log

x2 + 1

x2 - 1
+ c

C. 
1
2
log

x2 - 1

x2 + 1
+ c

D. 
1
2
log

x2 + 1

x2 - 1
+ c

[ ]
[ ]
[ ]
[ ]

https://dl.doubtnut.com/l/_t9V6X8S7f6F1
https://dl.doubtnut.com/l/_ItrQiYIcO74I


Answer: A

Watch Video Solution

142. Integration by partial fraction : 

∫sin5xcos4xdx = ...

A. -
1
5
cos5x +

2
7
x -

1
9
cos9x + c

B. 
1
5
cos5x +

2
7
x -

1
9
cos9x + c

C. 
1
5
cos5x +

2
7
x +

1
9
cos9x + c

D. None of these

Answer: A

Watch Video Solution

143. ∫
dx

√2x - x2
= ....

https://dl.doubtnut.com/l/_ItrQiYIcO74I
https://dl.doubtnut.com/l/_pnYSFH7T15Xg
https://dl.doubtnut.com/l/_MQ0XTE7rSbzg


A. cos - 1(x - 1) + c

B. sin - 1(x - 1) + c

C. cos - 1(1 + x) + c

D. sin - 1(1 - x) + c

Answer: B

Watch Video Solution

144. ∫
x2

x2 + a2 x2 + b2
dx

A. 
1

a2 - b2

1
b
tan - 1

x
b

-
1
a
tan - 1

x
a

+ c

B. 
1

b2 - a2

1
b
tan - 1

x
b

-
1
a
tan - 1

x
a

+ c

C. 
1
b tan

- 1 x
b -

1
a tan

- 1 x
a + c

D. 
1
a tan

- 1 x
b -

1
a tan

- 1 x
a + c

( )( )

( ) [ ( ) ( )]

( ) [ ( ) ( )]
( ) ( )
( ) ( )

https://dl.doubtnut.com/l/_MQ0XTE7rSbzg
https://dl.doubtnut.com/l/_o22S1WYLwFEx


Answer: A

Watch Video Solution

145. ∫
1

1 + cos2x
dx = .... .

A. 
1

√2
tan - 1(tanx) + c

B. 
1

√2
tan - 1

1
2
tanx + c

C. 
1

√2
tan - 1

1

√2
tanx + c

D. None of these

Answer: C

Watch Video Solution

( )
( )

https://dl.doubtnut.com/l/_o22S1WYLwFEx
https://dl.doubtnut.com/l/_XqEQgKpagmQ5


146. Integration by partial fraction : 

∫
dx

2x2 + x + 1
= .... .

A. 
1

√7
tan - 1

4x + 1

√7
+ c

B. 
1

2√7
tan - 1

4x + 1

√7
+ c

C. 
1
2
tan - 1

4x + 1

√7
+ c

D. None of these

Answer: D

Watch Video Solution

( )
( )

( )

147. Integration by partial fraction : 

∫
dx

x2 + 4x + 13
= ...

A. log x2 + 4x + 13x + c( )

https://dl.doubtnut.com/l/_i8sWFk0B7VDg
https://dl.doubtnut.com/l/_1sA0iaYdoHLr


B. 
1
3
tan - 1

x + 3
3

+ c

C. log(2x + 4) + c

D. 
2x + 4

x2 + 4x + 13 2
+ c

Answer: B

Watch Video Solution

( )

( )

148. Integration by partial fraction : 

∫
3sinx + 2cosx
3cosx + 2sinxdx = ...

A. 
12
13x -

5
13 log(3cosx + 2sinx)

B. 
12
13x +

5
13 log(3cosx + 2sinx)

C. 
13
12x +

5
13 log(3cosx + 2sinx)

D. None of these

Answer: A

https://dl.doubtnut.com/l/_1sA0iaYdoHLr
https://dl.doubtnut.com/l/_uxYKSQmfsoWw


Watch Video Solution

149. Integration by partial fraction : 

∫
dx

x (logx)2 + 4log(x) - 1
= ....

A. 
1

2√5
log

logx + 2 - √5
logx + 2 + √5

+ c

B. 
1

√5
log

logx + 2 - √5
logx + 2 + √5

+ c

C. 
1

2√5
log

logx + 2 + √5
logx + 2 - √5

+ c

D. 
1

√5
log

logx + 2 + √5
logx + 2 - √5

+ c

Answer: A

Watch Video Solution

[ ) )
[ ]
[ ]
[ ]
[ ]

https://dl.doubtnut.com/l/_uxYKSQmfsoWw
https://dl.doubtnut.com/l/_aLuRmiD8P8fx


150. Integration by partial fraction : 

∫
dx

x xn + 1
= ....

A. nlog
xn

xn + 1
+ c

B. nlog
xn + 1

xn
+ c

C. 
1
n
log

xn

xn + 1
+ c

D. 
1
n
log

xn

xn + 1
+ c

Answer: C

Watch Video Solution

( )

151. Integration by partial fraction : 

∫
x2 + 1

x4 + 1
dx = .... .

A. 
1

√2
tan - 1

x2 - 1
2x + c( )

https://dl.doubtnut.com/l/_Y0XB9jIcLT0c
https://dl.doubtnut.com/l/_T4tv16Oio4kH


B. 
1

√2
tan - 1

x2 - 1

√2x
+ c

C. 
1

√2
tan - 1

x2 - 1

2√x
+ c

D. 
1

√2
tan - 1

x2 - 1

√2x
+ c

Answer: D

Watch Video Solution

( )
( )
( )

152. Integration by partial fraction : 

∫
x2 - 1

x4 + x2 + 1
dx = ...

A. 
1
2
log

x2 + x + 1

x2 - x + 1
+ c

B. 
1
2
log

x2 - x - 1

x2 + x + 1
+ c

C. log
x2 - x + 1

x2 + x + 1
+ c

( )
( )
( )

https://dl.doubtnut.com/l/_T4tv16Oio4kH
https://dl.doubtnut.com/l/_WXw3f2HeD0GP


D. 
1
2
log

x2 - x + 1

x2 + x + 1
+ c

Answer: D

Watch Video Solution

( )

153. Integration by partial fraction : 

If ∫
2x2 + 3 ⋅ dx

x2 - 1 x2 - 4
= log

x - 2
x + 2

a x + 1
x - 1

b
+ c then the value of a

and b are ...... Respectively.

A. 
11
12
,
5
6

B. 
11
12
,
-5
6

C. -
11
12
,
5
6

D. None of these

Answer: D

W t h Vid S l ti

( )( ) ( ) ( )

https://dl.doubtnut.com/l/_WXw3f2HeD0GP
https://dl.doubtnut.com/l/_pghiuGPWvFxe


Watch Video Solution

154. Integration by partial fraction : 

∫
xdx

x4 + x2 + 1
= ......

A. 
1
3 tan

- 1 2x2 + 1
3

B. 
1

√3
tan - 1

2x2 + 1
3

C. 
1

√3
tan - 1 2x1 + 1

D. None of these

Answer: B

Watch Video Solution

( )
( )
(( )

155. Integration by partial fraction : 

∫
4ex + 6e - x

9ex - 4e - x
dx = Ax + Blog 9ex - 4e - x + c then A+B=.( )

https://dl.doubtnut.com/l/_pghiuGPWvFxe
https://dl.doubtnut.com/l/_ZVqiBEXUS0dk
https://dl.doubtnut.com/l/_fPc1axA3mHok


A. 
4
9

B. 
4
36

C. 
35
36

D. 
9
4

Answer: A

Watch Video Solution

156. Integration by partial fraction : 

∫
x2

(xsinx + cosx)2
dx = .... + c

A. 
sinx + cosx
xsinx + cosx

B. 
xsinx - cosx
xsinx + cosx

C. 
sinx - xcosx
xsinx + cosx

D. None of these

https://dl.doubtnut.com/l/_fPc1axA3mHok
https://dl.doubtnut.com/l/_vm7MwFmSsDD2


Answer: C

Watch Video Solution

157. Integration by partial fraction : 

∫
dx

sinx - cosx + √2
= .... + c

A. -
1

√2
tan

x
2 +

π
8

B. 
1

√2
tan

x
2
+
π
8

C. 
1

√2
co

x
2
+
π
8

D. -
1

√2
co

x
2
+
π
8

Answer: D

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_vm7MwFmSsDD2
https://dl.doubtnut.com/l/_pGhjkeluvEFH


158. Integration by partial fraction : 

∫
dx

4sin2x + 5cos2x
dx = ... + c

A. 
1

√5
tan - 1

2tanx

√5

B. 
1

√5
tan - 1

tanx

√5

C. 
1

2√5
tan - 1

2tanx

√5

D. None of these

Answer: C

Watch Video Solution

( )
( )
( )

159. Integration by partial fraction : 

∫
adx

b + cex
= .... + c

A. 
a
b
log

ex

b + cex( )

https://dl.doubtnut.com/l/_NSKqsngcBHHo
https://dl.doubtnut.com/l/_GULNozT9D2wC


B. 
a
b
log

b + cex

b + cex

C. 
b
a
log

b + cex

b + cex

D. 
b
a
log

b + cex

ex

Answer: A

View Text Solution

( )
( )
( )

160. Integration by partial fraction : 

∫
5x4 + 4x5

x5 + x + 1 2
dx = f(x) + c then f(x)=.....

A. 
1

x5 + x + 1

B. 
x5

x5 + x + 1

C. 
x4

x5 + x + 1

( )

https://dl.doubtnut.com/l/_GULNozT9D2wC
https://dl.doubtnut.com/l/_4LlBk6IAZMOA


D. 
1

x5 + x + 1 3

Answer: B

Watch Video Solution

( )

161. Integration by partial fraction : 

∫
dx

x4 - 1
= .... + c

A. 
1
4
log

x + 1
x - 1

B. 
1
4
log

x + 1
x - 1

-
1
2
tan - 1x

C. 
1
2 log

x2 - 1
x + 1

D. 
1
4
log

x + 1
x - 1

-
1
2
tan - 1

x
2

Answer: B

Watch Video Solution

| |
| |
| |
| |

https://dl.doubtnut.com/l/_4LlBk6IAZMOA
https://dl.doubtnut.com/l/_Ay3CUPvpvFRA


162. Integration by partial fraction : 

∫
x3dx

x2 + a2
= .... + c

A. 
x2

2 +
a2

2 log x2 + a2

B. 
x2

2
+ a2log x2 + a2

C. x2 +
a2

2
log x2 + a2

D. 
x2

2
-
a2

2
log x2 + a2

Answer: D

Watch Video Solution

| |
| |
| |
| |

163. Integration by partial fraction : 

∫
dx

x2(x + 1)
= x... + c

A. log
x

x + 1
-
1
x| |

https://dl.doubtnut.com/l/_Ay3CUPvpvFRA
https://dl.doubtnut.com/l/_fXUypxNOHHHO
https://dl.doubtnut.com/l/_2mJtesGR1DmF


B. log|x(x + 1)| -
1
x

C. log
x + 1
x

-
1
x

D. log
x + 1

x2
+

1

x2

Answer: C

Watch Video Solution

| |
| |

164. Method of integration by parts : 

∫cos2xdx = ....

A. 
x4

4
-
1
4
xsin2x -

1
8
cos2x + c

B. 
x4

4
+
1
4
xsin2x +

1
8
cos2x + c

C. 
x4

4 -
1
4xsin2x +

1
8cos2x + c

D. 
x4

4
+
1
4
xsin2x +

1
8
cos2x + c

https://dl.doubtnut.com/l/_2mJtesGR1DmF
https://dl.doubtnut.com/l/_3ppZcAhnSak6


Answer: B

Watch Video Solution

165. Method of integration by parts : 

∫ tan - 1xdx = ....

A. xtan - 1x +
1
2
log 1 + x2

B. xtan - 1x -
1
2
log 1 + x2

C. (x - 1)tan - 1x

D. xtan - 1x - log 1 + x2

Answer: B

Watch Video Solution

( )
( )

( )

https://dl.doubtnut.com/l/_3ppZcAhnSak6
https://dl.doubtnut.com/l/_toJzcmxtyqVu


166. Method of integration by parts : 

∫ [sin(logx) + cos(logx)]dx = ....

A. xcos(logx) + c

B. sin(logx) + c

C. cos(logx) + c

D. xsin(logx) + c

Answer: D

Watch Video Solution

167. Method of integration by parts : 

∫xsinxsec3xdx = ....

A. 
1
2

sec2x - tanx + c

B. 
1
2

xsec2x - tanx + c

[ ]
[ ]

https://dl.doubtnut.com/l/_vt1TDJaVII8T
https://dl.doubtnut.com/l/_eYxJ4weR9QkW


C. 
1
2

xsec2x + tanx + c

D. 
1
2

xsec2x - tanx + c

Answer: B

Watch Video Solution

[ ]
[ ]

168. Method of integration by parts : 

∫ log(x + 1)dx = ....

A. (x + 1)log(x + 1) - x + c

B. (x + 1)log(x + 1) + x + c

C. (x - 1)log(x + 1) - x + c

D. (x - 1)log(x + 1) + x + c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_eYxJ4weR9QkW
https://dl.doubtnut.com/l/_nmLjFnqICXHB


169. Method of integration by parts : 

If ∫ log x2 + x dx = xlog x2 + x + A then A=.....

A. 2x + ln(x + 1) +  constant

B. 2x - ln(x + 1) +  constant

C. constant

D. None of these

Answer: D

Watch Video Solution

( ) ( )

170. Method of integration by parts : 

∫x2sin2xdx = ....

A. 
1
2
x2cos2x +

1
2
xsin2x +

1
4
cos2x + c

B. -
1
2
x2cos2x +

1
2
xsin2x +

1
4
cos2x + c

https://dl.doubtnut.com/l/_BYy9KGdkWf6Y
https://dl.doubtnut.com/l/_Pfd3HbKapxjK


C. 
1
2
x2cos2x -

1
2
xsin2x +

1
4
cos2x + c

D. None of these

Answer: B

Watch Video Solution

171. Method of integration by parts : 

∫xnlogxdx = ....

A. 
xn+1

n + 1
logx +

1
n + 1

+ c

B. 
xn+1

n + 1
logx +

2
n + 1

+ c

C. 
xn+1

n + 1
2logx -

1
n + 1

+ c

D. 
xn+1

n + 1
logx -

1
n + 1

+ c

Answer: D

Watch Video Solution

{ }
{ }
{ }
{ }

https://dl.doubtnut.com/l/_Pfd3HbKapxjK
https://dl.doubtnut.com/l/_bZTMwFs3r1To


172. Method of integration by parts : 

∫
1

logx
-

1

(logx)2
dx = .......

A. 
1

logx
+ c

B. 
x

logx
+ c

C. 
x

(logx)2

D. None of these

Answer: B

Watch Video Solution

[ ]

173. ∫
logx

(1 + logx)2
dx=....

A. 
1

1 + logx + c

https://dl.doubtnut.com/l/_bZTMwFs3r1To
https://dl.doubtnut.com/l/_PzmAhEDYbin7
https://dl.doubtnut.com/l/_ecWnaryUqdsJ


B. 
1

(1 + logx)2
+ c

C. 
x

1 + logx
+ c

D. 
1

(1 + logx)2
+ c

Answer: C

Watch Video Solution

174. Method of integration by parts : 

∫e2x
1 + sin2x
1 + cos2x

dx = .... .

A. excotx + c

B. -excotx + c

C. -extanx + c

D. extanx + c

Answer: D

https://dl.doubtnut.com/l/_ecWnaryUqdsJ
https://dl.doubtnut.com/l/_NSGgGNjKGHp0


Watch Video Solution

175. Method of integration by parts : 

∫ [f(x)g′ ′ (x) - f′ ′ (x)g(x)]dx = ....

A. 
f(x)
g′ (x)

B. f′ (x)g(x) - f(x)g′ (x)

C. f(x)g′ (x) - f′ (x)g(x)

D. f(x)g′ (x) + f′ (x)g(x)

Answer: C

Watch Video Solution

176. Method of integration by parts : 

∫
logx

(x + 1)2
dx = .... .

A. 
- logx
x + 1

+ logx - log(x + 1)

https://dl.doubtnut.com/l/_NSGgGNjKGHp0
https://dl.doubtnut.com/l/_EgNAtFYDgZ1y
https://dl.doubtnut.com/l/_m8JYxQETzTOm


B. 
logx
(x + 1)

+ logx - log(x + 1)

C. 
logx
x + 1

- logx - log(x + 1)

D. 
- logx
x + 1

- logx - log(x + 1)

Answer: A

Watch Video Solution

177. If 
d
dx

f(x) = cosx + sinx and f(0) = 2, then `f(x)=.....

A. xsinx

B. -cosx + sinx + 3

C. xsinx + 2

D. xcosx + 2

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_m8JYxQETzTOm
https://dl.doubtnut.com/l/_N4rpJfT3g5qv


178. Method of integration by parts : 

∫cos - 1
1
x

dx.... .

A. xsec - 1x + cos - 1x + c

B. xsec - 1x - cos - 1x + c

C. xsec - 1x - sin - 1x + c

D. None of these

Answer: B

Watch Video Solution

( )

179. Method of integration by parts : 

∫ex[tanx - log(cosx)]dx = .... .

A. exlog(secx) + c

https://dl.doubtnut.com/l/_N4rpJfT3g5qv
https://dl.doubtnut.com/l/_U16Gqx89TrMb
https://dl.doubtnut.com/l/_XrBpoKr0iY2q


B. exlog(cosecx) + c

C. exlog(secx) + c

D. exlog(sinx) + c

Answer: A

Watch Video Solution

180. Method of integration by parts : 

∫e2x
1 + sin2x
1 + cos2x

dx = .... .

A. e2xtanx + c

B. e2xcotx + c

C. 
e2xtanx

2
+ c

D. 
e2xcotx

2
+ c

Answer: C

https://dl.doubtnut.com/l/_XrBpoKr0iY2q
https://dl.doubtnut.com/l/_ZwFfmrKfSbvf


Watch Video Solution

181. Method of integration by parts : 

∫ex
x2 + 1

(x + 1)2
dx = ....

A. 
x - 1
x + 1

ex + c

B. ex
x + 1
x - 1

+ c

C. ex(x + 1)(x - 1) + c

D. None of these

Answer: A

Watch Video Solution

( )

( )
( )

182. Method of integration by parts : 

∫
x - sinx
1 - cosx dx = ....

https://dl.doubtnut.com/l/_ZwFfmrKfSbvf
https://dl.doubtnut.com/l/_MEJ8nFxQRtZb
https://dl.doubtnut.com/l/_AmVlXvcqiuXB


A. xcot
x
2

+ c

B. -xcot
x
2

+ c

C. cot
x
2

+ c

D. None of these

Answer: B

Watch Video Solution

( )
( )

( )

183. Method of integration by parts : 

If ∫
ex(1 + sinx)dx

1 + cosx
= exf(x) + c,  then f(x)=

A. sin
x
2

B. cos
x
2

C. tan
x
2

D. log
x
2

https://dl.doubtnut.com/l/_AmVlXvcqiuXB
https://dl.doubtnut.com/l/_3apmFCEe1qCC


Answer: C

Watch Video Solution

184. Method of integration by parts : 

∫√xe√xdx = ....

A. 2√x - e√x - 4√xe√x+ c

B. 2x - 4√x + 4 e√x+ c

C. 2x + 4√x + 4 e√x + c

D. 1 - 4√x e√x + c

Answer: B

Watch Video Solution

( )

( )

( )

https://dl.doubtnut.com/l/_3apmFCEe1qCC
https://dl.doubtnut.com/l/_mAoldvJ6hOgb


185. Method of integration by parts : 

∫
xtan - 1x

1 + x2
3
2

dx = .... .

A. 
x + tan - 1x

√1 + x2
+ c

B. 
x - tan - 1x

√1 + x2
+ c

C. 
tan - 1x - x

√1 + x2
+ c

D. None of these

Answer: B

Watch Video Solution

( )

186. Method of integration by parts : 

I1 = ∫sin - 1xdx and I2 = ∫sin - 1√1 - x2dx then.....

A. I1 = I2

https://dl.doubtnut.com/l/_3qCGqSoN5CuH
https://dl.doubtnut.com/l/_yoP8yrRntnMC


B. I2 =
π
2I1

C. I1 + I2 =
π
2x

D. I1 + I2 =
π
2

Answer: C

Watch Video Solution

187. Method of integration by parts : 

The anti derivative of f(x) and ex and the anti derivative of g(x) is cosx,

then, ∫ f(x)cosxdx + ∫g(x)exdx = ............

A. f(x)g(x) + c

B. f(x) + g(x) + c

C. excosx + c

D. f(x) - g(x) + c

https://dl.doubtnut.com/l/_yoP8yrRntnMC
https://dl.doubtnut.com/l/_V4s9JEWfEUWy


Answer: C

Watch Video Solution

188. Method of integration by parts : 

∫ cos - 1x + cos - 1√1 - x2 dx = Ax + f(x)sin - 1x - 2√1 + x2 + c, ∀x ∈ [ - 1, 0)

then ..........

Watch Video Solution

( )

189. Method of integration by parts : 

If ∫
xex

√1 + ex
dx = f(x)√1 + ex - 2logg(x) + c then .........

A. f(x) = x - 1, g(x) =
√1 + ex + 1

√1 + ex - 1

B. f(x) = 2x - 4, g(x) =
√1 + ex - 1

√1 + ex + 1

https://dl.doubtnut.com/l/_V4s9JEWfEUWy
https://dl.doubtnut.com/l/_tBxD2ccSkFOD
https://dl.doubtnut.com/l/_M6UH5XPO86V8


C. f(x) = x - 1, g(x) =
√1 + ex - 1

√1 + ex + 1

D. None of these

Answer: B

Watch Video Solution

190. Method of integration by parts : 

∫sin5xdx = -
sin4xcosx

5
+ Asin2xcosx + Bcosx + c then the value of A+B

is .........

A. -
2
3

B. -
3
4

C. -
4
5

D. -
5
6

Answer: C

https://dl.doubtnut.com/l/_M6UH5XPO86V8
https://dl.doubtnut.com/l/_fFmuCy4bvAY3


Watch Video Solution

191. Method of integration by parts : 

If ∫ f(x)dx = ϕ(x) then ∫x5f x3 dx = ..........

A. 
1
3

x3ϕ x3 - ∫x2ϕ x3 dx + c

B. 
1
3

x3ϕ x3 - 3∫x3ϕ x2 dx + c

C. 
1
3

x2ϕ x3 - 3∫x2ϕ x3 dx + c

D. 
1
3

x3ϕ x3 - 3∫x3ϕ x3 dx + c

Answer: C

Watch Video Solution

( )

[ ( ) ( ) ]
[ ( ) ( ) ]
[ ( ) ( ) ]
[ ( ) ( ) ]

192. Method of integration by parts : 

∫e3xcos4xdx = e3x(Asin4x + Bcos4x) + c then.....

https://dl.doubtnut.com/l/_fFmuCy4bvAY3
https://dl.doubtnut.com/l/_cqpewPdeIGKS
https://dl.doubtnut.com/l/_gplZgTCKIDr1


A. 4A = 3B

B. 2A = 3B

C. 3A = 4B

D. 4A + 3B = 1

Answer: D

Watch Video Solution

193. Method of integration by parts : 

∫e2x ⋅ x4dx =
e2x

2
f(x) + c then f(x)=.....

A. 
1
2
x4 - 2x3 + 3x2 - 3x +

3
2

B. x4 - x3 + 2x2 - 3x + 2

C. x4 - 2x3 + 3x2 - 3x +
3
2

D. x4 - 2x3 + 2x2 - 3x +
3
2

)
( )

( )
( )

https://dl.doubtnut.com/l/_gplZgTCKIDr1
https://dl.doubtnut.com/l/_upvdAZiPsKFI


Answer: C

Watch Video Solution

194. Method of integration by parts : 

If ∫n = ∫ (sinx)ndx, x ∈ N then the value 5I4 - 6I6  is .....

A. sinx cosx5 + c

B. sin2x - cos2x + c

C. 
sin2x
8

cos22x + 1 - cos2x + c

D. None of these

Answer: C

Watch Video Solution

( )

(

( )

https://dl.doubtnut.com/l/_upvdAZiPsKFI
https://dl.doubtnut.com/l/_xDi092n006Ar


195. Method of integration by parts : 

If In = ∫cotnxdx then I0 + I1 + 2 I2 + I3 + , ...... + I8 + I9 + I10= ... .

A. u +
u2

2
+ .... +

u9

9

B. - u +
u2

2
+ ...... +

u2

9

C. - u +
u2

2!
+ ...... +

u2

9!

D. 
u
2
+
2u2

3
+ .... +

9u9

10

Answer: B

Watch Video Solution

( ) (

( )
( )

196. Method of integration by parts : 

If u = ∫eaxcosbxdx and v = ∫eaxsinbxdx then a2 + b2 u2 + v2 = ....

A. e2ax

( )( )

https://dl.doubtnut.com/l/_lY7jQeL5UZox
https://dl.doubtnut.com/l/_EqsVVAhDmaj0


B. a2 + b2 e2ax

C. eax

D. a2 - b2 e2ax

Answer: A

Watch Video Solution

( )

( )

197. Integration by partial fraction : 

∫
x2

(xsinx + cosx)2
dx = .... + c

A. 
sinx + xcosx
xsinx + cosx

B. 
six - xcosx
xsinx + cosx

C. 
sinx - xcosx
xsinx - cosx

D. None of these

Answer: D

https://dl.doubtnut.com/l/_EqsVVAhDmaj0
https://dl.doubtnut.com/l/_lgjODLxW3y5D


Watch Video Solution

198. Method of integration by parts : 

∫cos(logx)dx = .... + c

A. 
x
2
[cos(logx) + sin(logx)]

B. 
x
4
[cos(logx) + sin(logx)]

C. 
x
2
[cos(logx) - sin(logx)]

D. 
x
2
[sin(logx) - cos(logx)]

Answer: A

Watch Video Solution

199. Method of integration by parts : 

∫exsinxcosxdx = ... + c

A. 
ex

2√5
cos 2x - tan - 12( )

https://dl.doubtnut.com/l/_lgjODLxW3y5D
https://dl.doubtnut.com/l/_BsQPGW57AcK5
https://dl.doubtnut.com/l/_z7FXIZjGARMg


B. 
ex

2√5
sin 2x - tan - 12

C. 
ex

2√5
sin 2x + tan - 12

D. 
ex

2√5
sin 2x + π - tan - 12

Answer: B

Watch Video Solution

( )
( )
( )

200. Integrate the following functions : 

5 + logx

(6 + logx)2

A. 
x

logex + 6

B. 
1

5 + logex

C. 
x

logex + 5

D. 
ex

logex + 6

Answer: A

https://dl.doubtnut.com/l/_z7FXIZjGARMg
https://dl.doubtnut.com/l/_AssULtuLbxCw


Watch Video Solution

201. ∫
etan

- 1 ( x )

1 + x2
1 + x + x2 dx = ... + c

A. etan
- 1x

B. 
etan

- 1x

1 + x2

C. x. etan
- 1x

D. 
x

1 + x
etan

- 1x

Answer: C

Watch Video Solution

( )

( )
( )

202. Integrate the functions 

ex
1 + sinx
1 + cosx( )

https://dl.doubtnut.com/l/_AssULtuLbxCw
https://dl.doubtnut.com/l/_AQydmzxHua2o
https://dl.doubtnut.com/l/_utwCRgRS00xi


A. excotx

B. excot
x
2

C. extan
x
2

D. e
x
2 . tan

x
2

Answer: C

Watch Video Solution

203. Integrate the following functions : 

ex
1 + xlogx

x

A. exlogx

B. x. ex

C. 
1
x
logx

D. e - xlogx

( )

https://dl.doubtnut.com/l/_utwCRgRS00xi
https://dl.doubtnut.com/l/_i1aFd0EwkrZz


Answer: A

Watch Video Solution

204. ∫ logx +
1

x2
exdx = .......... + c

A. ex logx +
1

x2

B. ex logx +
1
x

C. ex logx -
1

x2

D. ex logx -
1
x

Answer: D

Watch Video Solution

( )
( )
( )
( )
( )

https://dl.doubtnut.com/l/_i1aFd0EwkrZz
https://dl.doubtnut.com/l/_h8r1SWQcEGX2


205. ∫ x6 + 7x5 + 6x4 + 5x3 + 4x2 + 3x + 1 exdx = ....... + c

A. 

7

∑
i=0

xiex

B. 

6

∑
i=1

xiex

C. 

6

∑
i=0

iex

D. 

6

∑
i=0

(xe)i

Answer: B

Watch Video Solution

( )

206. ∫xcos2xdx = ....... + c

A. 
xsin2x
2

+
cos2x
4

B. xcos2x -
1
2
cos2x

C. 
xsin2x
2

+
cos2x
2

https://dl.doubtnut.com/l/_yY1sH998ntL9
https://dl.doubtnut.com/l/_p6nS7dGGOoig


D. 
x2cos2x

2
+
sin2x
2

Answer: A

Watch Video Solution

207. ∫sin - 1xdx = ...... + c

A. cos - 1x

B. xcos - 1x -√1 - x2

C. xsin - 1x +√1 - x2

D. xcos - 1x +√1 - x2

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_p6nS7dGGOoig
https://dl.doubtnut.com/l/_vpmoeEYNzkT7


208. ∫ex cotx - cot2x dx = ....... + c

A. excosec2x

B. excotx

C. ex(cotx + 1)

D. ex(cotx - 1)

Answer: C

Watch Video Solution

( )

209. ∫
ex

x + 1 [1 + (x + 1)log(x + 1)]dx = ...... + c

A. 
ex

x + 1

B. ex(x + 1)

C. exlog(x + 1)

https://dl.doubtnut.com/l/_ZO2t02JyTPo5
https://dl.doubtnut.com/l/_Mjw1w1XVKHyz


D. ex[log(x + 1) + 1]

Answer: C

Watch Video Solution

210. ∫
x - 1

(x + 1)3
exdx = ....... + c

A. 
ex

(x + 1)2

B. 
-ex

(x + 1)2

C. 
ex

(x + 1)3

D. 
-ex

(x + 1)3

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Mjw1w1XVKHyz
https://dl.doubtnut.com/l/_OyoUXlw7qeHI


211. If ∫x. e2xdx = e2xf(x) + c where c is arbitary constant then f(x)=…….

A. 
x - 4
6

B. 
2x - 1
4

C. 
2x + 1
2

D. 
3x - 1
4

Answer: B

Watch Video Solution

212. ∫e3xcos4xdx = ......... + c

A. 
e3x

25
(3cos4x - 4sin4x)

B. 
e3x

5
(3cos4x - 4sin4x)

C. 
e3x

5 (3cos4x + 4sin4x)

https://dl.doubtnut.com/l/_3a7rrHZRa5iR
https://dl.doubtnut.com/l/_h1dUNn2qTsWx


D. 
e3x

5
cos 4x - tan - 1

4
3

Answer: D

Watch Video Solution

( )

213. ∫e4xsin3xdx = ...... + c

A. 
e4x

25
(sinx + cosx)

B. 
e4x

25
(4sin3x - 3cos3x)

C. 
e4x

5 (4sin3x - 3cos3x)

D. 
e4x

25
(4sin3x - 3cos3x)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_h1dUNn2qTsWx
https://dl.doubtnut.com/l/_bAOAkoAxZEyy


214. ∫e
x

√2cos
x

√2
dx = ...... + c

A. e
x

√2sin
x

√2
-
π
4

B. e
x

√2sin
x

√2
+
π
4

C. e
x

√2cos
x

√2
+
π
4

D. 
e

x

√2

√2
cos

x

√2
+
π
4

Answer: B

Watch Video Solution

( )
( )
( )
( )
( )

215. ∫x. tan - 1xdx = ...... + c

A. 
x2 + 1
2

tan - 1x +
x
2

B. 
x2 + 1
2

tan - 1x -
x
2

https://dl.doubtnut.com/l/_o0kKikpKrawK
https://dl.doubtnut.com/l/_Fw2pUtToUMCR


C. (x + 1)tan - 1x + x

D. 
x + 1
2

tan - 1x +
x
2

Answer: B

Watch Video Solution

216. ∫e2x log2x +
1
2x

dx = .......... + c

A. 
e2x

2
log2x

B. e2xlog2x

C. 
ex

2
logx

D. 
e2x

2 logx

Answer: A

Watch Video Solution

( )

https://dl.doubtnut.com/l/_Fw2pUtToUMCR
https://dl.doubtnut.com/l/_k7kFP0AUjFoM


217. ∫x3. ex
2
dx = .......... + c

A. 
x2 + 1
2

ex
2

B. 
x2 - 1
2

ex
2

C. x2ex

D. 
x3

3
ex

2

Answer: B

Watch Video Solution

( )
( )

218. Some standard forms of integration : 

∫x2√x6 - 1dx = ....... + c

A. 
1
6 x3√x6 - 1 + cos - 1x3

B. 
1
6

x3√x6 - 1 + sin - 1x3

( )
( )

https://dl.doubtnut.com/l/_GagkEZX04GMx
https://dl.doubtnut.com/l/_IKjKPn6h0Xhi


C. 
1
6

x3√x6 - 1 + log x3 +√x6 - 1

D. 
1
6 x3√x6 - 1 - log x3 +√x6 - 1

Answer: D

Watch Video Solution

( | |)
( | |)

219. Some standard forms of integration : 

∫√x2 - 4x + 2dx = .......... + c

A. 
x - 2
2 √x2 - 4x + 2 + log x - 2 +√x2 - 4x + 2

B. 
x - 2
2 √x2 - 4x + 2 - log x - 2 +√x2 - 4x + 2

C. 
x - 2
2 √x2 - 4x + 2 + sin - 1

x - 2
2

D. 
x - 2
2 √x2 - 4x + 2 +

1
2
sin - 1

x - 2
2

Answer: B

Watch Video Solution

| |
| |
( )
( )

https://dl.doubtnut.com/l/_IKjKPn6h0Xhi
https://dl.doubtnut.com/l/_R2SbxDN0sjZF


220. Some standard forms of integration : 

∫√1 - 4x - x2dx = ....... + c

A. 
x + 2
2 √1 - 4x - x2 +

√5
2
sin - 1

x + 2
5

B. 
x + 2
2 √1 - 4x - x2 +

5
2
sin - 1

x + 2
5

C. 
x + 2
2 √1 - 4x - x2 -

5
2sin

- 1 x + 2

√5

D. 
x + 2
2 √1 - 4x - x2 +

5
2sin

- 1 x + 2

√5

Answer: D

Watch Video Solution

( )
( )
( )
( )

221. Some standard forms of integration : 

∫√3 - x2dx = ............... + c (where |x| < √3 )

https://dl.doubtnut.com/l/_R2SbxDN0sjZF
https://dl.doubtnut.com/l/_CznroykNGS0T
https://dl.doubtnut.com/l/_uYuIny4iA27T


A. 
x
2√3 - x2 +

3
2
sin - 1

x

√3

B. 
x
2√3 - x

2 +
3
2
log x +√3 - x2

C. 
x
2√3 - x2 -

3
2
log

3
x

D. 
x
2√3 - x2 +

3
2
log

√x
3

Answer: A

Watch Video Solution

( )
( )
(√ )
( )

222. Some standard forms of integration : 

∫sinx√4 - cos2xdx = .......... + c

A. -
cosx
2 √4 - cos2x + 2log x +√4 - cos2x

B. -
cosx
2 √4 - cos2x + 2sin - 1

cosx
2

C. -
cosx
2 √4 - cos2x - 2sin - 1

cosx
2

| |
( )
( )

https://dl.doubtnut.com/l/_uYuIny4iA27T
https://dl.doubtnut.com/l/_ELRDlNhBjywe


D. 
cosx
2 √4 - cos2x + 2sin - 1

cosx
2

Answer: C

Watch Video Solution

( )

223. Some standard forms of integration : 

∫√x2 + 7dx = .......... + C

A. 
x
2√x2 + 7 +

7
2
log x +√x2 + 7

B. 
x
2√x2 + 7 +

√7
2 log x -√x2 + 7

C. 
x
2√x2 + 7 +

7
2sin

- 1 x

√7

D. log x +√x2 + 7

Answer: A

Watch Video Solution

| |
| |

| |

https://dl.doubtnut.com/l/_ELRDlNhBjywe
https://dl.doubtnut.com/l/_vK3YNrNZv0dm
https://dl.doubtnut.com/l/_6q0q1K4pBnq8


224. Definite integration as the limit of a sum : 

lim n→ ∞

n

∑
r=1

1
n
e

r
n = .............

A. e

B. e-1

C. 1-e

D. e+1

Answer: B

Watch Video Solution

225. Definite integration as the limit of a sum : 

lim n→ ∞
1p + 2p + 3p + ....... + np

np+1
= .......... .

A. 1

B. 
1

p + 1

https://dl.doubtnut.com/l/_6q0q1K4pBnq8
https://dl.doubtnut.com/l/_QyWze0VUi5ZN


C. 
1

p + 2

D. p2

Answer: B

Watch Video Solution

226. Definite integration as the limit of a sum : 

lim n→ ∞

4n

∑
r=1

√n

√r 3√r + 4√n 2
= .......... .

A. 
1
35

B. 
1
14

C. 
1
10

D. 
1
5

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_QyWze0VUi5ZN
https://dl.doubtnut.com/l/_nYaor5Bz84hB


227. Definite integration as the limit of a sum : 

lim n→ ∞

n

∑
k=0

n

n2 + k2
= ..........

A. 
π
4

B. 
π
2

C. π

D. 0

Answer: C

Watch Video Solution

228. Definite integration as the limit of a sum : 

lim n→ ∞
1

n2
sec2

1

n2
+

2

n2
sec2

4

n2
+ ....... +

1
n
sec21 


a. 'tan1 b. 1/2tan1 c. 1/2sec1 d. 1/2cosec 1`

[ ]

https://dl.doubtnut.com/l/_nYaor5Bz84hB
https://dl.doubtnut.com/l/_ON51OOLcmc1g
https://dl.doubtnut.com/l/_SLyeoRRQH409


A. tan1

B. 
1
2
tan1

C. 
1
2
sec1

D. 
1
2
cosec1

Answer: B

Watch Video Solution

229. Definite integration as the limit of a sum : 

lim n→ ∞

n

∑
K=1

K

n2 + K2 = ......

A. 
1
2
log2

B. log2

C. 
π
4

D. 
π
2

https://dl.doubtnut.com/l/_SLyeoRRQH409
https://dl.doubtnut.com/l/_5uGgAP2PBg5Q


Answer: A

Watch Video Solution

230. Definite integration as the limit of a sum : 

lim n→ ∞
n

1 + n2
+

n

4 + n2
+

n

9 + n2
+ ......... +

n

2n2
= ......

A. 
π
2

B. 
π
4

C. 1

D. None of these

Answer: B

Watch Video Solution

[ ]

https://dl.doubtnut.com/l/_5uGgAP2PBg5Q
https://dl.doubtnut.com/l/_KqDusGpOIizi


231. Definite integration as the limit of a sum : 

lim n→ ∞
1
n +

1

√n2 + n
+

1

√n2 + 2n
+ ....... +

1

√n2 + (n - 1)n
= .........

A. 2 + 2√2

B. 2√2 - 2

C. 2√2

D. 2

Answer: B

Watch Video Solution

[ ]

232. Definite integration as the limit of a sum : 

lim n→ ∞
1
n
+

1
n + 1

+
1

n + 2
+ ....... +

1
2n

A. 0

https://dl.doubtnut.com/l/_zo7UO9zaUL7W
https://dl.doubtnut.com/l/_8Wg21CDRqmuL


B. loge4

C. loge3

D. loge2

Answer: D

Watch Video Solution

233. Definite integration as the limit of a sum : 

lim n→ ∞
n !

nn

1
n = .........

A. e

B. 
1
e

C. 
π
4

D. 
4
π

Answer: B

[ ]

https://dl.doubtnut.com/l/_8Wg21CDRqmuL
https://dl.doubtnut.com/l/_16d895kD3ET5


Watch Video Solution

234. Definite integration as the limit of a sum : 

lim n→ ∞
1
n

2n

∑
r=n+1

log 1 +
r
n

= .............

A. log
27
4e

B. log
27

e2

C. log
4
e

D. None of these

Answer: A

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_16d895kD3ET5
https://dl.doubtnut.com/l/_16zpUYvZfAyZ


235. Definite integration as the limit of a sum : 

lim n→ ∞
1
n
+

n2

(n + 1)3
+

n2

(n + 2)3
+ ......... +

1
8n

= ....... .

A. 
3
8

B. 
1
8

C. 
1
3

D. 
8
3

Answer: A

Watch Video Solution

[ ]

236. Definite integration as the limit of a sum : 

lim n→ ∞ 1 +
1

n2
1 +

22

n2
1 +

32

n2
...... 1 +

n2

n2

1
n
= .......

A. 2e
π - 4
2

[( )( )( ) ( )]

https://dl.doubtnut.com/l/_8JS6jP6QcKwD
https://dl.doubtnut.com/l/_zxaCiydLHyML


B. e
π - 4
2

C. e
1

π - 4
2

D. 
1
2
e
π - 4
2

Answer: A

Watch Video Solution

237. Fundamental theorem of definite integral : 

If In = ∫
π
40 tanndx then lim n→ ∞n In + In+2 = .......

A. 1

B. 
1
2

C. ∞

D. 0

Answer: A

( )

https://dl.doubtnut.com/l/_zxaCiydLHyML
https://dl.doubtnut.com/l/_yPr9NRLtpRDN


Watch Video Solution

238. Fundamental theorem of definite integral : 

f(x) = ∫
x
2

dt

√1 + t4
 and g is a inverse function of f then g'(0) =………….

A. 1

B. 17

C. √17

D. None of these

Answer: C

Watch Video Solution

239. Fundamental theorem of definite integral : 

f(x) = ∫
x
1√2 - t2dt then real roots of the equation x2 - f′ (x) = 0 are ……….

https://dl.doubtnut.com/l/_yPr9NRLtpRDN
https://dl.doubtnut.com/l/_C2UoOcQb5soT
https://dl.doubtnut.com/l/_Yjfoz7AyM8Sc


A. ±1

B. ±
1

√3

C. ±
1
2

D. 0 and 1

Answer: A

Watch Video Solution

240. Fundamental theorem of definite integral : 

If ∫
1
sinxt

2f(t)dt = (1 - sinx) then f
1

√3
= ....... .

A. 
1
3

B. 
1

√3

C. 3

D. √3

( )

https://dl.doubtnut.com/l/_Yjfoz7AyM8Sc
https://dl.doubtnut.com/l/_5fciSCwqJdgS


Answer: C

Watch Video Solution

241. Fundamental theorem of definite integral : 

I = ∫
1
0
sinx

√x
dx and J = ∫

1
0
cosx

√x
dx then which of the following statement

is true ?

A. I >
2
3 and J > 2

B. I <
2
3 and J < 2

C. I <
2
3 and J > 2

D. I >
2
3 and J < 2

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_5fciSCwqJdgS
https://dl.doubtnut.com/l/_BjMg4a6QPufR


242. Fundamental theorem of definite integral : 

d
dx
(F(x)) =

esinx

x
, n > 0. If ∫

4
1
2esinx

2

x
dx = F(k) - F(1) then the possible

value of k is……..

A. 4

B. 8

C. 16

D. 32

Answer: C

Watch Video Solution

243. ∫
2
1logxdx = ..........

A. log
e
2

B. log
2
e

( )
( )

https://dl.doubtnut.com/l/_zpZBYWJk4Ks5
https://dl.doubtnut.com/l/_P8WijfTZdBWu


C. log
e2

4

D. loge
4
e

Answer: D

Watch Video Solution

( )
( )

244. Fundamental theorem of definite integral : 

If ∫
k
0

dx

1 + 4x2
=

π
8

 then k =……..

A. 
1
2

B. 
π
2

C. 1

D. π

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_P8WijfTZdBWu
https://dl.doubtnut.com/l/_y7GClOBdFVUm


245. ∫
5
3

t2

t2 - 4
dx = .............

A. 2 - log
14
15

B. 2 + log
15
7

C. 2 + log
14
15

D. 0

Answer: B

Watch Video Solution

( )
( )
( )

246. ∫
π
0e

xcos2xdx = .............

A. 
1
5

e
π
2 - 1

B. 
1
5 (e - 1)

( )

https://dl.doubtnut.com/l/_y7GClOBdFVUm
https://dl.doubtnut.com/l/_nbjkkdxCspp0
https://dl.doubtnut.com/l/_RVZmOwOJbJiU


C. 
1
5

eπ - 1

D. 
1
5

eπ - e

Answer: C

Watch Video Solution

( )
( )

247. Fundamental theorem of definite integral : 

∫
2
- 1√5x + 6dx = ....... .

A. 0

B. 
42
5

C. 
63
5

D. 
-3
5

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_RVZmOwOJbJiU
https://dl.doubtnut.com/l/_rths4eIWm9Co


248. Fundamental theorem of definite integral : 

∫
π
40
sin9x

cos11x
dx = ....... .

A. 
1
2

B. 
1
10

C. 
1
5

D. 
1
15

Answer: B

Watch Video Solution

249. Fundamental theorem of definite integral : 

∫
π
0 1 + 4sin2

x
2
- 4sin

x
2
dx = ......

A. 4√3 - 4

B. 4√3 - 4 -
π
3

√

https://dl.doubtnut.com/l/_tyZBxUp0rUjP
https://dl.doubtnut.com/l/_p5vglarqGADk


C. π - 4

D. 
2π
3

- 4 - 4√3

Answer: B

Watch Video Solution

250. Fundamental theorem of definite integral : 

∫
π
40 tan100xdx + ∫

π
40 tan102xdx = ....... .

A. 
1
102

B. 
1
100

C. 101

D. 
1
101

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_p5vglarqGADk
https://dl.doubtnut.com/l/_10be9pRz0tZU


251. Fundamental theorem of definite integral : 

∫
b
a
logx
x

dx = ...... (where a b ∈ R +  )

A. 
1
2
logab

B. log
b
a

C. 2log
b
a

D. 
1
2
log(ab)log

b
a

Answer: D

Watch Video Solution

( )
( )

( )

252. Fundamental theorem of definite integral : 

∫
π

20
cos2x

(sinx + cosx)2
dx = .......... .

A. 
π
2

https://dl.doubtnut.com/l/_10be9pRz0tZU
https://dl.doubtnut.com/l/_pad6wLgsgO75
https://dl.doubtnut.com/l/_F7nacyOMMGbr


B. 0

C. -
π
4

D. 
π
4

Answer: B

Watch Video Solution

253. ∫
5
0√25 - x2dx = .............

A. 
25π
4

B. 
π
4

C. 
25
4

D. 25π

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_F7nacyOMMGbr
https://dl.doubtnut.com/l/_yDdeo4pHcQiH


254. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
∞
1 ex+1 + e3 - x - 1dx = ............. .

A. 
π

4e2

B. 
π
4e

C. 
1

e2
π
2
- tan - 1

1
c

D. 
π

2e2

Answer: A

Watch Video Solution

( )

[ ( )]

255. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
∞
0 f x +

1
x

logx
x

dx = .......... .( )

https://dl.doubtnut.com/l/_yDdeo4pHcQiH
https://dl.doubtnut.com/l/_rVz0DNsrDPFq
https://dl.doubtnut.com/l/_WxDiRpk5dCeV


A. 0

B. 1

C. 
1
2

D. can not decide

Answer: A

Watch Video Solution

256. Evaluation of definite integrals by subsitiution and properties of

its : 

If anti derivative of f(x) =
sinx
x

 is F(x) then ∫
3
1
sin2x
x

dx = .........(x > 0)

A. F(6) - F(2)

B. 
1
2
(F(6) - F(2)]

C. 
1
2
(F(3) - F(1)]

D. 2(F(6) - F(2)]

https://dl.doubtnut.com/l/_WxDiRpk5dCeV
https://dl.doubtnut.com/l/_PAGoH3nBIxef


Answer: A

Watch Video Solution

257. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
2
0 x2 dx = .......  where [.] denotes maximum integer function.

A. √3 - √2

B. 5 - √3 - √2

C. √5 - √3

D. None of these

Answer: B

Watch Video Solution

[ ]

https://dl.doubtnut.com/l/_PAGoH3nBIxef
https://dl.doubtnut.com/l/_CL9FXFgEuDX7


258. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
1
- 1(x - [x])dx = ....... .  where [.] denotes maximum integer function.

A. 0

B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

259. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
2
0{x}dx = .......  where {x} denotes fractional part of x.

https://dl.doubtnut.com/l/_WKc9k6Ym9WlW
https://dl.doubtnut.com/l/_HAa8nMWBWWBY


A. 0

B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

260. ∫
π
0|cosx|dx = .......... .

A. 2

B. 1

C. 0

D. -1

Answer: A

https://dl.doubtnut.com/l/_HAa8nMWBWWBY
https://dl.doubtnut.com/l/_eu4CMGYa6IhF


Watch Video Solution

261. Evaluate the following integrals. 

∫
2
0 x2 + 2x - 3 dx

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

| |

262. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
3
- 2 1 - x

2 dx = .......... .| |

https://dl.doubtnut.com/l/_eu4CMGYa6IhF
https://dl.doubtnut.com/l/_CK19zULc9G17
https://dl.doubtnut.com/l/_OgUrzBUTxn7x


A. 
28
3

B. 
14
3

C. 
7
3

D. 
1
3

Answer: A

Watch Video Solution

263. Evaluation of definite integrals by subsitiution and properties of

its : 

If F(x) = f(x) + f
1
x

 then where f(x) = ∫
x
1
logt
1 + t

dt, F(e) = .......... .

A. 
1
2

B. 0

C. 1

D. 2

( )

https://dl.doubtnut.com/l/_OgUrzBUTxn7x
https://dl.doubtnut.com/l/_oWvMFZqmaAnP


Answer: A

Watch Video Solution

264. Evaluation of definite integrals by substitution and properties of

its : 

∫
π
-π
cos2x

1 + ax
dx = .......... (a > 0)

A. aπ

B. 
π
2

C. 
π
a

D. 2π

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_oWvMFZqmaAnP
https://dl.doubtnut.com/l/_bHnputXuSHuL


265. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
0
- 2 x3 + 3x2 + 3x + 3 + (x + 1)cos(x + 1) dx = ...............

A. -4

B. 0

C. 4

D. 6

Answer: C

Watch Video Solution

( )

266. Evaluation of definite integrals by subsitiution and properties of

its : 

f :R → R is a differentiable function. If f(1)=4 then 

lim x→1∫
f ( x )
4

2t
x - 1

dt = ............. .

https://dl.doubtnut.com/l/_rhTUItw0bXYi
https://dl.doubtnut.com/l/_CpWUSOt8pRBt


A. 8f'(1)

B. 4f'(1)

C. 2f'(1)

D. f'(1)

Answer: A

Watch Video Solution

267. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
1
0

et

t + 1
dt = a then ∫

b
b - 1

e - t

t - b - 1
dt = .......... .

A. ae -b

B. -ae -b

C. be -b

D. None of these

https://dl.doubtnut.com/l/_CpWUSOt8pRBt
https://dl.doubtnut.com/l/_kWcc4nOmK0jz


Answer: B

Watch Video Solution

268. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
1
- 1

dx

1 + ex 1 + x2
= .......... .

A. 
π
2

B. 
π
4

C. 
π
8

D. 
π
16

Answer: B

View Text Solution

( )( )

https://dl.doubtnut.com/l/_kWcc4nOmK0jz
https://dl.doubtnut.com/l/_k6ML3ghqCJqt


269. If I = ∫
dx

x + √x + √x + ......∞
= ......

Watch Video Solution

√

270. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
100π
0 √1 - cos2xdx = .......... .

A. 100√2

B. 200√2

C. 50√2

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_aCMNgtyTiJyI
https://dl.doubtnut.com/l/_9NdEW3Nj4TaF
https://dl.doubtnut.com/l/_ihX6fIulAEop


271. Evaluation of definite integrals by subsitiution and properties of

its : 

f :R → R is a differentiable function.f(2)=6, f′ (2) =
1
48

 then 

lim x→2∫
f ( x )
6

4t3

x - 2dt = ............. .

A. 18

B. 12

C. 36

D. 24

Answer: A

Watch Video Solution

272. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
4
- 4|x + 2|dx = .......

https://dl.doubtnut.com/l/_ihX6fIulAEop
https://dl.doubtnut.com/l/_ORY7SUITaOaw


A. 50

B. 24

C. 30

D. 20

Answer: A

Watch Video Solution

273. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
1
0

dx

√1 + x4
∈ [a, b] then [a,b] =……… where [a,b] is the smallest interval.

A. 
1

√2
, 1

B. [0,1]

C. 
1
2 , 2

[ ]

[ ]

https://dl.doubtnut.com/l/_ORY7SUITaOaw
https://dl.doubtnut.com/l/_64VDmKQF6H2g


D. 
3
4
, 1

Answer: A

Watch Video Solution

[ ]

274. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
π
2θ sin x -

π
4

dx = .........

A. 2 + √2

B. 2 - √2

C. -2 + √2

D. 0

Answer: B

Watch Video Solution

| ( ) |

https://dl.doubtnut.com/l/_64VDmKQF6H2g
https://dl.doubtnut.com/l/_NBAErsnKDO2m


275. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
π
20 |sinx - cosx|dx = .........

A. 0

B. 2√2 - 1

C. √2 - 1

D. 2 √2 + 1

Answer: B

Watch Video Solution

( )

276. Evaluation of definite integrals by substitution and properties of

its : 

If n is an integer ∫
π
0e

cos2xcos3(2n + 1)xdx = ............

https://dl.doubtnut.com/l/_NBAErsnKDO2m
https://dl.doubtnut.com/l/_1v64X7LOmaQM
https://dl.doubtnut.com/l/_9YTmHXDFGarK


A. 1

B. -1

C. 0

D. π

Answer: C

Watch Video Solution

277. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
π
20 (x - [sinx])dx = ..........

A. 
π2

8

B. 
π2

8
- 1

C. 
π2

8
- 2

D. None of these

https://dl.doubtnut.com/l/_9YTmHXDFGarK
https://dl.doubtnut.com/l/_fM41bobLY8Up


Answer: A

Watch Video Solution

278. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
a
-a

a - x
a + x

dx = kπ then k =……..

A. -a

B. -2a

C. 2a

D. a

Answer: D

Watch Video Solution

√

https://dl.doubtnut.com/l/_fM41bobLY8Up
https://dl.doubtnut.com/l/_nsKLvtV86Gui


279. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
5
1(|x - 3| + 1 - x ∣ )dx = ..........

A. 10

B. 
5
6

C. 21

D. 12

Answer: D

Watch Video Solution

280. If (n - m) is odd and |m| ≠ |n| then ∫
π
0cosmxsinnxdx = ..........

A. 
2n

n2 - m2

B. 0

https://dl.doubtnut.com/l/_aEO957CFrswh
https://dl.doubtnut.com/l/_CLoxjY1nc4To


C. 
2n

m2 - n2

D. 
2m

n2 - m2

Answer: A

Watch Video Solution

281. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
100π
0 √1 - cos2xdx = .......... .

A. 100√2

B. 200√2

C. 50√2

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_CLoxjY1nc4To
https://dl.doubtnut.com/l/_q7oZwomIbp5R


Watch Video Solution

282. Evaluation of definite integrals by subsitiution and properties of

its : 

If ∫
4
- 1f(x)dx = 4 and ∫

4
2(3 - f(x)dx = 7 then ∫

- 1
2 f(x)dx = .......

A. 2

B. -3

C. -5

D. 0

Answer: C

Watch Video Solution

283. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
2π
0 cos

99xdx = ............

https://dl.doubtnut.com/l/_q7oZwomIbp5R
https://dl.doubtnut.com/l/_9RZFmNe9MDSn
https://dl.doubtnut.com/l/_eQ7v5avORx8M


A. 1

B. -1

C. 99

D. 0

Answer: D

Watch Video Solution

284. Evaluation of definite integrals by subsitiution and properties of

its : 

If f(x) is an odd function then ∫
π
2

-
π

2

f(cosx)dx = .........

A. 0

B. ∫
π
20 f(cosx)dx

C. 2∫
π

20 f(sinx)dx

https://dl.doubtnut.com/l/_eQ7v5avORx8M
https://dl.doubtnut.com/l/_aGZzhR6R9Biv


D. ∫
π
0f(cosx)dx

Answer: C

Watch Video Solution

285. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
π
20

2sinx

2sinx + 2cosx
dx = .........

A. 
π
4

B. 
π
2

C. π

D. 2π

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_aGZzhR6R9Biv
https://dl.doubtnut.com/l/_NLiwgfLewbIa


286. Evaluation of definite integrals by subsitiution and properties of

its : 

If f(x) = f(2 - x) then ∫
1.5
0.5xf(x)dx = ....... .

A. ∫
1
0f(x)dx

B. ∫
1.5
0.5f(x)dx

C. 2∫
1.5
0.5f(x)dx

D. 0

Answer: B

Watch Video Solution

287. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
5
1[x - 3]dx = ......... where [.] is maximum integer function.

https://dl.doubtnut.com/l/_2UHx9w67jjBH
https://dl.doubtnut.com/l/_JIy4Mm5v8elo


A. 1

B. 2

C. 4

D. 8

Answer: B

Watch Video Solution

288. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
1
- 1log x +√x2 + 1 dx = .........

A. 0

B. log2

C. log
1
2

D. None of these

[ ]

https://dl.doubtnut.com/l/_JIy4Mm5v8elo
https://dl.doubtnut.com/l/_kc9CHGy5km1s


Answer: A

Watch Video Solution

289. Evaluation of definite integrals by subsitiution and properties of

its : 

If ∫
a
0f(2a - x)dx = μ and ∫

a
0f(x)dx = λ then ∫

2a
0 f(x)dx = ..........

A. 2λ + μ

B. λ + μ

C. μ - λ

D. λ - 2μ

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_kc9CHGy5km1s
https://dl.doubtnut.com/l/_sGxEMjcmcnCn


290. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
π
20
200sinx + 100cosx

sinx + cos
dx = ..........

A. 5π

B. 25π

C. 75π

D. 150π

Answer: C

Watch Video Solution

291. Evaluation of definite integrals by subsitiution and properties of

its : 

F(x) = ∫
x3

x2logt. dt(x > 0) then F'(x)= ………….

https://dl.doubtnut.com/l/_3hhq52mYyuvp
https://dl.doubtnut.com/l/_CoUyYhEPlbvB


A. 9x2 - 4x logx

B. 4x - 9x2 logx

C. 9x2 + 4x logx

D. None of these

Answer: A

Watch Video Solution

( )
( )
( )

292. Evaluation of definite integrals by subsitiution and properties of

its : 

For real function f, f( - x) = - f(x) and ∫
1
0f(x)dx = 5 then ∫

0
- 1f(t)dt = .......

A. 10

B. 5

C. 0

D. -5

https://dl.doubtnut.com/l/_CoUyYhEPlbvB
https://dl.doubtnut.com/l/_rml8jwFZKhV7


Answer: D

Watch Video Solution

293. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
1
0
d
dx

sin - 1
2x

1 + x2
dx = ..........

A. 0

B. π

C. 
π
2

D. 
π
4

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_rml8jwFZKhV7
https://dl.doubtnut.com/l/_x7F5HNKudTRR
https://dl.doubtnut.com/l/_nH8nQP5Mm2XJ


294. Evaluation of definite integrals by subsitiution and properties of

its : 

I1 = ∫
π -a
a xf(sinx)dx, I2 = ∫

π -a
a f(sinx)dx then I2 = ……. .

A. 
π
2
I1

B. πI1

C. 
2
π
I1

D. 2I1

Answer: C

Watch Video Solution

295. Evaluation of definite integrals by subsitiution and properties of

its : 

f :R → R is a differentiable function.f(2)=6, f′ (2) =
1
48

 then 

lim x→2∫
f ( x )
6

4t3

x - 2
dt = ............. .

https://dl.doubtnut.com/l/_nH8nQP5Mm2XJ
https://dl.doubtnut.com/l/_KwfK6E0LLpb3


A. 18

B. 12

C. 36

D. 24

Answer: A

Watch Video Solution

296. Evaluation of definite integrals by subsitiution and properties of

its : 

If f(y) = ey and g(y), y > 0 and F(t) = ∫
t
0f(t - y)g(y)dy then F(t)= ……..

A. 1 - e - t(1 + t)

B. et - (1 + t)

C. tet

D. te - t

https://dl.doubtnut.com/l/_KwfK6E0LLpb3
https://dl.doubtnut.com/l/_1m4T6LaTjyoq


Answer: B

Watch Video Solution

297. Evaluation of definite integrals by substitution and properties of

its : 

∫
π
-π
cos2x

1 + ax
dx = .......... (a > 0)

A. 2π

B. 
π
a

C. 
π
2

D. aπ

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_1m4T6LaTjyoq
https://dl.doubtnut.com/l/_lNULf707gcY1


298. Evaluation of definite integrals by subsitiution and properties of

its : 

g(x) = ∫
x
0f(t)dt where 

1
2
≤ f(t) ≤ 1, t ∈ [0, 1] and 0 ≤ f(t) ≤

1
2
, t ∈ (1, 2]

then ………..

A. -
3
2
≤ g(2) <

1
2

B. 0 ≤ g(2) < 2

C. 
3
2
< g(2) ≤

5
2

D. 2 < g(2) < 4

Answer: B

Watch Video Solution

299. Evaluation of definite integrals by subsitiution and properties of

its : 

https://dl.doubtnut.com/l/_Oxn3p8bbXmkZ
https://dl.doubtnut.com/l/_7769BMO2vI37


f(x) =

sinx + sin2x + sin3x sin2x sin3x
3 + 4sinx 3 4sinx
1 + sinx sinx 1

 then ∫
π
20 f(x)dx = ……….

A. 3

B. 
2
3

C. 
1
3

D. 0

Answer: C

Watch Video Solution

| |

300. Evaluation of definite integrals by subsitiution and properties of

its : 

f is a function such that f'(x)=f(x) and f(0)=1g(x) is a function such that

g(x) + f(x) = x2 then ∫
1
0f(x)g(x)dx = ………

A. 
1
4
(e - 7)

https://dl.doubtnut.com/l/_7769BMO2vI37
https://dl.doubtnut.com/l/_nAERdEBcU6Xl


B. 
1
4
(e - 2)

C. 
1
2
(e - 3)

D. None of these

Answer: D

Watch Video Solution

301. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
a
1[x]f′ (x)dx = ......... where a > 1 and [.] is a greatest integer function.

A. [a]f(a) - {f(1) + f(2) + ...... + f[a]}

B. [a]f([a]) - {f(1) + f(2) + ...... + f(a)}

C. af(|a|) - {f(1) + f(2) + ...... + f(a)}

D. af(a) - {f(1) + f(2) + ...... + f([a])}

https://dl.doubtnut.com/l/_nAERdEBcU6Xl
https://dl.doubtnut.com/l/_r2yUdWseLMEv


Answer: A

Watch Video Solution

302. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
π
-π
2x(1 + sinx)

1 + cos2x
dx = .........

A. 
π2

4

B. π2

C. 0

D. 
π
2

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_r2yUdWseLMEv
https://dl.doubtnut.com/l/_BIiYjWfE6Cek


303. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
e
1(1 + xlogx)

ex

x
dx = .......... .

A. 0

B. e

C. ee

D. e2

Answer: C

Watch Video Solution

304. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
1
0x(1 - x)

5dx = ..........

https://dl.doubtnut.com/l/_EEgGWZRNNq7R
https://dl.doubtnut.com/l/_Fdooqh25yAof


A. 
1
7

B. 
1
6

C. 
1
42

D. 
1
13

Answer: C

Watch Video Solution

305. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
π
20

tanx
1 + tanx

dx = .......... .

A. 
π
2

B. 
π
3

C. 
π
4

D. -π

https://dl.doubtnut.com/l/_Fdooqh25yAof
https://dl.doubtnut.com/l/_c4Om9LvPfKlR


Answer: C

Watch Video Solution

306. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
1
0

2x

5x2 + 1
dx = ..........

A. 
1
5 log6

B. 
1
3 log5

C. 
1
2 log6

D. 
1
5 log3

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_c4Om9LvPfKlR
https://dl.doubtnut.com/l/_csSOzXLWTnsp


307. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
π
0sin2x. cos

23xdx = ............

A. -1

B. 
1
2

C. -
1
2

D. 0

Answer: D

Watch Video Solution

308. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
3
0x√1 + xdx = ....... .

https://dl.doubtnut.com/l/_1dQSeTKF07KS
https://dl.doubtnut.com/l/_aPLxcg5N4mzA


A. 
112
5

B. 
106
5

C. 
116
15

D. 
15
116

Answer: C

Watch Video Solution

309. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
2
1e

-
1

x
dx

x2
= ............

A. 
1
e +

1

e2

B. 
1
e +

1

√e

C. 
1

√e
-
1
e

D. 
e + 1

√e

https://dl.doubtnut.com/l/_aPLxcg5N4mzA
https://dl.doubtnut.com/l/_eqUasOdyWQgm


Answer: C

Watch Video Solution

310. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
5
- 5 3x2 - x10sinx + x5√1 + x2 dx = .........

A. 486

B. 250

C. -100

D. 0

Answer: B

Watch Video Solution

[ ]

https://dl.doubtnut.com/l/_eqUasOdyWQgm
https://dl.doubtnut.com/l/_of0FBCj2MkVN


311. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
a+1
a |a - x|dx = .........(a ∈ N)

A. 
1
2

B. a

C. 0

D. 
1
3

Answer: A

Watch Video Solution

312. Evaluation of definite integrals by subsitiution and properties of

its : 

If In = ∫
π / 2
π / 4cot

nxdx,  then 100 I99 + I101 = .......( )

https://dl.doubtnut.com/l/_GprS6FRLUFwY
https://dl.doubtnut.com/l/_tjyOZxdQgg7s


A. 100

B. 0

C. 1

D. -1

Answer: C

Watch Video Solution

313. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
e
- elog

e5 - x5

e5 + x5
dx = .............

A. e

B. 5

C. 0

( )

https://dl.doubtnut.com/l/_tjyOZxdQgg7s
https://dl.doubtnut.com/l/_2PN7py0sKUcF


D. -e

Answer: C

Watch Video Solution

314. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
3π / 8
π / 8

1

1 + √tanx
dx = .........

A. 
π
4

B. 
π
8

C. 
π
2

D. 0

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_2PN7py0sKUcF
https://dl.doubtnut.com/l/_VMTSjlTXjTBD


315. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
4028
0

f(x)
f(x) + f(4028 - x)

dx = ............. .

A. 4028

B. 0

C. 2014

D. 8056

Answer: C

Watch Video Solution

316. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
9
4

dx

x - √x
= ..........

https://dl.doubtnut.com/l/_GFzX6vcdyqqh
https://dl.doubtnut.com/l/_tstfmNPjCLCG


A. log2

B. log4

C. log3

D. - log2

Answer: B

Watch Video Solution

317. Evaluation of definite integrals by subsitiution and properties of

its : 

If ∫
1

ex + 1
dx = px - qlog 1 + ex + C then p+q=………….

A. 0

B. 2

C. -2

D. 1

| |

https://dl.doubtnut.com/l/_tstfmNPjCLCG
https://dl.doubtnut.com/l/_0ijLTKoGJlNJ


Answer: B

Watch Video Solution

318. Evaluation of definite integrals by subsitiution and properties of

its : 

∫ex
3
.5x

2
. x[2log5 + 3x]dx = ................ + C

A. ex
3
.5x

2
. x

B. 
1
6
. ex

3
.5x

2

C. 
1
6
. ex

3
.5x

2
. x

D. ex
3
.5x

2

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_0ijLTKoGJlNJ
https://dl.doubtnut.com/l/_Pbps1K0WzCX1


319. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
dx

√2x - x2
= .......... + C

A. 2sin - 2(x - 1)

B. 
1
2sin

- 1(x - 1)

C. sin - 1(x - 1)

D. log (x - 1) +√2x - x2

Answer: C

Watch Video Solution

| |

320. ∫√
3

- 1

dx

1 + x2
= ….......

A. 
7π
12

B. 
π
6

https://dl.doubtnut.com/l/_D4tene64PbIG
https://dl.doubtnut.com/l/_nANvaMmFBA4V


C. 
π
12

D. 
5π
12

Answer: A

Watch Video Solution

321. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
π
0cos

3x. sin4xdx = ..........

A. -π

B. 0

C. π

D. 2π

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_nANvaMmFBA4V
https://dl.doubtnut.com/l/_MZdVfIa9xe7b


Watch Video Solution

322. Evaluation of definite integrals by subsitiution and properties of

its : 

∫
π
6

-
π

6

sin5xcos2xdx = .......... .

A. 
1

√2
- 1

B. 0

C. 
π
6

5
-

π
6

2

D. 
π
6

2
-

π
6

5

Answer: B

Watch Video Solution

( ) ( )
( ) ( )

323. Evaluation of definite integrals by subsitiution and properties of

its : 

https://dl.doubtnut.com/l/_MZdVfIa9xe7b
https://dl.doubtnut.com/l/_ISEZXuRdkMNI
https://dl.doubtnut.com/l/_n8xgRcZvL93V


∫
2
0f(x)dx = ......... where f(x) = max x, x2

A. 
8
3

B. 
13
6

C. 
17
6

D. 
19
6

Answer: A

Watch Video Solution

{ }

324. Evaluation of definite integrals by subsitiution and properties of

its : 

If f(a + b + 1 - x) = f(x)∀x where a and b are fixed positive real

numbers, then 
1

a + b ∫
b
ax(f(x) + f(x + 1)dx =  is equal to

A. ∫
b - 1
a - 1f(x)dx

B. ∫
b+1
a+1f(x + 1)dx

https://dl.doubtnut.com/l/_n8xgRcZvL93V
https://dl.doubtnut.com/l/_UyNgT7ym0dGa


C. ∫
b - 1
a - 1f(x + 1)dx

D. ∫
b+1
a+1f(x)dx

Answer: C

Watch Video Solution

325. Evaluation of definite integrals by subsitiution and properties of

its : 

The value of α for which 4α∫
2
- 1e

-α | x |dx = 5, is :

A. loge2

B. loge√2

C. loge
4
3

D. loge
3
2

Answer: A

( )
( )

https://dl.doubtnut.com/l/_UyNgT7ym0dGa
https://dl.doubtnut.com/l/_mCgsmyXNGejk


PRACTICE PAPER-7 (SECTION-A)

Watch Video Solution

326. Evaluation of definite integrals by subsitiution and properties of

its : 

If θ1 and θ2 be respectively the smallest and the largest values of θ in 

(0, 2π) - {π} which satisfy the equation, 2cot2θ -
5

sinθ
+ 4 = 0, then 

∫
θ2
θ1
cos23θdθ is equal to :

A. 
2π
3

B. 
π
3

C. 
π
3
+
1
6

D. 
π
9

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_mCgsmyXNGejk
https://dl.doubtnut.com/l/_akT7LWbWYVPa


1. ∫exloga ⋅ exdx = .... + c

A. 
(ae)x

1 + loga

B. 
a ⋅ ex

1 + loga

C. 
ax ⋅ e
1 + logx

D. 
(ax)x

1 + logx

Watch Video Solution

2. ∫ f(x)dx =
(logx)5

5
+ c then f(x) = ...

A. 
logx
x

B. 
(logx)4

x

C. 
(logx)4

4

https://dl.doubtnut.com/l/_J7CTz3rteYsA
https://dl.doubtnut.com/l/_MXblMwAtf7AD


D. 
logx

x4

Watch Video Solution

3. Answer the questions no. 

∫
2 - 3sinx

cos2x
dx = ... + c

A. 2tanx + 3secx

B. 2secx - 3tanx

C. 2secx + 3tanx

D. 2tanx - 3secx

Watch Video Solution

https://dl.doubtnut.com/l/_MXblMwAtf7AD
https://dl.doubtnut.com/l/_v4TJvmjNJ4QM


4. Evaluate the definite integral in exercise 

3

∫2
xdx

x2 + 1

A. 
1
2
log2

B. 2log
1
2

C. log2

D. 2log2

Watch Video Solution

5. Evaluate the definite integrals 

∫
π
0

sin2x
2

-
cos2x
2

dx

A. 0

B. 1

( )

https://dl.doubtnut.com/l/_RmxpIIOp0sJ0
https://dl.doubtnut.com/l/_O6DL4nlVo5YF


C. -1

D. Not obtain

Watch Video Solution

6. Integration of some particular functions : 

∫
x - 2

x2 - 4x + 3
dx = .... + c

A. log√x2 - 4x + 3

B. xlog(x - 3)log(x - 2)

C. log(x - 3)(x - 1)

D. log x2 + 4x + 3

Watch Video Solution

( )

https://dl.doubtnut.com/l/_O6DL4nlVo5YF
https://dl.doubtnut.com/l/_jSpZutyubPSw


PRACTICE PAPER-7 (SECTION-B)

1. Answer the following question as required. 

Find ∫
dx

3x2 + 13x - 10

Watch Video Solution

2. ∫
dx

√5x2 - 2x

Watch Video Solution

3. 
π

∫0
x

1 + sinx
dx

Watch Video Solution

4. ∫
1
0x(1 - x)

ndx

https://dl.doubtnut.com/l/_mzEjAMZcxddd
https://dl.doubtnut.com/l/_FLBnZH5gZQDZ
https://dl.doubtnut.com/l/_NJdVm5YNleZY
https://dl.doubtnut.com/l/_wVVcWy9fIkp9


PRACTICE PAPER-7 (SECTION-C)

Watch Video Solution

1. By using the properties of definite integrals evaluate the integrals in

exercise. 
π

4

∫0log(1 + tanx)dx

Watch Video Solution

2. Find ∫ √cotx + √tanx dx

Watch Video Solution

[ ]

3. Evaluate the following definite intergrals

2

∫ - 1 x3 - x dx| |

https://dl.doubtnut.com/l/_wVVcWy9fIkp9
https://dl.doubtnut.com/l/_vKTKLcsZ887e
https://dl.doubtnut.com/l/_tYlM92EHNZED
https://dl.doubtnut.com/l/_PtmGEkOYUOcB


PRACTICE PAPER-7 (SECTION-D)

Watch Video Solution

4. Answer the following questions as required. 

Find ∫ x2 + 1 logxdx

Watch Video Solution

( )

1. Answer the following questions. 

Find 
4

∫0 x + e2x dx as the limit of the sum.

Watch Video Solution

( )

2. Find ∫
x4dx

(x - 1) x2 + 1

W t h Vid S l ti

( )

https://dl.doubtnut.com/l/_PtmGEkOYUOcB
https://dl.doubtnut.com/l/_2h1oducCIj0W
https://dl.doubtnut.com/l/_kXiwxjK9eJto
https://dl.doubtnut.com/l/_Rl8bapd51TbZ


Watch Video Solution

https://dl.doubtnut.com/l/_Rl8bapd51TbZ

